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A. Theory appendix

A.1. A model with both close and distant observers

In this appendix, we describe the extended model with close and distant observers mentioned in
Section I of the main text, and derive the expressions that characterize GAO and 5; The proof of
Proposition 3 is provided in Online Appendix AS.

In this more general setup, we need to distinguish between the esteem obtained from close

observers and that from distant observers. As in the main model, esteem from close observers is
E(0 | 0,a) for all 0 € [0min, Omaz] and all a € {0, 1}.

However, esteem from distant observers is a more complex object and is given by

(a.1)

E@©|o0,1) if o > 0 and individual is convicted
E(6 | noconv) otherwise

where E(f | no conv), the expected type conditional on no conviction, is derived using Bayes’
rule by considering all the possible opportunities o that the individual may have been presented

with. Total expected esteem is therefore equal to'

S(o.1) E@|o,1)(1+p)+ (1 —p)E(@] noconv) ifo >0
0,1) =
E(#|o0,1)+ E(6 | noconv) otherwise

and
S(0,0) = E(# | 0,0) + E(f | noconv)

As in the main model, taking esteem as given, the net utility from seizing the opportunity is de-
creasing in . For each opportunity o, we can therefore identify the highest § who takes o. As

before, 0,, the highest 6 who seizes a legal opportunity o is defined by (3) in the main text
t—8,0—AB,) =0
while 50, the highest # who seizes an illegal opportunity o is now defined (when interior) by

t — 0,0 — A(0,) + pM~(0,) =V — K] = 0. (a.2)

IFor simplicity, we assume that people care equally about the esteem of close and distant observers, but our results
can be straightforwardly generalized to allow for different weights.



where ¥ = F(6 | no conv) is given by

Omax ~ ~ ~

U=y [ 2o+ [ L2[(1— F(0,)M*(0,,) + F(0,,) (1 — p) M~ (0,,)ldo;  (a.3)

Omax ~

=& —p [ EM (6,)F(8,,)g (0:) do, (a4)

where iy is the prior meanand © =1 — p OTXF (50) g (0;) do; is the ex-ante probability that an
individual has no criminal record.” Note that, so long as 50 is interior for a non-empty set of
opportunities o, ¥ > 1. Throughout the text, we will assume that this is the case. Given ¥ > py >
M~ (50), the expression in square brackets in (a.2) — which represents the total loss (material and
reputational) incurred if the individual is caught breaking the law — is strictly negative even when
K = 0. The difference in total expected esteem from seizing a marginally legal vs a marginally

illegal opportunity is equal to

Hm[S(0—¢,1) — S@ +¢,1)] = M~ (65) — M~ (65) + p[¥ — M~ (65)]. (a.5)

e—0

The first part of (a.5), namely
M (Bs) — M (6) (a.6)
represents the difference in the esteem obtained from close observers, while the second part
pLY — M (05) (a7)

represents the difference in the espected esteem obtained from distant observers. There are two
effects at work here. First, since ¥ > ./\/l_(go), seizing the illegal opportunity generates a loss
in expected esteem from distant observers. Second, close observers take this into account when
forming beliefs about the agent’s type, and therefore update their beliefs less favorably when the
agent seizes the illegal opportunity. In the proof of proposition 3, we show that, as a result, 50 >
50 for all o, even when K = 0. In turn, this ensures that (a.6) is strictly positive. In words,
both the esteem from close observers and the expected esteem from distant observers experience a

downward discontiuity at o.

A.2. A Spence-like model

Suppose that, rather than seizing or leaving an opportunity that they are (exogenously) presented
with, agents can choose the level of negative externality they impose on others, which may better

capture some of the vignettes used in the experiments (e.g., speeding). Let o > 0 indicate the legal

2The updating problem faced by distant observers when the individual has no criminal conviction shares similarities
with the case — analysed in Bénabou and Tirole (2006) — where prosocial contributions can be forced.



threshold. We consider a setup with both close and distant observers. An individual who selects
action o > 0 obtains utility

to — 9% + (o) + ¥ if o <0 (within the law)
to—0% +7(0) +p(7(0) — K)+ (1 —p) ¥ ifo > o (outside of law)

where t is the marginal (material) return from o, «9% reflects the psychological cost for an indi-
vidual of type 6 from imposing a negative externality o on others, y(0) = E(f | o) and ¥ =

E (6 | no conv).® We restrict attention to
emax —-K-¥ <0 (38)

which ensures that, conditional on breaking the law, an individual’s expected payoft is decreasing
in p, the probability of detection. As we show in Online Appendix A5, in equilibrium o is chosen
by at most one type. For brevity of exposition, we assume that o is selected in equilibrium.*
Proposition Al: Denote as 0,5 the type who selects o in equilibrium. In any DI-refined equilib-
rium, the difference in total expected social esteem from choosing © — ¢ and 0+ ¢ where e — 0 is
given by,

lim[S(06—¢)—S@+¢)] =p (¥ — Onpres) (a.9)

e—0

Proof: See Online Appendix AS.

Thus, a discontinuity in the total social esteem function emerges even in a model where individuals
directly choose the level of the negative externality they impose on others. Here the effect is totally
driven by esteem from distant observers. Note that a sufficient condition for (a.9) to be positive
is that p is sufficiently high.” Finally, clearly enough, the case where the law is absent is here
isomorphic to a situation where p — 0. In that case, Proposition A1 shows that the social esteem

function exhibits no discontinuity.

A.3. Allowing ¢, K, p and the size of the audience to depend on o

More generally, in our main model of Section I we could allow ¢ to change continuously in o, and
p and K to depend continuously on the severity of the infraction, so that u,—; (0;6) = t(0) —
Go — p(0)K(0)l,55 + S(o,1), where (o) > 0 for all o and p(0o)K (o) > 0 for all o > 6. For
concreteness, consider the setup where all observers are close observers.® The threshold type 50

3In equilibrium, ¥ = w(Onres )M (Onres) + (1 — w(Othres)) M ™ (Oinres )] Where y.c is the type who selects

a = 1_F(9thres)
0 and w(0ihres) = T=F@ )+ (1 —p) F@mras)

4If this is not the case, Proposition Al extends straightforwardly. It is easy to show that, in the D1-refined equi-
librium, lime_o [S (0 —€) — S (0 +¢€)] = p (¥ — Opin)-

SThis follows since, when p = 1, ¥ = M¥ (0y3c5) > Oinres.

%The argument extends straightforwardly to the case of both close and distant observers.




would now satisfy ¢(o) —goo—A(go) = 0, while 8, would satisfy ¢(0) —6,0— A(6,) —p(0) K (0) = 0.
The discontinuity result relies on proving that, fixing o, we have é\o > 50. In turn, this ensures that
lim._o[S(@ —e,1) — S(@+¢,1)] = M~ (65) — M~(05) > 0. Since the comparison between 6,
and 50 is made keeping o fixed, allowing ¢, p and K to change continuously in o would be entirely
irrelevant for our argument. For this reason, in the model of the main text we adopted the simplest
approach and considered the case where ¢, p and K are positive constants. A similar observation
applies to letting the visibility of a given behavior (or the size of the audience) change continuously

in the size of the negative externality generated.

A.4. Comparative Statics

We now explore how the size of the discontinuity in social esteem varies with various characteris-
tics of law enforcement and the context. We start by looking at police tolerance and explore how
the probability of enforcing a law and the size of the penalty associated with it affect the magnitude
of the discontinuity in social esteem. We then turn to two characteristics of the context in which
opportunities arise. First, we investigate the effects of the material return from taking an oppor-
tunity. We then ask whether behaviors that are less likely to be measured accurately and/or taken

intentionally are subject to larger or smaller discontinuities in social esteem.

Strength of sanctions

The discontinuity in social esteem at the legal limit is increasing in the strength of sanctions. Recall
from the results in our main body that (/9\5 is the highest type seizing o while 55 is the highest type
seizing 0+ ¢ fore — 0. From (a.2), for any o, a higher K decreases 50 whilst leaving 50 unchanged.
Since M~ (.) is an increasing function, this implies that M~ (65) — M~ (65), the downward dis-

continuity in the social esteem function S(o, 1) at 6, is now more pronounced.

Enforcement probability

The discontinuity in social esteem at the legal limit is increasing in the probability of sanctions
against law-breaking being enforced. If p = 0 then, for any o, 50 and 50 coincide and hence the
discontinuity in esteem at the legal limit disappears. As p increases, for any o, 50 decreases while
é\o remains the same. As a result, the downward discontinuity in S(o, 1) at the legal limit becomes
more pronounced when p is larger.

Proposition A2 lim._,, [S(0 — ¢,1) — S(0 + ¢, 1)] is strictly increasing in p.

Proof: See Online Appendix AS.



Material returns from the opportunity

The effect of a higher ¢ for the discontinuity in S(o, 1) is ambiguous. Intuitively, higher ¢ makes
seizing any given externality-generating opportunity more attractive. As a result, both 0 and 0,
increase, exerting countervailing forces on the size of the discontinuity. This implies that our theory
does not deliver unambiguous predictions about the effect of a change in ¢ for the downward esteem

discontinuity.

Intentionality/measurability of behavior

Sometimes individuals may cause a negative externality unintentionally. To capture the key effects
introduced by this possibility, suppose that, whenever an individual takes an illegal opportunity
o, there is a probability that this might have happened inadvertently. Set p = 1 for simplicity.
Suppose that close observers are able to observe intentionality, and therefore assign esteem 4 if an
individual seizes o unintentionally and esteem S(o, 1) if the action is intentional. Distant observers,
on the other hand, are not able to distinguish intentionality. When an individual is caught breaking
the law, distant observers cannot establish whether this happened intentionally or inadvertently.’

This implies that the esteem this individual obtains from distant observers is now given by

(1= q) F(6)M™(0,) + que) Z (a.10)

.t
(1=q)F(6o)+q
Consider then the decision of an individual to intentionally seize o. The case analyzed in the main

where ¢ is the probability that the opportunity was taken unintentionally and 7 =

text is a special case of this more general framework, in which ¢ = 0. In this more general setup,

0, is defined by

t —1(6,) — 6,0 — A(6,) = 0. (a.11)

where 1(0,) = K + U — [(1 — ¢) F(6,)M~(6,) — que]Z > 0. It is easy to show that, under mild

assumptions, 6, is increasing in ¢, while @\o is given, as before, by (3) in the main text
t—6,0—A®l,) =0

and is thus independent of ¢q. Allowing for ¢ > 0 affects social esteem in two ways. First, be-
havior is now less informative about an individual’s underlying type and, as a result, esteem from
distant observers depends less strongly on behavior, as highlighted by (a.10). Second, since esteem
depends less strongly on behavior, people are now willing to (intentionally) take opportunities char-
acterized by a higher o, which they would have left if ¢ = 0. In other words, equilibrium behavior

changes, which further affects the esteem consequences from seizing a given opportunity.

7Our result continues to apply if we assume that close observers can also not observe intentionality.



Proposition A3 lim._,, [S(0 —¢,1) — S(0+ ¢, 1)] is strictly decreasing in q.
Proof: See Online Appendix AS.

Because ¢ changes 8,, it also affects M~ ( »), the esteem from close observers, who, differently
from distant observers, are perfectly aware that the subject seizing the illegal opportunity is doing
so in a fully intentional manner. Intuitively, although close observers forming beliefs about an indi-
vidual’s prosociality parameter know that the individual is seizing the opportunity intentionally, the
fact that distant observers are unable to discern the individual’s intentions changes the individual’s
behavior. This is reflected in threshold values depending on ¢, as described in (a.11).

The setup we have sketched here can also be used to describe an environment where illegal be-
havior can only be measured with a margin of error, implying that, when an individual is convicted
for breaking the law, distant observers know that, with some probability ¢, this may be the result

of a measurement error.

A.S. Proofs
Proof of Proposition 1 Define
Ab,) =t —0,0— A(6,).

The threshold type 6, satisfies A(@) = 0. To ensure an interior solution, we require A(6y;,) >
0 > A(Omax) for all 0. Note that limg, g, A(6,)=x

min

po—0mn While limg o A (g.)= Omax — p10." Hence,
A(Omin) > t — OminOmax — 146 + Omin and A(Onax) < t — OmaxOmin + o — Omax- We conclude that
t — OminOmax — Mo + Omin > 0 > t — OrnaxOmin + o — Omax 18 sufficient to guarantee interior solutions.

Consider now monotonicity. Total differentiation delivers

-~

b, 9,
do  A(0,)

Monotonicity requires 8, to be decreasing in o and, hence, that A’ (0,) < 0 for all #, and o. Since
N(0,) = —o—A’(0,), the requirement that o+ A’(6,) > 0 for all §, and o is sufficient to guarantee
monotonicity. Note that, since f(#) is continuous with full support, A(.) is a continuous function

and, hence, 6, is continuous in o.

Consider now S(o, 1). Since o is a continuous variable, ds(o Y is well defined and given by
dS(o, 1 ~ 0,
4501 _ @) <0
do A/(@ )

where the inequality follows because M~ (.) is an increasing function and A’(.) < 0 by monotonic-

8We consider limits since, strictly speaking, if 50 = Omax then E (0 | 0,0) is not well defined, and similarly for
E0]o0,1)if0, = Oin.



ity. Continuity of S(o, 1) then follows from the continuity of M ~(.) (which is guaranteed since

since f(0) is continuous with full support) and the continuity of 0,in0’ M
Proof of Proposition 2 We first prove that, under monotonicity, S(o, 1) experiences a downward
discontinuity at 0. We then derive sufficient conditions for monotonicity to hold. Define

=(0,) =t —0,0— A0, — pK. (a.12)
The threshold type 6, (when interior) satisfies E(go) = 0, so that
b, 0,
do — =/(6,)

(a.13)

Monotonicity requires any interior 6, to be decreasing in o and, hence, that ='(6,) < 0 for all 6,
and o. Henceforth, suppose that this is the case. Evaluated at 6, = 50, E(go) = —pK < 0 as long
as K > 0. Given Z'(.) < 0, and since 6, solves Z(6,) = 0, E(@o) < 0 implies that 8, > 6, for all

0. As aresult,

lim[S(@—e,1) — S(@+¢,1)] = M= (05) — M~ (65) >0 (a.14)
E—
since M~ (.) is an increasing function.'” Note that, since =Z'(6,) = —o — A’(6,), the requirement

that o + A’(6,) > 0 for all # and o is sufficient to guarantee monotonicity. ll

Proof of Proposition 3 We first prove that, under monotonicity, S(o, 1) experiences a downward
discontinuity at o, which does not rely on K > 0. We then derive sufficient conditions for mono-

tonicity to hold. Define

F(0,) =t—0,0—A(0,) —p(K— M (0, + V) (a.15)

where U = &2 —p [ é/\/l_(goi)F(goi)g (0;)dojand® =1—p [ F(8,,)g (0;) do;. The threshold

type 0, (when interior) satisfies f (50) = 0, so that

a9, 0,
do  fr(6,)

(a.16)

Monotonicity requires any interior 50 to be decreasing in o and, hence, that £/ (6,) < 0 for all §, and
o. Henceforth, suppose that this is the case. Evaluated at,, = @\O, F (50) = —p(K —M‘(@\OH—\D) <
0since U > 119 > M~(.). Given F'(.) < 0, and since 6, solves f (6,) = 0, F (8,) < 0 implies that

é\o > 50 for all 0. Importantly, this also applies when K = (. Consider now the esteem function

?Continuity of S(0,0) is established analogously.
0Similarly, lim._,o[S(0 —¢,0) — S(0+¢,0)] = M*(65) — M™*(65) > 0since MT(.) is an increasing function.



S(o0,1). In equilibrium, this is

s =1 M (0,) + ifo<5
7T Mo (9)(1—1—]))—1—\1/(1— p) ifo>a.

Since 0 > 6 (as proved above) and ¥ > M~ (6;), we have

(0
m[S(@ —e,1) — S@+¢e,1)] = M~ (65) — M~ (65) + p[¥ — M~ (65)] > 0. (a.17)

e—0
This proves that, under monotonicity, S (o, 1) experiences a downward discontinuity at0.!" We now
show that the following conditions are sufficient for monotonicity: (i) o + A’(8) — M~'(6,) > 0
for all @ and o, and (ii) g(o) is sufficiently small for all o. Straightforward computations deliver

F'(0,) = —[o+ A'(6,) — pMT'(0,) + p¥'(6,)]. (a.18)

Under conditions (i) and (ii), F'(6,) < 0. Condition (ii) ensures that the absolute value of ¥’(6,)
is sufficiently small so that, even if it were negative, o + A'(6,) — pM~'(0,) > —p¥’(6,) would
still be satisfied. This is because ¥'(6,) is equal to

Omax

9(0) 55 1o (62) = M/ (B)F(0) + M (6)F6))0 — £8.)p [ M (B.)F(@,)g (o)) doy).

(a.19)

Ql

Proof of Proposition A1 The proof is adapted from Birke (2020) and is divided in steps.

Step 1 Incentive Compatibility requires that, in equilibrium, o () is non-increasing: for any #; and
0y that satisfy 6; > 6y, we have sup o (6;) < info (). As a result, y (o) is also non-increasing.
Proof of step 1: let #; > 6y, and consider 0; and oy that satisfy o1 € 0(6;) and 0y € 0 (). For
i€ {0,1},letr; =0ifo; <oandr; = pifo; > 0. IC requires

Uu (01, 1, 90)

U (00, To; 91)

U (007 To; 90)

>
u (01,7’1;61> Z

where u (0,7;6) = to— 902—2 +7(0)+7 (v (o) — K)+ (1 —r)V. Rearranging, this can be rewritten

as

1 1
591(03 —0}) >G> 590(03 —0}) (a.20)

where G =t (09 —01) + (1 +170) 7 (00) — (L +171) v (01) + (¥ + K) (r1 — 7). Condition (a.20)

"'The same holds for S(o,0), since lim._,[S(G — ¢,0) — S(0 + ¢,0)] = M*H(B5) + U — M+ () — U =
Mt ( 5) — M'*'( 5) > 0.



implies (6; — 6y) (03 — 02) > 0 and, hence, 0y > o;.

Step 2 0, > 0, has a lower incentive than 6, to deviate to o’ > 0y, and a larger incentive than 6, to
deviate to 0" < o;.
Proof of step 2: Consider first a deviation to o’ > 0y. The net gain obtained by 6, from the deviation

1s

u (o', 1";60p) — u (00,705 0p) (a.21)

The net gain obtained by 6, from the deviation is

u (o', r';601) —u(og,r0;01) + u (00, 70;01) — u(01,71; 61) (a.22)
< w (0,75 01) —u (09,705 01) (a.23)

where the inequality follows since, by incentive compatibility, u (0o, 7; 61) — u (01, 71;601) < 0. To

prove the result it remains to show that

w (0,15 00) —u(og,10;60) > w(d,r';01) —u(og,ro;61) (a.24)

e u(o,r;0p) —u(d,r;01) > wu(og,70;00) — u(0g,70;61) (a.25)

Substituting, this requires

(0)* (61 — 6) = ~0f (61 — bp)

DN | —
N | —

which always holds since #; — 6y > 0 and o’ > 0. This proves that §; has a lower incentive than 6,
to deviate to o’ > 0g. The proofto show that §; has a higher incentive than 6, to deviate to 0" < o;

is analogous and is therefore omitted.

Step 3 In equilibrium, there cannot be pooling at any o > 0.

Proof of step 3: Suppose that there is 0 > 0 at which types [fg, 1] pool. Consider o — &, where
¢ is arbitrarily small. If this action is taken in equilibrium, then v (0 — &) > 6; > 7(0). If this
action is not taken in equilibrium, then by the argument in step 2, the D1-refined belief following a
deviation to o — ¢ is that § > 6. In both cases, types in [¢, 61] would have an incentive to deviate

to o — e. This proves that any o > 0 is selected by at most one type in equilibrium.

Step 4 There exists £y > 0 such that, in equilibrium, nobody selects 0 + ¢ for all € < &.
Proof of step 4: Suppose that this is not the case. For any type 6, the net gain from selecting o

instead of 0 + ¢ is

10



[t5—952—2+7(6)+\11] — [t(6+6)—9(5+€)2

+v@+e)+p(y(@+e) = K)+ (1 —p)V]

When ¢ — 0 this becomes

v(@©)—vO+e)+p¥+K—~(@+¢)] >0 (a.26)

where the inequality follows from (a.8) and the fact that, by step 1 and step 3, v (o) > v (0 + ¢).
This proves that, for ¢ sufficiently small, any type 6 who selects 0 + ¢ would have an incentive to

deviate to o.

Denote as 6. the type who selects o0 in equilibrium. If 6;,c5 > 6,4, then there must be a
Othres > 0 such that 0y, is indifferent between 0 and oy,..s, and randomizes between the two in
equilibrium. In this case the out-of-equilibrium belief upon observing 0 + & < 0ypes 1S not covered
by step 2 since 0 + ¢ is both higher than o and lower than 0,,..;. Conditional on 6 > 6,,,..,, the net

gain from deviating to 0 + ¢ is

—2
t5—9%+’y(5+8)+p(’y(5+6)—K)—i—(l—p)\ll (a.27)

—[to (0) —9%9)2 40+

where o (0) < 0 is 0’s equilibrium action and 7 (0) = 6. The derivative of (a.27) with respect to ¢

1S

0(0° @ ,
5 T 1+ (fo(6) —1t)o (6) (a.28)
By optimality, o (0) satisfies ¢ — 6o + 7' (0) = 0, implying that § = H”—O/(O) and, hence, (since
7 (0) = 0)
do 1
0o =1t+ — sothato' (f) = ———— < 0.
0 +d€s0 at o’ (6) Go(0) 1

o(6)*
o
from deviating to 0 + ¢ than any other 6 > 6;,..;. Consider now 6 < 6;p,.... The net gain from

Substituting in (a.28) we obtain %2 < 0, implying that 6,,,..; experiences a greater net gain

deviating to 0 + ¢ is

t5—0%2+7(5+5)(1+p)—[to(Q)—é’@—l—@(l—i—p)] (a.29)

11



where 0 () > 0ypyes is 0°s equilibrium action and 7y (0) = 6. The derivative of (a.29) with respect

to 6 gives

S

O W)+ o) -0 6) (a:30)

t+'(0)(1+p
o

By optimality, o (6) satisfies t — 6o +~' (0) (1 + p) = 0, implying that § = ) and, hence,

1+p

"0 G

< 0.

2 —
O(g) — % > 0, implying that 6,,..; has a greater net gain from

deviating to 0 + ¢ than any other 6 < 6;,..;. This proves that the D1-refined belief upon observing

Substituting in (a.30) delivers

0 + ¢ is that 0 = 0yy,,..s. We now prove that the D1-refined belief upon observing 0 — ¢ tends to
Oihres as € — 0. If 0 — ¢ is played in equilibrium this is straightforward and follows from full
separation and monotonicity of o(6). If 6 — ¢ is not played in equilibrium, then the result is derived

by applying Step 2 above. Overall, this implies that

111%[5(5_5) —S(5+8)] = \Il_pethres_ (1 _p)\IJ
= D (\Ij - ethres)

as described in the proposition. ll

Proof of Proposition A2. Consider first the case where all observers are close. We have
b, K
dp  =/(6,)

where =(.) is defined in (a.12) and, as shown in the proof of Proposition 2.2, ='(.) < 0 under

(a.31)

monotonicity. Hence, dé, /dp < 0. Since 0, is independent of p, this means that
lim[S(—e,1) — S(@+¢,1)] = M~ (0;) — M~ (65)
e—
is increasing in p.
Consider now the case of both close and distant observers. We have
do, K—M‘(50)+\If+p%—‘£ (@32)
= - a.
dp F'(6,)

where f (.) is defined in (a.15) and, as shown in the proof of Proposition 2.3, F’(.) < 0 under

Omax

monotonicity. Since K — M~ (6,) + ¥ > 0 and %—‘;’ = a7 [ F(8,)[1tg — M~ (8,)]g (0;) do; > 0,

12



d@No /dp < 0. Since GAO is unaffected by p, this means that
lim[S(©—¢,1) = S@+,1)] = M (65) =M (05) +p[¥ — M (6)]

is increasing in p. A

Proof of Proposition A3. We prove that, under monotonicity, 50 is increasing in ¢q. Define
YTO,)=t—0,0—K—V+[(1—q)F(0,) M (0,) + que|Z — A(6,) (a.33)

where, since p = 1,

Omax

U= % - / éM_(§OZ)F(§oL)g (Oz) doi (3_34)

and©® =1— Tx g (0;) F(8,,)do;. The threshold type §, (when interior) satisfies Y(6,) = 0, so that
a9, 6,
do  1/(8,)

(a.35)

Monotonicity requires any interior 50 to be decreasing in o and, hence, that Y'(6,) < 0 for all 6,

and o. Henceforth, suppose that this is the case. Straightforward computations deliver

d_ao M — M-(@O)

= " p6,)2% > 0 2.36)
m ) (6s) (
given T'(.) < 0 and yg — M~(6,) > 0. Consider now
lim(S(@ —£,1) - S@+=,1)] = M~ (65) + T — 2M(65) > 0. (2.37)
E—
Since 50 is unaffected by ¢, and since M~ () is an increasing function,i% > 0 implies that

lim.0[S(©0 — ¢,1) — S(0 + ¢, 1)] is decreasing in ¢. Finally, it is easy to verify that Y'(6,) is
strictly smaller than —o — A’ (6,,) — ¥’ (0,) + M~'(6,). Hence, the following conditions are suf-
ficient for Y'(.) < 0: (i) o+ A’(6) — M~'(0) > 0 for all # and o and (ii) g(o) is sufficiently small
for all 0.l
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B. Vignettes used in the experiments

The five vignettes we chose to investigate in all except for the Bad law experiment describe dif-
ferent types of behavior, all of which are illegal only if particular thresholds are crossed. The five
behaviors to be evaluated were: 1) an older adult having sex with a person just below or above the
legal age of consent; 2) selling alcohol to a youth who is known to be a vandal who is just below
or above the age at which a person can legally be sold alcohol; 3) entering one’s country with an
amount of cash just below or above the threshold at which it must legally be declared to customs,
and not declaring it; 4) driving with a blood-alcohol level just below or above the legal limit; 5)
driving at a speed just below or above the legal speed limit.

These behaviors were chosen because each is subject to a legal threshold in both the UK and
China (although for some of them the threshold is set at different levels in each country). Moreover,
we wanted to select behaviors which, in their legal version, would cover a range of positions across
the social appropriateness scale. For instance, while it may be viewed as morally dubious — even
when such behavior is legal — for an older adult to have sex with a younger person, or for someone
to sell alcohol to a youth (especially if they are a known local vandal), it is unlikely that anyone
would consider it inappropriate to drive just below the legal speed limit, or carry a large but legal
amount of cash undeclared through customs.

All five of the vignettes are constructed such that subjects are made aware of the legal threshold,
and in all cases the characters whose behavior they are evaluating also know whether their behavior

is legal or illegal.

B.1. Main experiment, Prosocial traits experiment and Rule of law experi-

ment

Below, we present the vignettes from the main experiment (Section II of the main paper), prosocial
traits experiment (Section IV.B) and rule of law experiment (Section IV.D). We present first the
wordings of the vignettes, which were consistent across these experiments apart from the minor
changes indicated and the fact that in second-order beliefs versions of experiments the vignettes
were preceded by a statement informing subjects that this text had previously been shown to another
set of participants. We then display the questions which were posed to subjects underneath the
vignettes, which differed across the experiments.

Where two wordings appear in parentheses, the wording on the left applies to the UK experi-

ments and the wording to the right to the China (rule of law) experiment.

AGE OF CONSENT VIGNETTE
Wording: A (20/18) year old man meets a girl at a party. The man invites the girl to come to his
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home, and she agrees. At his home, the man tells the girl he wants to have sex with her, but that
she looks young, and asks whether she is above the legal age of consent of (16/14) years. The girl
tells the man that she is aged (Age)*, and shows him an ID card which confirms this. She tells the
man that she wants to have sex with him. The man then has sex with the girl.

* The possible value of (Age) were: 16 years and 3 months, 16 years and 1 month, 15 years
and 11 months or 15 years and 9 months for the UK student sample; 16 years and 4 months, 16
years and 3 months, 16 years and 2 months, 16 years and 1 month, 15 years and 11 months, 15
years and 10 months, 15 years and 9 months or 15 years and 8§ months for the other UK samples;
14 years and 3 months, 14 years and 1 month, 13 years and 11 months or 13 years and 9 months
for the China sample.

Questions

Main experiment, Krupka-Weber method / Rule of Law experiment. How socially appropriate
would most people think it is for the man to have sex with the girl? (Possible answers: Very so-
cially appropriate; Somewhat socially appropriate; Somewhat socially inappropriate; Very socially
inappropriate)

Main experiment, Opinion matching method, first-order beliefs: How appropriate do you think
it is for the man to have sex with the girl? (Possible answers: Very appropriate; Somewhat appro-
priate; Somewhat inappropriate; Very inappropriate)

Main experiment, Opinion matching method, second-order beliefs: Participants were asked:
”How appropriate do you think it is for the man to have sex with the girl?”

What do you predict was the most common answer to that question? (Possible answers: Very
appropriate; Somewhat appropriate; Somewhat inappropriate; Very inappropriate)
Prosocial traits experiment, first-order beliefs: Please answer the following questions.

1) How likely is this man to keep a promise made to a friend? (Possible answers: Very likely;
Somewhat likely; Somewhat unlikely; Very unlikely)

2) How likely is it that this man reads at least two books per month? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) How likely is it that this man keeps a healthy diet, avoiding fatty foods and refined sugar?
(Possible answers: Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) If a cashier accidentally gave this man more change than he was due, how likely would the
man be to return the extra change? (Possible answers: Very likely; Somewhat likely; Somewhat
unlikely; Very unlikely)

5) How likely is it that this man keeps fit by regularly going to the gym? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

6) How likely is it that this man volunteers for a charitable organisation? (Possible answers:

Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

15



Prosocial traits experiment, second-order beliefs: Please answer the following questions.

1) Participants were asked: ”How likely is this man to keep a promise made to a friend?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

2) Participants were asked: "How likely is it that this man reads at least two books per month?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) Participants were asked: ”How likely is it that this man keeps a healthy diet, avoiding fatty
foods and refined sugar?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) Participants were asked: “If a cashier accidentally gave this man more change than he was
due, how likely would the man be to return the extra change?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

5) Participants were asked: “How likely is it that this man keeps fit by regularly going to the
gym?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

6) Participants were asked: “How likely is it that this man volunteers for a charitable organisa-
tion?”

What do you predict was the most common answer to that question? (Possible answers: Very

likely; Somewhat likely; Somewhat unlikely; Very unlikely)

ALCOHOL TO YOUTH VIGNETTE
Wording: A youth enters a local shop with the intention of buying some beer. He sees a sign in
the shop reminding customers that in (Britain/China) it is illegal for shopkeepers to sell alcohol to
people younger than 18 years. The shopkeeper knows the youth personally, and knows that he is
aged (Age)*. The shopkeeper knows that the youth often gets drunk and vandalises property in his
neighbourhood. The youth, who appears sober, asks to buy a box containing 20 alcoholic beers,
and the shopkeeper sells it to him.

*The possible value of (Age) were: 18 years and 3 months, 18 years and I month, 17 years and
11 months or 17 years and 9 months for the UK student and China samples, 18 years and 4 months,
18 years and 3 months, 18 years and 2 months, 18 years and 1 month, 17 years and 11 months, 17
years and 10 months, 17 years and 9 months or 17 years and 8 months for the other UK samples.

Questions
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Main experiment, Krupka-Weber method / Rule of Law experiment. How socially appropriate
would most people think it is for the shopkeeper to sell the beers to the youth? (Possible answers:
Very socially appropriate; Somewhat socially appropriate; Somewhat socially inappropriate; Very
socially inappropriate)

Main experiment, Opinion matching method, first-order beliefs: How appropriate do you think it
is for the shopkeeper to sell the beers to the youth? (Possible answers: Very appropriate; Somewhat
appropriate; Somewhat inappropriate; Very inappropriate)

Main experiment, Opinion matching method, second-order beliefs: Participants were asked:
”How appropriate do you think it is for the shopkeeper to sell the beers to the youth?”

What do you predict was the most common answer to that question? (Possible answers: Very
appropriate; Somewhat appropriate; Somewhat inappropriate; Very inappropriate)
Prosocial traits experiment, first-order beliefs: Please answer the following questions.

1) How likely is this shopkeeper to keep a promise made to a friend? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

2) How likely is it that this shopkeeper reads at least two books per month? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) How likely is it that this shopkeeper keeps a healthy diet, avoiding fatty foods and refined
sugar? (Possible answers: Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) If a cashier accidentally gave this shopkeeper more change than the shopkeeper was due,
how likely would the shopkeeper be to return the extra change? (Possible answers: Very likely;
Somewhat likely; Somewhat unlikely; Very unlikely)

5) How likely is it that this shopkeeper keeps fit by regularly going to the gym? (Possible
answers: Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

6) How likely is it that this shopkeeper volunteers for a charitable organisation? (Possible
answers: Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

Prosocial traits experiment, second-order beliefs: Please answer the following questions.

1) Participants were asked: ”"How likely is this shopkeeper to keep a promise made to a friend?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

2) Participants were asked: “How likely is it that this shopkeeper reads at least two books per
month?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) Participants were asked: “How likely is it that this shopkeeper keeps a healthy diet, avoiding
fatty foods and refined sugar?”

What do you predict was the most common answer to that question? (Possible answers: Very
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likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) Participants were asked: ”If a cashier accidentally gave this shopkeeper more change than
the shopkeeper was due, how likely would the shopkeeper be to return the extra change?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

5) Participants were asked: “How likely is it that this shopkeeper keeps fit by regularly going
to the gym?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

6) Participants were asked: “How likely is it that this shopkeeper volunteers for a charitable
organisation?”

What do you predict was the most common answer to that question? (Possible answers: Very

likely; Somewhat likely; Somewhat unlikely; Very unlikely)

CASH AT CUSTOMS VIGNETTE
Wording: A man is returning to (Britain/China) from an overseas holiday. In his suitcase he is
carrying cash worth (Amount)*. In the airport he notices a sign informing passengers that it is
illegal to bring cash worth more than (10,000 Euros into Britain / 5,000 US dollars into China)
from overseas without declaring it to customs. After reading the sign, the man enters the country
without declaring the cash to customs.

*The possible values of (Amount) were 9,700, 9,900, 10,100 or 10,300 Euros for the UK student
sample; 9,600, 9,700, 9,800, 9,900, 10,100, 10,200, 10,300 or 10,400 Euros for the other UK
samples; $4,700, 34,900, $5,100 or $5,300 for the China sample.

Questions
Main experiment, Krupka-Weber method / Rule of Law experiment: How socially appropriate
would most people think it is for the man to enter the country without declaring the cash to customs?
(Possible answers: Very socially appropriate; Somewhat socially appropriate; Somewhat socially
inappropriate; Very socially inappropriate)
Main experiment, Opinion matching method, first-order beliefs: How appropriate do you think it
is for the man to enter the country without declaring the cash to customs? (Possible answers: Very
appropriate; Somewhat appropriate; Somewhat inappropriate; Very inappropriate)
Main experiment, Opinion matching method, second-order beliefs: Participants were asked:
”How appropriate do you think it is for the man to enter the country without declaring the cash
to customs?”’

What do you predict was the most common answer to that question? (Possible answers: Very

appropriate; Somewhat appropriate; Somewhat inappropriate; Very inappropriate)
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Prosocial traits experiment, first-order beliefs: Please answer the following questions.

1) How likely is this man to keep a promise made to a friend? (Possible answers: Very likely;
Somewhat likely; Somewhat unlikely; Very unlikely)

2) How likely is it that this man reads at least two books per month? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) How likely is it that this man keeps a healthy diet, avoiding fatty foods and refined sugar?
(Possible answers: Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) If a cashier accidentally gave this man more change than he was due, how likely would the
man be to return the extra change? (Possible answers: Very likely; Somewhat likely; Somewhat
unlikely; Very unlikely)

5) How likely is it that this man keeps fit by regularly going to the gym? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

6) How likely is it that this man volunteers for a charitable organisation? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

Prosocial traits experiment, second-order beliefs: Please answer the following questions.

1) Participants were asked: ”How likely is this man to keep a promise made to a friend?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

2) Participants were asked: "How likely is it that this man reads at least two books per month?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) Participants were asked: "How likely is it that this man keeps a healthy diet, avoiding fatty
foods and refined sugar?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) Participants were asked: “If a cashier accidentally gave this man more change than he was
due, how likely would the man be to return the extra change?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

5) Participants were asked: "How likely is it that this man keeps fit by regularly going to the
gym?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

6) Participants were asked: "How likely is it that this man volunteers for a charitable organisa-
tion?”

What do you predict was the most common answer to that question? (Possible answers: Very
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likely; Somewhat likely; Somewhat unlikely; Very unlikely)

DRINK DRIVING VIGNETTE

Wording: A woman works for a company which manufactures state-of-the-art breathalysers, ma-
chines which can measure a person’s blood alcohol content with extremely high accuracy. One
day, after drinking in a bar in (City)*, the woman remembers she has one of the breathalysers in
her bag, and wonders whether her blood alcohol content is below (0.08% / 0.02%), the maximum
level at which a person can legally drive in (England/China). She tests herself and discovers that
her blood alcohol content is (Percentage)**. The woman then drives home.

*(City) was 'Nottingham’ for the UK student sample, ‘Ningbo’ for the China sample, and ‘a
city in England’ for the other UK samples. Note that we specified ‘England’ rather than ‘Britain’
because, unlike the laws featured in the other scenarios, drink-driving laws differ across the con-
stituent countries of the UK. **The possible values of (Percentage) were: 0.077%, 0.079%, 0.081%
or 0.083% for the UK student sample; 0.076%, 0.077%, 0.078%, 0.079z%, 0.081%, 0.082%,
0.083% or 0.084% for the other UK samples; 0.017%, 0.019%, 0.021% or 0.023% for the China

sample.

Questions
Main experiment, Krupka-Weber method / Rule of Law experiment: How socially appropriate
would most people think it is for the woman to drive home? (Possible answers: Very socially
appropriate; Somewhat socially appropriate; Somewhat socially inappropriate; Very socially inap-
propriate)
Main experiment, Opinion matching method, first-order beliefs: How appropriate do you think
it is for the woman to drive home? (Possible answers: Very appropriate; Somewhat appropriate;
Somewhat inappropriate; Very inappropriate)
Main experiment, Opinion matching method, second-order beliefs: Participants were asked:
”How appropriate do you think it is for the woman to drive home?”

What do you predict was the most common answer to that question? (Possible answers: Very
appropriate; Somewhat appropriate; Somewhat inappropriate; Very inappropriate)
Prosocial traits experiment, first-order beliefs: Please answer the following questions.

1) How likely is this woman to keep a promise made to a friend? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

2) How likely is it that this woman reads at least two books per month? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) How likely is it that this woman keeps a healthy diet, avoiding fatty foods and refined sugar?
(Possible answers: Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) If a cashier accidentally gave this woman more change than she was due, how likely would the

20



woman be to return the extra change? (Possible answers: Very likely; Somewhat likely; Somewhat
unlikely; Very unlikely)

5) How likely is it that this woman keeps fit by regularly going to the gym? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

6) How likely is it that this woman volunteers for a charitable organisation? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)
Prosocial traits experiment, second-order beliefs: Please answer the following questions.

1) Participants were asked: "How likely is this woman to keep a promise made to a friend?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

2) Participants were asked: “How likely is it that this woman reads at least two books per
month?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) Participants were asked: “"How likely is it that this woman keeps a healthy diet, avoiding
fatty foods and refined sugar?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) Participants were asked: ”If a cashier accidentally gave this woman more change than she
was due, how likely would the woman be to return the extra change?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

5) Participants were asked: “How likely is it that this woman keeps fit by regularly going to the
gym?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

6) Participants were asked: "How likely is it that this woman volunteers for a charitable organ-
isation?”

What do you predict was the most common answer to that question? (Possible answers: Very

likely; Somewhat likely; Somewhat unlikely; Very unlikely)

SPEEDING VIGNETTE

Wording: A woman is driving between two cities in order to attend a meeting. She turns onto a
road and notices a sign informing motorists that the legal speed limit on the road is (70 miles per
hour / 120 kilometres per hour). The woman drives for the next five minutes at (Speed)*, before

turning onto a different road.
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*The possible values of (Speed) were: 67, 69, 71 or 73 miles per hour for the UK student
sample; 66, 67, 68, 69, 71, 72, 73 or 74 miles per hour for the other UK samples; 117, 119, 121,

123 kilometers per hour for the China sample.

Questions

Main experiment, Krupka-Weber method / Rule of Law experiment. How socially appropriate
would most people think it is for the woman to drive at (Speed)? (Possible answers: Very so-
cially appropriate; Somewhat socially appropriate; Somewhat socially inappropriate; Very socially
inappropriate)

Main experiment, Opinion matching method, first-order beliefs: How appropriate do you think it
is for the woman to drive at (Speed)? (Possible answers: Very appropriate; Somewhat appropriate;
Somewhat inappropriate; Very inappropriate)

Main experiment, Opinion matching method, second-order beliefs: Participants were asked:
”How appropriate do you think it is for the woman to drive at (Speed)?”

What do you predict was the most common answer to that question? (Possible answers: Very
appropriate; Somewhat appropriate; Somewhat inappropriate; Very inappropriate)
Prosocial traits experiment, first-order beliefs: Please answer the following questions.

1) How likely is this woman to keep a promise made to a friend? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

2) How likely is it that this woman reads at least two books per month? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) How likely is it that this woman keeps a healthy diet, avoiding fatty foods and refined sugar?
(Possible answers: Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) If a cashier accidentally gave this woman more change than she was due, how likely would the
woman be to return the extra change? (Possible answers: Very likely; Somewhat likely; Somewhat
unlikely; Very unlikely)

5) How likely is it that this woman keeps fit by regularly going to the gym? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

6) How likely is it that this woman volunteers for a charitable organisation? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

Prosocial traits experiment, second-order beliefs: Please answer the following questions.

1) Participants were asked: ”How likely is this woman to keep a promise made to a friend?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

2) Participants were asked: “How likely is it that this woman reads at least two books per

month?”
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What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) Participants were asked: “How likely is it that this woman keeps a healthy diet, avoiding
fatty foods and refined sugar?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) Participants were asked: “If a cashier accidentally gave this woman more change than she
was due, how likely would the woman be to return the extra change?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

5) Participants were asked: "How likely is it that this woman keeps fit by regularly going to the
gym?”

What do you predict was the most common answer to that question? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

6) Participants were asked: “"How likely is it that this woman volunteers for a charitable organ-
isation?”

What do you predict was the most common answer to that question? (Possible answers: Very

likely; Somewhat likely; Somewhat unlikely; Very unlikely)

B.2. Placebo experiment

The wordings of the vignettes were identical across the three samples among which we conducted
the placebo experiment (Section IV.A of the main paper), except that for the second-order beliefs
sample of the opinion matching version we first explained that the text had been presented to an
earlier set of participants. The questions asked to subjects differed across versions, as indicated

below.

AGE OF CONSENT VIGNETTE

Wording: A 20 year old man meets a girl at a party. The man invites the girl to come to his home,
and she agrees. At his home, the man tells the girl he wants to have sex with her, but that she looks
young, and asks whether she is above the legal age of consent of 16 years. The girl tells the man
that she is aged (Age)*, and shows him an ID card which confirms this. She tells the man that she
wants to have sex with him. The man remembers a recent conversation with a group of friends,
who expressed the opinion that it would be appropriate to have sex with any girl so long as she was
above the age of 15 years and 6 months, and inappropriate otherwise. The man then has sex with

the girl.
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* The possible value of (Age) were 16 years and 4 months, 16 years and 3 months, 16 years and
2 months, 16 years and 1 month, 15 years and 11 months, 15 years and 10 months, 15 years and 9
months or 15 years and 8 months, 15 years and 7 months, 15 years and 5 months, 15 years and 4

months, 15 years and 3 months, 15 years and 2 months.

Questions

Krupka-Weber method: How socially appropriate would most people think it is for the man to have
sex with the girl? (Possible answers: Very socially appropriate; Somewhat socially appropriate;
Somewhat socially inappropriate; Very socially inappropriate)

Opinion matching method, first-order beliefs: How appropriate do you think it is for the man to
have sex with the girl? (Possible answers: Very appropriate; Somewhat appropriate; Somewhat
inappropriate; Very inappropriate)

Opinion matching method, second-order beliefs: Participants were asked: "How appropriate do
you think it is for the man to have sex with the girl?”” What do you predict was the most common
answer to that question? (Possible answers: Very appropriate; Somewhat appropriate; Somewhat

inappropriate; Very inappropriate)

ALCOHOL TO YOUTH VIGNETTE
Wording: A youth enters a local shop with the intention of buying some beer. He sees a sign in
the shop reminding customers that in Britain it is illegal for shopkeepers to sell alcohol to people
younger than 18 years. The shopkeeper knows the youth personally, and knows that he is aged
(Age)*. The shopkeeper knows that the youth often gets drunk and vandalises property in his
neighbourhood. The youth, who appears sober, asks to buy a box containing 20 alcoholic beers.
The shopkeeper remembers recently visiting the website of a campaign group, who were arguing
that it is appropriate to allow people to drink alcohol when at least 6 months have passed after their
18th birthday, and inappropriate otherwise. The shopkeeper then sells the beers to the youth.

*The possible value of (Age) were 18 years and 10 months, 18 years and 9 months, 18 years
and 8 months, 18 years and 7 month, 18 years and 5 months, 18 years and 4 months, 18 years and
3 months, 18 years and 2 months, 18 years and 1 month, 17 years and 11 months, 17 years and 10

months, 17 years and 9 months, 17 years and 8 months.

Questions Krupka-Weber method: How socially appropriate would most people think it is
for the shopkeeper to sell the beers to the youth? (Possible answers: Very socially appropriate;
Somewhat socially appropriate; Somewhat socially inappropriate; Very socially inappropriate)
Opinion matching method, first-order beliefs: How appropriate do you think it is for the shop-
keeper to sell the beers to the youth? (Possible answers: Very appropriate; Somewhat appropriate;
Somewhat inappropriate; Very inappropriate)

Opinion matching method, second-order beliefs: Participants were asked: “How appropriate do
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you think it is for the shopkeeper to sell the beers to the youth?” What do you predict was the most
common answer to that question? (Possible answers: Very appropriate; Somewhat appropriate;

Somewhat inappropriate; Very inappropriate)

CASH AT CUSTOMS VIGNETTE
Wording: A man is returning to Britain from an overseas holiday. In his suitcase he is carrying cash
worth (Amount)*. In the airport he notices a sign informing passengers that it is illegal to bring cash
worth more than 10,000 Euros into Britain from overseas without declaring it to customs. After
reading the sign, the man overhears one customs official telling a colleague about a focus group
that had previously been run among customs officials working in the airport, which had asked the
officials what they thought the legal limit should be. The customs official said that most of the
officials in the focus group thought the legal limit should be above 10,500 Euros, and told her
colleague that she would therefore consider it appropriate if someone failed to disclose bringing in
any amount less than 10,500 Euros, but inappropriate if they failed to disclose bringing any larger
amount. After hearing this conversation, the man then enters the country without declaring the cash
to customs.

*The possible values of (Amount) were 9,600, 9,700, 9,800, 9,900, 10,100, 10,200, 10,300,
10,400, 10,600, 10,700, 10,800, 10,900 Euros.

Questions

Krupka-Weber method: How socially appropriate would most people think it is for the man to enter
the country without declaring the cash to customs? (Possible answers: Very socially appropriate;
Somewhat socially appropriate; Somewhat socially inappropriate; Very socially inappropriate)
Opinion matching method, first-order beliefs: How appropriate do you think it is for the man
to enter the country without declaring the cash to customs? (Possible answers: Very appropriate;
Somewhat appropriate; Somewhat inappropriate; Very inappropriate)

Opinion matching method, second-order beliefs: Participants were asked: "How appropriate do
you think it is for the man to enter the country without declaring the cash to customs?” What do
you predict was the most common answer to that question? (Possible answers: Very appropriate;

Somewhat appropriate; Somewhat inappropriate; Very inappropriate)

DRINK DRIVING VIGNETTE

Wording: A woman works for a company which manufactures state-of-the-art breathalysers, ma-
chines which can measure a person’s blood alcohol content with extremely high accuracy. One
day, after drinking in a bar in a city in England, the woman remembers she has one of the breathal-
ysers in her bag, and wonders whether her blood alcohol content is below 0.08%, the maximum

level at which a person can legally drive in England. She tests herself and discovers that her blood
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alcohol content is (Percentage)*. The woman remembers reading the previous day about a panel
of scientists who were arguing that it is appropriate to drive with a blood alcohol content below
0.075%, and inappropriate otherwise. The woman then drives home.

*The possible values of (Percentage) were 0.071%, 0.072%, 0.073%, 0.074%, 0.076%, 0.077%,
0.078%, 0.079%, 0.081%, 0.082%, 0.083%, 0.084%.

Questions Krupka-Weber method: How socially appropriate would most people think it is for the
woman to drive home? (Possible answers: Very socially appropriate; Somewhat socially appropri-
ate; Somewhat socially inappropriate; Very socially inappropriate)

Opinion matching method, first-order beliefs: How appropriate do you think it is for the woman
to drive home? (Possible answers: Very appropriate; Somewhat appropriate; Somewhat inappro-
priate; Very inappropriate)

Opinion matching method, second-order beliefs: Participants were asked: "How appropriate do
you think it is for the woman to drive home?”” What do you predict was the most common answer
to that question? (Possible answers: Very appropriate; Somewhat appropriate; Somewhat inappro-

priate; Very inappropriate)

SPEEDING VIGNETTE
Wording: A woman is driving between two cities in order to attend a meeting. She turns onto a
road and notices a sign informing motorists that the legal speed limit on the road is 70 miles per
hour. The woman remembers hearing the previous week about a petition to raise speed limits on
motorways, arguing that it is appropriate to drive at speeds up to 75mph, and inappropriate at higher
speeds. The woman drives for the next five minutes at (Speed)*, before turning onto a different
road.

*The possible values of (Speed) were 66, 67, 68, 69, 71, 72, 73, 74, 76, 77, 78, 79 miles per

hour.

Questions

Krupka-Weber method: How socially appropriate would most people think it is for the woman to
drive at (Speed)? (Possible answers: Very socially appropriate; Somewhat socially appropriate;
Somewhat socially inappropriate; Very socially inappropriate)

Opinion matching method, first-order beliefs: How appropriate do you think it is for the woman
to drive at (Speed)? (Possible answers: Very appropriate; Somewhat appropriate; Somewhat inap-
propriate; Very inappropriate)

Opinion matching method, second-order beliefs: Participants were asked: “How appropriate do
you think it is for the woman to drive at (Speed)?” What do you predict was the most common
answer to that question? (Possible answers: Very appropriate; Somewhat appropriate; Somewhat

inappropriate; Very inappropriate)
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B.3. ”Bad” law experiment

In this experiment, we used only one non-filler vignette, which was different from those used in
all other experiments. The wording was the same in the first and second order beliefs versions,
except that when eliciting second order beliefs we first told subjects that the vignette had already
been presented to another set of respondents.

Wording: A landlord recently rented the apartment next door to a young woman who lives alone.
The woman is sometimes visited in her apartment by her ex-boyfriend, who is often intoxicated.
On one occasion, on July 5, the ex-boyfriend became violent and damaged property at the apart-
ment, and the landlord called 911 which resulted in the ex-boyfriend being charged with Criminal
Mischief.

After that incident, the police informed the landlord that, under the city’s nuisance property
ordinance, the apartment would be declared a chronic nuisance if the police had to respond to
similar incidents at the same address on three more separate occasions within the next 30 days.
This would mean that the landlord may be required to pay a civil penalty of $250 per day until the
nuisance is abated, plus a penalty of $1000 per incident for any further incidents that occurred after
the apartment had been declared a chronic nuisance. The police officer told him: “If you want to
avoid being in violation of the ordinance, this is the rule: the police cannot be called to respond to
similar incidents at the address more than twice again in the next 30 days.”

Between July 6 and July 24, (Text A)*. Then, on July 25, the landlord finds the woman’s ex-
boyfriend outside the apartment as he is trying to kick down her front door, shouting threats at her.
(Text B)*. The landlord calls 911 and asks the operator to send a police officer to the woman’s
apartment.

*The possible wordings of (Text A) were: “the landlord does not call the police to the woman'’s

’

apartment again’’; “the landlord calls the police to respond to a similar incident at the woman's

apartment once more”; “the landlord calls the police to respond to a similar incident at the woman's
apartment twice more’’; “the landlord calls the police to respond to a similar incident at the
woman's apartment three more times”.

Correspondingly, the possible wordings of (Text B) were: “The landlord knows that calling
the police would not be in violation of the ordinance, as this would be the first occasion they had
been called there since the initial incident on July 5”; “The landlord knows that calling the police
would not be in violation of the ordinance, as this would be the second occasion they had been called
there since the initial incident on July 5”; “The landlord knows that calling the police would be in
violation of the ordinance, as this would be the third occasion they had been called there since the
initial incident on July 57; “The landlord knows that calling the police would be in violation of the
ordinance, as this would be the fourth occasion they had been called there since the initial incident

onJuly 5”
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Questions
Opinion matching method, first-order beliefs, Trustworthiness/Honesty/Altruism treatment:
Please answer the following questions.

1) How likely is this landlord to keep a promise made to a friend? (Possible answers: Very
likely; Somewhat likely; Somewhat unlikely; Very unlikely)

2) How likely is it that this landlord reads at least two books per month? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) How likely is it that this landlord keeps a healthy diet, avoiding fatty foods and refined sugar?
(Possible answers: Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) If a cashier accidentally gave this landlord more change than he was due, how likely would the
landlord be to return the extra change? (Possible answers: Very likely; Somewhat likely; Somewhat
unlikely; Very unlikely)

5) How likely is it that this landlord keeps fit by regularly going to the gym? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

6) How likely is it that this landlord volunteers for a charitable organisation? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

Opinion matching method, first-order beliefs, Rule-following treatment: Please answer the fol-
lowing questions.

1) How likely is it that this landlord obeys rules regardless of whether doing so has negative con-
sequences for himself and/or others? (Possible answers: Very likely; Somewhat likely; Somewhat
unlikely; Very unlikely)

2) How likely is it that this landlord reads at least two books per month? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) How likely is it that this landlord keeps a healthy diet, avoiding fatty foods and refined sugar?
(Possible answers: Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) How likely is it that this landlord keeps fit by regularly going to the gym? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

Opinion matching method, second-order beliefs, Trustworthiness/Honesty/Altruism treatment:
Please answer the following questions.

1) Participants were asked “How likely is this landlord to keep a promise made to a friend?”
What do you predict was the most common answer to that question? (Possible answers: Very likely;
Somewhat likely; Somewhat unlikely; Very unlikely)

2) Participants were asked “How likely is it that this landlord reads at least two books per
month?” What do you predict was the most common answer to that question? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) Participants were asked “How likely is it that this landlord keeps a healthy diet, avoiding
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fatty foods and refined sugar?”” What do you predict was the most common answer to that question?
(Possible answers: Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) Participants were asked “If a cashier accidentally gave this landlord more change than he
was due, how likely would the landlord be to return the extra change?” What do you predict
was the most common answer to that question? (Possible answers: Very likely; Somewhat likely;
Somewhat unlikely; Very unlikely)

5) Participants were asked “How likely is it that this landlord keeps fit by regularly going to
the gym?” What do you predict was the most common answer to that question? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

6) Participants were asked “How likely is it that this landlord volunteers for a charitable organ-
isation?” What do you predict was the most common answer to that question? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

Opinion matching method, second-order beliefs, Rule-following treatment: Please answer the
following questions.

1) Participants were asked “How likely is it that this landlord obeys rules regardless of whether
doing so has negative consequences for himself and/or others?”” What do you predict was the most
common answer to that question? (Possible answers: Very likely; Somewhat likely; Somewhat
unlikely; Very unlikely)

2) Participants were asked “How likely is it that this landlord reads at least two books per
month?” What do you predict was the most common answer to that question? (Possible answers:
Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

3) Participants were asked “How likely is it that this landlord keeps a healthy diet, avoiding
fatty foods and refined sugar?”” What do you predict was the most common answer to that question?
(Possible answers: Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)

4) Participants were asked “How likely is it that this landlord keeps fit by regularly going to
the gym?” What do you predict was the most common answer to that question? (Possible answers:

Very likely; Somewhat likely; Somewhat unlikely; Very unlikely)
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C. Screenshots of experimental instructions

We first present screenshots from the UK and US experiments and then from the China
experiment. The size has been adjusted so that each screen fits on one page — in the experiment
itself subjects could scroll up and down.

UK and US experiments

Screenshots are taken from the main experiment, Sample 2 version (UK General population,
Krupka-Weber method). Where the other UK/US experiments differed, this is explained below
(or occasionally above) each screenshot. Note that we used American spellings for the US
experiment, but below all wordings are presented using British spellings.

T esraersity of

| | Mottingham

What is your age?

v

What is your nationality?

United Kingdom
Afghanistan
Albania

Algeria

Andorra

Angola

Antigua and Barbuda
Argentina

Armenia

Aruba

e This was not included in the student experiment.
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The Main experiment opinion-matching version, Placebo experiment, Prosocial traits
experiment and “Bad” law experiment also required subjects to enter their Prolific ID at
the top of this screen.

' | NalBngham

what is your gender?

Roughly, what is your pre-tax personal income per year?

v
which region of the United Kingdom, as defined by the census, da you live in?
South West England

South East England

East England
East Midlands

West Midlands
Horth West England
Yorkshire and the Humber

Horth East England

Horthemn breland
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Not included in the student experiment.

The Placebo experiment, Prosocial traits experiment and “Bad” law experiment also
asked for subjects’ ethnicity.

In the “Bad” law experiment, subjects were instead asked which American state they
resided in.

Following this screen, the second-order beliefs opinion-matching versions of the Main
experiment and Placebo experiment, and the Krupka-Weber version of the Placebo
experiment, had the below message.

Welcomel

Thank you for accepting our study.

Including the time for reading these instructions, the study will take about 15 minutes to

complete.

To complete this study you will receive a guaranteed participation fee of £1.88
plus a bonus of up to £30 that will depend on your decisions during the study.

At the end of the study, you will receive a link taking you back to Prolific, which you

must click on to receive your payment.

The same message, excluding the mention of possible bonus payment, was included in
the first-order beliefs versions of these experiments. The equivalent messages
(respectively with and without the mention of possible bonus payment) were presented to
subjects in the Prosocial traits and “Bad” law experiments, except that the guaranteed
participation fee was £0.94 and the stated study duration was 5-10 minutes.
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Thee Lwhwner sy of

! | Nottingham

Participant Information Sheet for Qualtrics survey on social appropriateness

Dear Participant,

Thank you for agreeing to participate in this questionnaire survey in connection with our research at the
University of Nottingham. The project is a study about people’s perceptions towards the social appropriateness of
particular behaviours. In the following survey, you will be presented with a series of hypothetical behaviours that
a person could make, and you will be asked to report how socially appropriate you consider these behaviours to
be. Depending on your responses and the responses of others to the survey, you may receive a bonus payment for

your participation.

Your participation in the survey is voluntary. You are able to withdraw from the survey at any time and to request

that the information you have provided 1s not used in the project. Amy information provided will be confidential.

The research project has been reviewed according to the ethical review processes in place in the University of
Nottingham. These processes are governed by the University’s Code of Research Conduct and Research Ethics.
Should you have any question now or in the future, please contact us. Should you have concemns related to cur

conduct of the survey or research ethics, please contact the School of Economics’ Ethics Committee.

Yours truly,

Tom Lane

Contact detaila:

Researchers: Tom Lane Tom Lane @nottingham.edu.cn

Danie le Mosenzo Daniele Nosenzo@nottingham.ac uk

Nottingham School of Economics Research Ethics Committee

(nse-rec@nottinsham ac.uk)

The title was changed to Qualtrics survey about behaviour for the Prosocial traits
experiment, and to Qualtrics survey about behavior for the “Bad” law experiment.
Socially appropriate was replaced by appropriate for the first-order versions of the
opinion-matching method Main and Placebo experiments.

The sentence beginning The project is a study about... was replaced by This project is a
study about your predictions towards other people's opinions in the second-order

33



versions of the opinion matching method Main and Placebo experiments, and second-
order version of the Prosocial traits and “Bad” law experiments. In the first-order version
of the Prosocial traits and “Bad” law experiments, it was replaced by The project is a
study about people’s perceptions towards those who engage in particular behaviours.
The sentence beginning In the following survey... was replaced by In the following
survey, you will be presented with a series of questions that were asked to respondents of
a previous survey, and you will be asked to report what you believe the most common
answers to these questions were in the second-order versions of the opinion-matching
method Main and Placebo experiments, and second-order version of the Prosocial traits
and “Bad” law experiments. In the first-order version of the Prosocial traits and “Bad”
law experiments, it was replaced by In the following survey, you will be presented with a
series of hypothetical people's behaviour, and you will be asked to report how these
people would be likely to behave in other contexts.

The sentence beginning Depending on your responses... was not included in any first-
order beliefs experiments. For second-order beliefs experiments, the text referred to the
responses of other participants rather than others to the survey.

In the student experiment, following Any information provided will be confidential, were
the additional sentences: Your student ID number will be taken so that we can contact
participants who are selected to receive payment, but when stored the data will be
anonymized as quickly as possible, and your identity will not be revealed to any third
party.

In response to a request from our ethics committee, all experiments run in 2021 except
the first-order beliefs version of the opinion matching Main experiment contained a
warning on this screen that the survey would (or, in the Prosocial traits experiment,
might) contain questions about sexual behaviour.
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PARTICIPANT CONSENT FORM

Project topic: Qualtrics survey on social appropriateness

Researchers’ names: Tom Lane and Daniele Nosenzo

Please click on all the statements below, to confirm you agree with each statement.

| have read the Participant Information Sheet and the nature and purpose of the research

project has been explained to me. | understand and agree to take part.

| understand the purpose of the research project and my involvement in it.

| understand that | may withdraw from the research project at any stage and that this will not
affect my status now or in the future.

| understand that while information gained during the study may be published, | will not be
identified and my personal results will remain confidential.

| understand that data will be stored in accordance with data protection laws,

| understand that | may contact the researcher if | require more information about the
research, and that | may contact the Research Ethics Sub-Committee of the Mottingham School
of Economics if | wish to make a complaint related to my involvement in the research.

H

e There was an additional screen at this point in the student experiment, reading:

This survey should take around 45 minutes to complete. If you need to stop, you can save your
responses and return to the survey later.

First, please enter your student ID number. Make sure you enter this correctly, as we will use it
to contact you regarding payment. (followed by box to enter ID number)
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The University of

' | Nottingham

Regarding bonus payment:

After all participants have completed the survey, we will randomly pick one out of every
five to be eligible to receive bonus payment.

If you are one of the participants picked, that means you may receive a £30 bonus,
depending on the response you have provided to the survey. Further details will be
provided at the relevant point in the survey.

e This screen was not included in the first-order beliefs versions of the Main, Placebo,
Prosocial traits and “Bad” law experiments.

¢ In the second-order beliefs version of the Prosocial traits and “Bad” law experiments,
subjects were instead told we would randomly pick one out of every ten to be eligible to
receive bonus payment.

¢ In the student experiment, this screen read:

Regarding payment:

After all participants have completed the survey, we will randomly pick one out of every five to
receive payment. We will email all participants by September 28 to notify them whether they
have been selected for payment or not. Participants selected for payment will then be able to
collect their money from the Clive Granger Building on University Park Campus. If you have
any questions regarding payment for this survey, please email Tom.Lane@nottingham.edu.cn.
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If you are selected for payment, you will receive a participation fee of £10. Based on your
response to the survey, you may also receive an additional £30. Further details will be provided
at the relevant point in the survey.

| e

Information about this survey

This survey will describe 15 hypothetical situations, and will ask you how socially
appropriate certain behaviour is in these situations. In each case, you must indicate
whether the behaviour would be "socially appropriate” or "socially inappropriate”. There
will b= four possible responses, as shown below, of which you must select exactly ane.

tery socially appropriate

Semmevhat socially agpropriate

Somevshal socislly mapeopriale

Very socially napperopriate

By socially appropriate, we mean behaviour that you think most
people would agree is the “right” thing to do. Another way to think
about what we mean is that if someone were to behave in a socially
inappropriate way, then other people might be angry at them. Mote
that the “right” thing to do may not necessarily be made explicit or
supported by laws, nor enforced by the threat of legal sanctions. 5o
an action may be ‘appropriate’ even if it is not legal; or
‘inappropriate’ even if it is not illegal. Rather, an appropriate action is
an action that most people believe ought to be taken (regardless of
whether it is legal or not), and they may be prepared to express their
disapproval if it is not taken.

In each of yaur responses, we would like you to answer based on your opinions of what
most people belisve constitutes socially appropriate or socially inappropriate behaviour.

after all responses to the survey are completed, we will randomly select one of the
situations we asked you abaut. We will look at your answer to how socially appropriate
the behaviour described in the situation was. To reward you, if your answer to this
question is the same as the answer provided by the highest number of participants in thiz
survey, and if you are one of the participants selected as eligible for bonus payment, we
will give you a £30 bonus. all participants in this survey ars British and recruited online.
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In the first-order beliefs version of the opinion matching Main and Placebo experiments,
the term appropriate was used instead of socially appropriate. In these experiments, the
final three paragraphs were replaced by:

By appropriate, we mean behaviour that you think is the "right" thing to do. Another way
to think about what we mean is that if someone were to behave in an inappropriate way,
then you might be angry at them. Note that the “right” thing to do may not necessarily be
made explicit or supported by laws, nor enforced by the threat of legal sanctions. So you
may think that an action is ‘appropriate’ even if it is not legal; or ‘inappropriate’ even if
it is not illegal. Rather, an appropriate action is an action that you believe ought to be
taken (regardless of whether it is legal or not), and you may be prepared to express your
disapproval if it is not taken.

In each of your responses, we would like you to answer based on what you believe
constitutes appropriate or inappropriate behaviour.

In the second-order opinion matching version of the Main and Placebo experiments,
subjects were told:

In this survey your task is to guess the most common answers given to questions in a
previous survey.

This previous survey described 15 hypothetical situations, and we asked respondents how
appropriate certain behaviour is in these situations. In each case, respondents had to
indicate whether the behaviour was "appropriate” or "inappropriate”. There were four
possible responses, as shown below, of which respondents had to select exactly one.

Subjects then saw a picture of the four options available to respondents of the first-order
beliefs version. They then saw the final paragraphs of the screen that had been presented
to first-order beliefs subjects, preceded by the statement We gave the following
explanation to respondents about what we meant by "appropriate™:.

Finally, subjects in these versions saw the following paragraphs:

All participants in the previous survey were British and recruited online on Prolific.
After you have completed this survey, we will randomly select one of the questions in
which we asked you to predict respondents’ answers in the previous survey. We will look

at your prediction as to what the most common answer was to how appropriate the
behaviour described in the situation was. To reward you, if you correctly predicted the
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most common answer for this situation, and if you are one of the participants selected as
eligible for bonus payment, we will give you a £30 bonus.

In the first-order beliefs version of the Prosocial traits and “Bad” law experiments,
subjects were told:

This survey will describe 4 hypothetical people's behaviour, and in each case will ask
your opinion about how this person would behave in other contexts. For each person, we
will list possible behaviours in these other contexts and ask you how likely it is that this
person would do them. For each question there will be four possible responses, as shown
below, of which you must select exactly one.

The four options they were shown were (Very likely, Somewhat likely, Somewhat
unlikely, Very unlikely). The last three paragraphs were dropped.

In the second-order beliefs version of the Prosocial traits and “Bad” law experiments,
subjects were told:

In this survey your task is to guess the most common answers given to questions in a
previous survey.

This previous survey described 4 hypothetical people's behaviour, and in each case we
asked respondents their opinions about how this person would behave in other contexts.
For each person, we listed possible behaviours in these other contexts and asked
respondents how likely it is that this person would do them. For each question, there
were four possible responses, as shown below, of which respondents had to select exactly
one.

After seeing the four available options, subjects in the Prosocial traits experiment were
told:

All participants in the previous survey were British and recruited online on Prolific.

After you have completed this survey, we will randomly select one of the questions in
which we asked you to predict respondents' answers in the previous survey. We will look
at your prediction as to what the most common answer was regarding how likely the
person described was to behave in a particular way. To reward you, if you correctly
predicted the most common answer to this question, and if you are one of the participants
selected as eligible for bonus payment, we will give you a £30 bonus.
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Subjects in the “Bad” law experiment also saw the above wording, except that they were
told all participants in the previous survey were American.

In the student experiment, the final two sentences read: To reward you, if your answer to
this question is the same as the answer provided by the highest number of participants in
this survey, and if you are one of the participants selected for payment, we will give you
£30 in addition to your participation fee. All participants in this survey are British and
studying at the University of Nottingham.

The University of

Nottingham

We will now go through an example of a possible situation and demonstrate how you

would respond to it.

In the second-order opinion matching version of the Main and Placebo experiments,
situation was replaced by question.

In the first-order version of the Prosocial traits and “Bad” law experiments, the sentence
was replaced by We will now go through an example of a possible person's behaviour
and demonstrate how you would respond to questions about the person.

In the second-order version of the Prosocial traits and “Bad” law experiments, the
sentence read We will now go through an example of a possible set of questions and
demonstrate how you would respond to them.
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An example situation

A man is planning to attend a friend’s wedding on Saturday. The man is a big football fan
and, two days before the wedding, he is offered free tickets to watch an important
football match. The man decides to take the tickets. On the Saturday, he goes to the
football match, and tells his friend he is too ill to attend the wedding.

Suppose you thought this behaviour was somewhat socially inappropriate. Then you would
answer this question as follows:

How socially appropriate would most people think the man’s behaviour is?

Very socially appropriate

Somevshat socially appropriate

Somewhat socially inappropriate

Very socially inappropriate

Then, if you were one of the participants selected as eligible for bonus payment and if
this was the situation we randomly selected to look at, we would give you E30 if
‘somewhat socially inappropriate’ was also the answer to this question provided by the
highest number of participants in this survey. If a different answer was provided by the
highest number of participants, we would not give you this £30.

e In the first-order beliefs opinion matching version of the Main and Placebo experiments,
socially appropriate/inappropriate was replaced by appropriate/inappropriate. The
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question in the example was How appropriate do you think the man’s behaviour is? The
paragraph at the bottom of the screen was not present in these versions.

In the second-order beliefs opinion matching version of the Main and Placebo
experiments, the heading was changed to An example question. The vignette was
preceded by the sentence Suppose that we presented participants of the previous survey
with the following scenario:. The paragraph beginning Suppose you thought this
behaviour...was replaced by:

Suppose participants were asked: "How appropriate do you think the man's behaviour
is?"

Suppose you thought the most common answer was that the behaviour was somewhat
inappropriate. Then you would answer this question as follows:

The question How socially appropriate would most people think the man’s behaviour is?
was replaced by What do you think was the most common answer to the question “How
appropriate would most people think the man’s behaviour is?” (in the possible answers,
socially appropriate was replaced by appropriate)

The final paragraph read:

Then, if you were one of the participants selected as eligible for bonus payment and if
this was the situation we randomly selected to look at, we would give you £30 if
‘somewhat inappropriate’ was the answer to this scenario provided by the highest
number of participants in the previous survey. If a different answer was provided by the
highest number of participants, we would not give you this £30.

In the first-order beliefs version of the Prosocial traits experiment, the heading was
replaced by An example of a person's behaviour. The paragraph beginning Suppose you
thought this behaviour...was replaced by:

Suppose we asked you:

(1) "How likely, in future years, is this man to tell his friend the true reason why he
missed the wedding?"

(2) “How likely is this man to watch the football World Cup Final?”
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Suppose you thought the answer to the first question was “Somewhat unlikely” and the
answer to the second question was “Very likely”. Then you would answer the questions
as follows:

The screenshot showing how the questions would be answered was altered accordingly,
with the possible answers Very likely, Somewhat likely, Somewhat unlikely and Very
Unlikely. The final paragraph of the screen was not included in this version.

In the second-order beliefs version of the Prosocial traits experiment, the heading was
replaced by Example questions. The vignette was preceded by Suppose that we
presented participants of the previous survey with the following hypothetical person's
behaviour:

The paragraph beginning Suppose you thought this behaviour...was replaced by:
Suppose participants were asked:

(1) "How likely, in future years, is this man to tell his friend the true reason why he
missed the wedding?"

(2) “How likely is this man to watch the football World Cup Final?”

Suppose you thought the most common answer to the first question was “somewhat
unlikely” and the most common answer to the second question was “very likely”. Then
you would answer these questions as follows:

The screenshot showing how the questions would be answered was altered accordingly,
with the questions in the pictures commencing with What do you think was the most
common answer in the previous survey to the question...

In this version, the final paragraph of the screen was replaced by:

Then, if you were one of the participants selected as eligible for bonus payment and if we
randomly selected the second question about this person to look at, we would give you
£30 if ‘very likely’ was the answer to this scenario provided by the highest number of
participants in the previous survey. If a different answer was provided by the highest
number of participants, we would not give you this £30.

In the first- and second-order beliefs versions of the “Bad” law experiment, this screen
looked the same as in the corresponding version of the Prosocial traits experiment, except
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that the word ‘match’ was replaced by ‘game’ and the second question was replaced by
“How likely is this man to watch the Superbowl?”

¢ In the student experiment, selected as eligible for bonus payment was replaced by
selected for payment.

o Before the next screen, an additional screen was added to all experiments conducted in
2021 and 2022. For the first-order opinion matching versions of the Main and Placebo
experiments, and the Krupka-Weber version of the Placebo experiment, this screen read:

Note: When providing your answers, you should imagine that these situations are all
taking place BEFORE the existence of Covid-19. So it is not necessary for the people
in these hypothetical situations to practice social distancing or take any pandemic-
related precautions.

For the first-order Prosocial traits and “Bad” law experiments, the screen was as above
except situations was replaced by behaviours and the people in these hypothetical
situations was replaced by these hypothetical people.

The second-order beliefs versions of the opinion matching Main and Placebo
experiments, and Prosocial traits and “Bad” law experiment, contained the equivalent text
to the first-order versions, except that Note was replace by Note that we told participants
in the previous survey.

TP Ueivarity ol

' | Nottingham

On the next screen you will be asked to evaluate
the first of 15 scenarios. Click forward to begin.

e For the second-order beliefs versions of the opinion matching Main and Placebo
experiments, the first sentence was replaced by On the next screen you will be asked to
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make your first of 15 predictions about the answers from the previous survey. Such
language was also used in the second-order beliefs versions of the Prosocial traits and
“Bad” law experiments, except for referring to 4 sets of predictions rather than 15
predictions.

For the first-order beliefs version of the Prosocial traits and “Bad” law experiment, the
sentence was replaced by On the next screen you will be asked to evaluate the first of 4
people.

(The following three vignettes were presented in random order)
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Aman is helping a friend transport goods between two houses in a village in your region.
The distance between the houses is 200 metres, and today there are no other cars on the
road. The man fills his car with boxes and prepares to drive between the two houses. On
the radio he hears a news report reminding listeners that it is illegal to drive without
wearing a seatbelt. The man does not wear a seatbelt, and drives the 200 metres to the
other house at a maximum speed of 10 miles per hour.

How socially appropriate would most people think it is for the man to drive this journey
without wearing a seatbelt?

Very socially appropriate
Somewhat socially appropriate
Somewhat socially inappropriate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do" (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.

e In the “Bad” laws version of the above vignette, the wording refers to two local farms
rather than two houses in a village in your region, and changes 200 metres to 500 feet.
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Changes were made to the screen above, and all subsequent vignette screens, as follows:

¢ In the first-order beliefs opinion matching version of the Main and Placebo experiments,
socially appropriate was replaced by appropriate. In these versions, questions asked
How appropriate do you think rather than How socially appropriate would most people
think... The paragraph at the bottom of each screen in these versions read Remember that
by appropriate we mean behaviour that you think is the "right thing to do™ (regardless of
whether it is legal or not).

e In the second-order beliefs opinion matching version of the Main and Placebo
experiments, the vignettes were preceded by Participants in the previous survey were
presented with the following situation:

In these versions, the questions took the format:
Participants were asked: "(wording from first-order beliefs version)"

What do you predict was the most common answer to that question? (possible answers:
Very appropriate, Somewhat appropriate, Somewhat inappropriate, Very inappropriate)

The bottom paragraph of each screen read:

Remember that we explained to participants that, by appropriate, we mean behaviour
that they think is the "right thing to do" (regardless of whether it is legal or not). You can
earn £30 from this question (if it is selected for payment) only if you correctly predict the
most common response to the question in the previous survey. Remember that all
participants in the previous survey were British and recruited online on Prolific.

¢ In the first-order beliefs version of the Prosocial traits experiment, the one question was
replaced by the set of six questions indicated in Online Appendix B.1; in the first-order
beliefs version of the “Bad” law experiment, the one question was replaced by the set of
either six or four questions (depending on treatment) indicated in Online Appendix B.3.
The questions were always the same for all vignettes for the same subject, only changing
to reflect the gender of the person in the vignette. The paragraph at the bottom of each
vignette screen was not present in these versions.

¢ In the second-order beliefs versions of the Prosocial traits and “Bad” law experiments, all
vignettes were preceded by Participants in the previous survey were presented with the
following hypothetical person's behaviour: The one question was replaced by the set of
six questions indicated in Online Appendix B.1 for the Prosocial traits experiment, or the
set of either six or four questions (depending on treatment) indicated in Online Appendix
B.3. The questions were always the same for all vignettes for the same subject, only
changing to reflect the gender of the person in the vignette. The bottom paragraph on
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each screen in this version of the Prosocial traits experiment was the following, with the
same wording in the “Bad” law experiment, except that subjects were told all participants
in the previous survey were American:

Remember that, if one of these questions is selected for payment, you can earn £30 from
it only if you correctly predict the most common response to the question in the previous
survey. Remember that all participants in the previous survey were British and recruited
online on Prolific.

In the Krupka-Weber version of the Placebo experiment, the last sentence on each screen
read: Remember that all participants in this survey are British and recruited online on
Prolific.

In the student experiment, the last sentence on each screen read: Remember that all
participants in this survey are British and studying at the University of Nottingham.

On the above screen of the student experiment, village in your region was replaced by
village near Nottingham.
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Awoman has saved up £2,000 which she intends to spend on a luxury beach holiday. Just
before she books the holiday, she reads a news report about a charity providing aid for
hungry people in an impoverished African country. The woman decides she should donate
the £2,000 to the charity instead of booking the beach holiday. However, she then
changes her mind and books the beach holiday, and does not donate any money to
charity.

How socially appropriate would most people think it is for the woman to book the beach
holiday and not donate any money to charity?

Very zocially appropriate

Somewhat socially appropriate

Somewhat socially inappropriate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do” (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.

e In the “Bad” law experiment, the above vignette refers to $ as the currency, and replaces
holiday with vacation.
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Awoman wants to watch a foreign movie which has not yet been released in Britain. Her
friends tell her about a website they have found from which she can download the movie
for free. They warn her that downloading the movie from this website is illegal. Later,
the woman visits the website but decides not to download the movie.

How socially appropriate would most people think it is for the woman not to download
the movie?

Very socially appropriate

Somewhat socially appropriate

Somewhat socially inappropriate

Wery socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do” (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.

e Inthe “Bad” law experiment, the above vignette read: A woman wants to watch a Netflix
TV show, but does not have a Netflix subscription. Her friends tell her about a website
they found where she can download the show for free, but they warn her that
downloading the show from this website is illegal. Later, the woman visits the website but
decides not to download the show.
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(The following 12 vignettes were presented in random order, except in the Prosocial traits and
“Bad” law experiments; in the Prosocial traits experiment, only one of the five threshold
vignettes was randomly selected to be presented and the other filler vignettes were not presented,
in the “Bad” law experiment, only the landlord vignette was presented (see Appendix B.3) and
the other remaining filler vignettes were excluded).

A man has eaten a meal in a restaurant. The food took a very long time to arrive, and
tasted bad. The man asks the waiter for the bill, but after ten minutes the waiter has not
returned. The man walks out of the restaurant without paying his bill.

How socially appropriate would most people think it is for the man to walk out without
paying his bill?

Very socially appropriate
Somewhat socially appropriate
Somewhat socially inappropriate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do" (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.
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A woman is driving between two cities in order to attend a meeting. She turns onto a
road and notices a sign informing motorists that the legal speed limit on the road is 70
miles per hour. The woman drives for the next five minutes at 68 miles per hour, before
turning onto a different road.

How socially appropriate would most people think it is for the woman to drive at 68 miles
per hour?

Very socially appropriate

Somewhat socially appropriate

Somewhat socially inappropriate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do” (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.

e The wording of this vignette was modified in the Placebo experiments, as indicated in
Online Appendix B.2.
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Astudent is having lunch at a coffee shop near campus. When she gets up to leave, she
notices a wallet unattended on the floor. The student checks to see nobody is looking,
and then picks the wallet up and walks out of the coffee shop with it.

How socially appropriate would most people think it is for the student to pick the wallet
up and walk out of the coffee shop with it?

Very socially appropriate

Somewhat socially appropriate

Somewhat socially inappropriate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do" (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey,
Remember that all participants in this survey are British and recruited online.
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A homeowner wakes in the middle of the night and finds a burglar attempting to steal his
television. He catches the burglar and beats him heavily, breaking the burglar’s arm,
before throwing him out through the front door.

How socially appropriate would most people think it is for the homeowner to treat the
burglar this way?

Very socially appropriate

Somewhat socially appropriate

Somewhat socially inappropriate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do” (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.
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On his way home from work in your local city, a doctor is approached by a man begging
for money. The doctor ignores the beggar and walks away from him.

How socially appropriate would most people think it is for the doctor to ignore the
beggar and walk away from him?

Very socially appropriate

Somewhat socially appropriate

Somewhat socially inappropriate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do” (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.

¢ In the student experiment, your local city was replaced by Nottingham.
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A student is taking an exam which she expects to fail. Before the exam she writes some
notes on a sheet of paper, and hides it under her sleeve. Just before the exam begins,
the invigilator makes an announcement reminding all students that it is an offence for
them to bring any materials into the exam to help them answer questions. During the
exam the student secretly looks at the notes and uses them to help her answer the
guestions.

How socially appropriate would most people think it is for the student to use the notes
this way?

Very socially appropriate

Somewhat socially appropriate

Somewhat socially inappropriate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do" (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.
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A construction company in your local city is bidding to the government to win a contract
for a largescale infrastructure project. The CEO of the company attends a conference
where an important government official makes a speech. In the speech, the official
mentions that a businessman recently tried to bribe him. The official says that offering
bribes to government officials is not only illegal but also bad for business. Later, the CEOQ
asks to speak privately with the official, and then offers him a bribe worth £1 million to
ensure the construction company wins the contract.

How socially appropriate would most people think it is for the CED to offer the official
this bribe?

Very socially appropriate

Somewhat socially appropriate

Somewhat socially inappropriate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do" (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.

¢ In the student experiment, your local city was replaced by Nottingham.
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Awoman is on her way to meet a friend, when she sees an injured man lying by the
street. The woman stops to ask the man if he is OK; the man tells her he has been
attacked and had his wallet and phone stolen. The woman phones the police and waits
with the man until they arrive.

How socially appropriate would most people think it is for the woman to help the man in
this way?

Very socially appropriate
Somewhat socially appropriate
Somewhat socially inappropriate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do" (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.
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A youth enters a local shop with the intention of buying some beer. He sees a sign in the
shop reminding customers that in Britain it is illegal for shopkeepers to sell alcohol to
people younger than 18 years. The shopkeeper knows the youth personally, and knows
that he is aged 18 years and 4 months. The shopkeeper knows that the youth often gets
drunk and vandalises property in his neighbourhood. The youth, who appears sober, asks
to buy a box containing 20 alcoholic beers, and the shopkeeper sells it to him.

How socially appropriate would most people think it is for the shopkeeper to sell the
beers to the youth?

Very socially appropriate

Somewhat socially appropriate

Somewhat socially inappropriate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do" (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.

e The wording of this vignette was modified in the Placebo experiments, as indicated in
Online Appendix B.2.
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A woman works for a company which manufactures state-of-the-art breathalysers,
machines which can measure a person’s blood alcohol content with extremely high
accuracy. One day, after drinking in a bar in a city in England, the woman remembers she
has one of the breathalysers in her bag, and wonders whether her blood alcohol content
is below 0.08%, the maximum level at which a person can legally drive in England. She
tests herself and discovers that her blood alcohol content is 0.079%. The woman then
drives home.

How socially appropriate would most people think it is for the woman to drive home?

Very socially appropriate

Somewhat socially appropriate

Somewhat socially inappropriate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do" (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.

¢ In the student experiment, a city in England was replaced by Nottingham.
e The wording of this vignette was modified in the Placebo experiments, as indicated in
Online Appendix B.2.
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A 20 year old man meets a girl at a party. The man invites the girl to come to his home,
and she agrees. At his home, the man tells the girl he wants to have sex with her, but
that she looks young, and asks whether she is above the legal age of consent of 16 years.
The girl tells the man that she is aged 15 years and 8 months, and shows him an 1D card
which confirms this. She tells the man that she wants to have sex with him. The man
then has sex with the girl.

How socially appropriate would most people think it is for the man to have sex with the
girl?

Very socially appropriate

Somewhat socially appropriate

Somewhat socially inappropriate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do" (regardless of whether it is legal or not). You
can earn £30 from this guestion (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.

e The wording of this vignette was modified in the Placebo experiments, as indicated in
Online Appendix B.2.
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A man is returning to Britain from an overseas holiday. In his suitcase he is carrying cash
worth €9,900. In the airport he notices a sign informing passengers that it is illegal to
bring cash worth more than €10,000 into Britain from overseas without declaring it to

customs. After reading the sign, the man enters the country without declaring the cash
to customs.

How socially appropriate would most people think it is for the man to enter the country
without declaring the cash to customs?

Very socially appropriate
Somewhat socially appropriate
Somewhat socially inapproprate

Very socially inappropriate

Remember that by socially appropriate we mean behaviour that most people taking this
survey would agree is the "right thing to do" (regardless of whether it is legal or not). You
can earn £30 from this question (if it is selected for payment) only if you give the same
answer as the answer provided by the highest number of participants in this survey.
Remember that all participants in this survey are British and recruited online.

e The wording of this vignette was modified in the Placebo experiments, as indicated in
Online Appendix B.2.
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Finally, please consider five additional scenarios and answer some guestions about them.
These scenarios will be either the same as, or similar to, some of the scenarios you
have already considered.

Not included in the student, Placebo or “Bad” law experiments.

In the second-order beliefs opinion matching version of the Main experiment, the
following sentence was added at the bottom of the screen: In the following questions we
are asking about your own opinions, not your predictions of how others would answer
them.

In the first-order Prosocial traits experiment, this screen read:

Finally, please consider one additional hypothetical person and answer some questions
about their described behaviour. This behaviour will be either the same as, or similar to,
the behaviour of one of the people you have already considered.

In the second-order Prosocial traits experiment, it read:

Finally, please consider one additional hypothetical person and answer some questions
about their described behaviour. This behaviour will be either the same as, or similar to,

the behaviour of one of the people you have already considered.

In these questions, you should answer by stating your own opinions, rather than
predicting the answers of others.
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(The following questions about the five scenarios were presented in random order in the Main

experiment, except for the student version where they were not included. In the Prosocial traits

experiment, only the questions about the vignette that was randomly presented to subjects were
displayed.)

Party scenario

A 20 year old man meets a girl at a party. The man invites the girl to come to his home,
and she agrees. At his home, the man tells the girl he wants to have sex with her, but
that she looks young, and asks whether she is above the legal age of consent of 16 years.
The girl tells the man that she is aged 15 years and 11 months (which is below the
minimum legal age of 16 years), and shows him an ID card which confirms this. She tells
the man that she wants to have sex with him. The man then has sex with the girl.

In this scenario, do you think the man has broken the law?

Definitely

Probably

Probably not

Definitely not

e This screen, and the screen after next, were changed slightly after reviewing the
responses to our soft launch data (N=35) from the Krupka-Weber version of the Main
experiment, which revealed some subjects were misunderstanding these follow up
questions relating to each of the scenarios, incorrectly believing the questions were
asking about the version of the vignette they evaluated earlier. The sentence beginning
The girl tells the man...was not initially in bold, and the parentheses (which is below the
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minimum legal age of 16 years) was absent. Other experiments in which these screens
were present always featured the updated versions.

Please very briefly explain your choice of answer for the previous question.

Not included if subject answered Definitely to previous question)
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Party scenario (continued)

4 20 y=ar old man meets a girl at a party. The man invites the girl to come to kis home,
and she agress. At hiz home, the man tells the girl he wants to have sex with her, but
that she looks young, and asks whether she is above the legal age of consent of 14
years. The girl tells the man that she is aged 15 years and 11 months (which is below
the minimum legal age of 16 years), and shows him an 1D card which confirms this. She
tells the man that she wants to have sex with him. The man then has sex with the girl.

If the: man in this scen had wanied o avoid breaking the law, to whal extent would achieving this

heve besan within the man's control?

It would have been completely within his control

It would have been to a large extent within his control

It would have been to a small extent within his contral

It would have been completely out of his control

Suppose the palice obseree this be or. How accurately can the pdlice delec! whether the man in

this scenaria has broken the law?

Wery accurately (beyond reasonable doubt)

Somewhat acourately

Somewhat maccurately

Wery inaccurately

Suppose the palice have evidence, beyand reasonable doubd, that the man in this scenanio has broken

Very likely

Somewhat likely

Somewhat unlikely

Wery unikely
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Shop scenario

A youth enters a local shop with the intention of buying some beer. He sees a sign in the
shop reminding customers that in Britain it is illegal for shopkeepers to sell alcohol to

people younger than 18 years. The shopkeeper knows the youth personally, and knows
that he is aged 17 years and 11 months (which is below the minimum legal age of 18
years). The shopkeeper knows that the youth often gets drunk and vandalises property in

his neighbourhood. The youth, who appears sober, asks to buy a box containing 20
alcoholic beers, and the shopkeeper sells it to him.

In this scenario, do you think the shopkeeper has broken the law?

Definitely
Probably
Probably not

Definitely not

This screen, and the screen after next, were changed slightly after reviewing the
responses to our soft launch data (N=35) from the Krupka-Weber version of the Main
experiment, which revealed some subjects were misunderstanding these follow up
questions relating to each of the scenarios, incorrectly believing the questions were
asking about the version of the vignette they evaluated earlier. The sentence beginning
The shopkeeper knows the youth...was not initially in bold, and the parentheses (which is
below the minimum legal age of 18 years) was absent. Other experiments in which these
screens were present always featured the updated versions.
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Please very briefly explain your choice of answer for the previous question.

e Not included if subject answered Definitely to previous question
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shop scenario (continued)

A youth enters a local shop with the intention of buying some besr. He sees a sign in the
shop reminding customers that in Britain it i illegal for shopkespers to sell alcohol to
peopls younger than 13 years. The shopkeeper knows the youth personally, and knows
that he is aged 17 years and 44 months {which is below the minimum legal age of 18
years). The shopkesper knows that the youth often gets drunk and vandalises property in
hiz neighbourhood. The youth, who appears sober, asks to buy a box containing 20
alcoholic beers, and the shopkeeper sells it to him.

id breaking e w, o what extent would achieving

1t would hawe been completety within the shopkeeper's control
1t would hawe been to a large extent within the shopkesper's control
1t would hawe been to a small extent within the shopkeepers cantral

1t would hawe been completely out of the shopkeeper's control

Supposz the polic: obsarve this beh r. How accurstely can the palice delect whether the
shapheeper i broken the aw?

Wery accurately (beyond reasonable doubty
Somewhat acouratsly
Somewhat inaccurately

Wery inaccurately

Suppuoss the palics have evidencs, beyand ! 1, he shapkeeper in this scenanio has

berben o . How likely would ] i lhe shapleeper?
Wery likely
Somewhat Likely
Somewhat unlikely

Weary Lnikedy
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Bar scenario

A woman works for a company which manufactures state-of-the-art breathalysers,
machines which can measure a person’s blood alcohol content with extremely high

accuracy. One day, after drinking in a bar in a city in England, the woman remembers she

has one of the breathalysers in her bag, and wonders whether her blood alcohol content
is below 0.08%, the maximum level at which a person can legally drive in England. She
tests herself and discovers that her blood alcohol content is 0.081% (which is above
the maximum legal level of 0.08%). The woman then drives home.

In this scenario, do you think the woman has broken the law?

Definitely
Probably
Probably not

Definitely not

This screen, and the screen after next, were changed slightly after reviewing the
responses to our soft launch data (N=35) from the Krupka-Weber version of the Main
experiment, which revealed some subjects were misunderstanding these follow up
questions relating to each of the scenarios, incorrectly believing the questions were
asking about the version of the vignette they evaluated earlier. The sentence beginning
She tests herself...was not initially in bold, and the parentheses (which is above the
maximum legal level of 0.08%) was absent. Other experiments in which these screens
were present always featured the updated versions.
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Please very briefly explain your choice of answer for the previous question.

e Not included if subject answered Definitely to previous question
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Bar scenario (continued)

A woman works for a company which manufacturss stabe-of-the-art breathalysers,
machines which can measurs a person's blood aloghol content with extremely high
accuracy. One day, after drinking in a bar in a city in England, the woman remembers she
has one of the breathalyssrs in her bag, and wonders whether her blood alcohol content
i= below 0.08%, the maximum level at which a person can legally drive in England. She
tests herself and discovers that her blood alcohol content is 0.084% (which is above
the maximum legal level of 0.08%). The wornan then drives home.

If the wom this scenario hi led tar Erreria fie b [ tent wawld achieving this

have besn within Be woman's control?

1t would have been completely within ber control

1t would have been to a large extent within her control

It would have been to a small extent within her contral

1t would have been completely out af her control

Suppoese the palios obseree this behaior. How accurstely can the pdios delect whether the woman in

this scenaria has broken the lzw?

Wery accurately |beyond reasonable doubt)

Somewhat accurately

Somewhat naccurately

Wery inaccurately

Suppeses the polics have evidences, beyond ressanable doubd, that the woman in this scenario has

. How likely would $hey be (o lake actior inst the woman?”

Weary Likely

Somewhat likely

Somewhat unlikely

Wery Lmikely
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Airport scenario

A man is returning to Britain from an overseas holiday. In his suitcase he is carrying cash
worth €10,100 (which is above the maximum legal amount of €10,000). In the airport
he notices a sign informing passengers that it is illegal to bring cash worth more than
€10,000 into Britain from overseas without declaring it to customs. After reading the sign,
the man enters the country without declaring the cash to customs.

In this scenario, do you think the man has broken the law?

Definitely
Probably
Probably not

Definitely not

This screen, and the screen after next, were changed slightly after reviewing the
responses to our soft launch data (N=35) from the Krupka-Weber version of the Main
experiment, which revealed some subjects were misunderstanding these follow up
questions relating to each of the scenarios, incorrectly believing the questions were
asking about the version of the vignette they evaluated earlier. The sentence beginning In
his suitcase...was not initially in bold, and the parentheses (which is above the maximum
legal amount of €10,000) was absent. Other experiments in which these screens were
present always featured the updated versions.
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Please very briefly explain your choice of answer for the previous question.

e Not included if subject answered Definitely to previous question.
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Alrport scenario (continued)

& man is returning te Britain from an overseas holiday in his suitcase he is carrying cash
worth €40,100 (which is above the maximum legal amount of €10,000). In the airport
he notices a sign informing passengers that it is ill=gal to bring cash worth more than
€10,000 inte Eritain from overseas without declaring it to customs. after reading the
sign, the man enters the country without declaring the cash to customs.

If the m:

have beer

It would have been completely within his control

It would hawe been to a large extent within his control

It would hawe been to a small extent within his contral

1t would hawe been completely out of his cantral

Supposs the palice observe this be . How aco ely can the palice delect whether the man in

this scenario has braken the lew?

Wery accurately (beyond reasonable doubt)

Somewhat accurately

Somewhat naccurately

Wery inaccurately

Suppose the palios have evidence, beyand reasonable doubt, that the man in tis scenario has broken

the law. How likely would they be to ake action sgairst the m,

Yery likely

Somewhat likely

Somewhat unlikely

Wery wnikely
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Driving scenario

A woman is driving between two cities in order to attend a meeting. She turns onto a
road and notices a sign informing motorists that the legal speed limit on the road is 70

miles per hour. The woman drives for the next five minutes at 71 miles per hour

(which is above the maximum legal speed of 70 miles per hour), before turning onto a
different road.

In this scenario, do you think the woman has broken the law?

Definitely
Probably
Probably not

Definitely not

This screen, and the screen after next, were changed slightly after reviewing the
responses to our soft launch data (N=35) from the Krupka-Weber version of the Main
experiment, which revealed some subjects were misunderstanding these follow up
questions relating to each of the scenarios, incorrectly believing the questions were
asking about the version of the vignette they evaluated earlier. The sentence beginning
The woman drives...was not initially in bold, and the parentheses (which is above the
maximum legal speed of 70 miles per hour) was absent. Other experiments in which these
screens were present always featured the updated versions.
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Please very briefly explain your choice of answer for the previous question.

e Not included if subject answered Definitely to previous question.
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Driving scenario (contnuad)

A woman is driving betwesn two cities in arder to attend a mesting. She turns onto &
road and notices a sign informing motorists that the legal spesd limit on the road is 70
miles per hour. The woman drives for the next five minutes at 74 miles per hour
{which is above the maximum legal speed of 70 miles per hour), before turning onto a
diffierent road.

I thes woman in this soenario had wanied to svaid bresking the bw, o what extent would achieving th

haywe: ieen within the waman's control?

1t would have been complete=ty within her control

It would have been to a large extent within her control

1t would hawe been to a small extent within ber cantral

It would have been completely out of her control

Buppoaes the palice obsere this beb . How ace ely can the palioe delect whether the wom:

this scemaria has broken the lew?

Wery accurately (beyond reasonable doubt)

Somewhat scourately

Somewhat naccurately

Wery inaccurately

Suppose the palice b evidence, beyond ressonable doubd, that the woman in this scenano has

brrbuen the law. How likely would $hey be (o ke sction against the woman?*

Wery likely

Somewhat likely

Somewhat unlikely

Wery unikely
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(The following three vignettes were presented in random order)
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D. Distributions of appropriateness ratings in the experiments

D.1. Main experiment

TABLE D1: APPROPRIATENESS OF SEX IN AGE OF CONSENT VIGNETTE:
DISTRIBUTION OF RATINGS — MAIN EXPERIMENT

Very (socially) Somewhat (socially) | Somewhat (socially) Very (socially)
inappropriate inappropriate appropriate appropriate
Sample 1: UK Students, Krupka-Weber method
16, 3 16.7 35.4 29.2 18.8
Age of girl 16,1 233 27.9 30.2 18.6
(years,
months) 15,11 66.7 333 0.0 0.0
15,9 59.0 31.2 9.8 0.0
Sample 2: UK General population, Krupka-Weber method
16, 4 5.3 26.3 26.3 42.1
16,3 8.0 24.0 46.0 22.0
16,2 10.0 175 45.0 275
Age of girl 16, 1 6.4 23.8 49.2 20.6
(years,
15,10 77.1 8.6 8.6 5.7
15,9 76.5 13.7 7.8 2.0
15,8 83.8 8.1 2.7 5.4
Sample 2: UK General population, Opinion matching — first order beliefs
16, 4 51 25.6 333 35.9
16, 3 16.7 16.7 54.8 11.9
16, 2 14.6 34.2 26.8 24.4
Age of girl 16,1 16.9 33.9 33.9 15.4
(years,
15, 10 95.5 4.6 0.0 0.0
15,9 87.8 12.2 0.0 0.0
15,8 87.5 6.3 31 3.1
Sample 2: UK General population, Opinion matching — second order beliefs
16, 4 21.9 25.0 34.4 18.8
16, 3 10.3 28.2 43.6 18.0
16,2 14.6 29.3 31.7 24.4
Age of girl 16, 1 222 33.3 27.8 16.7
(years,
15,10 91.8 8.2 0.0 0.0
15,9 87.5 10.0 25 0.0
15,8 89.2 10.8 0.0 0.0

Notes: Table D1 displays the percentages of subjects, by sample and treatment, who chose each evaluation in the Age of consent
vignette. In each case, the modal evaluation is shaded.
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TABLE D2: APPROPRIATENESS OF SALE IN ALCOHOL TO YOUTH VIGNETTE:
DISTRIBUTION OF RATINGS — MAIN EXPERIMENT

\_/ery (soci_al)y Somewhat (S(_Jcially) Somewhat (s_ocially) Very (soc_ially)
inappropriate inappropriate appropriate appropriate
Sample 1: UK Students, Krupka-Weber method
18, 3 24 26.2 45.2 26.2
Age of youth 18,1 17 328 39.7 25.9
(years,
months) 17,11 73.9 23.9 2.2 0.0
17,9 82.4 13.7 3.9 0.0
Sample 2: UK General population, Krupka-Weber method
18,4 20.0 45.0 25.0 10.0
18,3 11.6 25.6 30.2 32.6
18,2 12.5 33.3 33.3 20.8
Age of youth 18,1 115 36.1 41.0 115
(years,
months) 17,11 83.0 132 1.9 1.9
17,10 83.3 9.5 4.8 24
17,9 72.2 13.9 8.3 5.6
17,8 86.5 9.6 3.9 0.0
Sample 2: UK General population, Opinion matching — first order beliefs
18,4 6.1 27.3 39.4 27.3
18,3 10.0 30.0 46.7 13.3
18, 2 9.4 28.1 28.1 34.4
Age of youth 18,1 10.0 25.0 43.3 217
(years,
months) 17,11 85.5 13.0 0.0 15
17,10 90.5 9.5 0.0 0.0
17,9 86.4 13.6 0.0 0.0
17,8 96.9 31 0.0 0.0
Sample 2: UK General population, Opinion matching — second order beliefs
18, 4 8.1 35.1 35.1 21.6
18,3 15.0 35.0 40.0 10.0
18,2 0.0 40.0 36.0 24.0
Age of youth 18,1 7.3 29.1 41.8 21.8
(years,
months) 17,11 87.0 13.0 0.0 0.0
17,10 84.8 15.2 0.0 0.0
17,9 93.2 6.8 0.0 0.0
17,8 87.9 9.1 3.0 0.0

Notes: Table D2 displays the percentages of subjects, by sample and treatment, who chose each evaluation in the Alcohol to
youth vignette. In each case, the modal evaluation is shaded.

102



TABLE D3: APPROPRIATENESS OF NON-DECLARATION IN CASH AT CUSTOMS
VIGNETTE: DISTRIBUTION OF RATINGS — MAIN EXPERIMENT

\_/ery (sociglly) Somewhat (S(_Jcially) Somewhat (s_ocially) Very (soc_ially)
inappropriate inappropriate appropriate appropriate
Sample 1: UK Students, Krupka-Weber method

9,700 2.6 0.0 15.4 82.0

Ifng‘gﬁgé 9,900 0.0 42 125 83.3

(Euros) 10,100 5.6 57.4 27.8 9.3

10,300 12.5 57.1 26.8 3.6

Sample 2: UK General population, Krupka-Weber method

9,600 10.3 2.6 12.8 74.4

9,700 9.5 11.9 33.3 45.2

9,800 4.7 4.7 18.6 72.1

Amount 9,900 3.2 7.9 12.7 76.2
imported

(Euros) 10,100 14.8 49.2 31.2 4.9

10,200 17.8 55.6 15.6 111

10,300 18.4 44.7 34.2 2.6

10,400 18.2 45.5 31.8 4.6

Sample 2: UK General population, Opinion matching — first order beliefs

9,600 2.1 21 12.8 83.0

9,700 0.0 2.6 10.5 86.8

9,800 0.0 3.9 7.7 88.5

Ifn?gr‘igg 9,900 48 16 145 79.0

(Euros) 10,100 115 50.0 26.9 115

10,200 13.0 54.4 26.1 6.5

10,300 24.3 46.0 24.3 5.4

10,400 17.7 58.8 235 0.0

Sample 2: UK General population, Opinion matching — second order beliefs

9,600 7.7 0.0 7.7 84.6

9,700 0.0 0.0 2.5 97.5

9,800 0.0 2.8 0.0 97.2

Imgr‘igé 9,900 48 16 6.4 87.3

(Euros) 10,100 14.8 50.8 23.0 115

10,200 121 60.6 21.2 6.1

10,300 54 62.2 24.3 8.1

10,400 15.8 63.2 13.2 79

Notes: Table D3 displays the percentages of subjects, by sample and treatment, who chose each evaluation in the Cash at customs
vignette. In each case, the modal evaluation is shaded.
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TABLE D4: APPROPRIATENESS OF DRIVING IN DRINK DRIVING VIGNETTE:
DISTRIBUTION OF RATINGS — MAIN EXPERIMENT

Very (socially)
inappropriate

Somewhat (socially)
inappropriate

Somewhat (socially)

appropriate

Very (socially)
appropriate

Sample 1: UK Students, Krupka-Weber method
0.077% 8.2 32.7 42.9 16.3
a?ggﬁgl 0.079% 12,5 313 375 188
content 0.081% 18.4 61.2 16.3 4.1
0.083% 255 54.9 17.7 2.0
Sample 2: UK General population, Krupka-Weber method
0.076% 21.6 24.3 35.1 18.9
0.077% 22.6 18.9 28.3 30.2
0.078% 25.7 20.0 40.0 14.3
a'i!gﬁgl 0.079% 155 239 36.6 23.9
content 0.081% 45.3 32.0 16.0 6.7
0.082% 42.4 42.4 12.1 3.0
0.083% 50.0 25.0 13.9 111
0.084% 42.9 42.9 8.6 5.7
Sample 2: UK General population, Opinion matching — first order beliefs
0.076% 15.4 41.0 30.8 12.8
0.077% 20.6 294 38.2 11.8
0.078% 24 415 43.9 12.2
a?ggﬁgl 0.079% 14.8 37.0 27.8 20.4
content 0.081% 46.3 37.0 13.0 3.7
0.082% 52.3 40.9 2.3 4.6
0.083% 64.3 28.6 7.1 0.0
0.084% 61.8 35.3 29 0.0
Sample 2: UK General population, Opinion matching — second order beliefs
0.076% 16.1 25.8 35.5 22.6
0.077% 10.9 32.6 37.0 19.6
0.078% 11.1 33.3 48.2 7.4
a‘i‘gggl 0.079% 6.0 34.0 40.0 200
content 0.081% 36.4 455 18.2 0.0
0.082% 56.5 23.9 13.0 6.5
0.083% 51.4 324 10.8 5.4
0.084% 59.5 28.6 11.9 0.0

Notes: Table D4 displays the percentages of subjects, by sample and treatment, who chose each evaluation in the Drink driving
vignette. In each case, the modal evaluation is shaded.
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TABLE D5: APPROPRIATENESS OF SPEED IN SPEEDING VIGNETTE:
DISTRIBUTION OF RATINGS — MAIN EXPERIMENT

Very (socially)
inappropriate

Somewhat (socially)
inappropriate

Somewhat (socially)

appropriate

Very (socially)
appropriate

Sample 1: UK Students, Krupka-Weber method
67 0.0 19 19.2 78.9
Speed (miles 69 0.0 0.0 10.0 90.0
per hour) 71 0.0 43 426 53.2
73 5.2 31.0 37.9 25.9
Sample 2: UK General population, Krupka-Weber method

66 4.0 14.0 14.0 68.0
67 2.7 5.4 29.7 62.2
68 24 11.9 26.2 59.5
Speed (miles 69 0.0 7.8 216 70.6
per hour) 71 5.1 305 424 220
72 121 39.4 21.2 27.3
73 14.0 34.0 42.0 10.0
74 151 47.2 245 13.2

Sample 2: UK General population, Opinion matching — first order beliefs
66 0.0 2.8 19.4 77.8
67 0.0 0.0 6.5 93.6
68 0.0 0.0 15.4 84.6
Speed (miles 69 0.0 0.0 27.8 72.2
per hour) 71 2.7 384 411 178
72 51 56.4 30.8 7.7
73 12.5 31.3 37.5 18.8
74 18.4 52.6 18.4 10.5

Sample 2: UK General population, Opinion matching — second order beliefs

66 0.0 0.0 8.9 91.1
67 0.0 0.0 111 88.9
68 0.0 2.9 11.4 85.7
Speed (miles 69 0.0 0.0 13.0 87.0
per hour) 71 74 333 407 185
72 5.6 38.9 27.8 27.8
73 7.1 47.6 42.9 2.4
74 220 48.8 17.1 12.2

Notes: Table D5 displays the percentages of subjects, by sample and treatment, who chose each evaluation in the Speeding
vignette. In each case, the modal evaluation is shaded.
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D.2. Placebo experiment

Krupka-Weber Method

TABLE D6: APPROPRIATENESS OF SEX IN AGE OF CONSENT VIGNETTE:
DISTRIBUTION OF RATINGS - PLACEBO EXPERIMENT, KRUPKA-WEBER

METHOD
Very socially Somewhat socially | Somewhat socially Very socially
inappropriate inappropriate appropriate appropriate
16, 4 40.0 17.1 34.3 8.6
16, 3 11.4 43.2 34.1 11.4
16,2 22.7 40.9 25.0 114
16,1 23.6 30.6 33.3 125
15,11 93.0 7.0 0.0 0.0
. 15, 10 87.5 12.5 0.0 0.0
Age of girl
(years, 15,9 92.3 5.8 1.9 0.0
months)
15,8 92.3 7.7 0.0 0.0
15,7 91.4 7.1 14 0.0
15,5 93.0 5.6 1.4 0.0
15,4 93.3 6.7 0.0 0.0
15,3 96.7 3.3 0.0 0.0
15,2 97.9 21 0.0 0.0

Notes: Table D6 displays the percentages of subjects, by treatment, who chose each social appropriateness evaluation in the Age
of consent vignette. In each case, the modal evaluation is shaded.
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TABLE D7: APPROPRIATENESS OF SALE IN ALCOHOL TO YOUTH VIGNETTE:
DISTRIBUTION OF RATINGS - PLACEBO EXPERIMENT, KRUPKA-WEBER

METHOD
Very socially Somewhat socially | Somewhat socially Very socially
inappropriate inappropriate appropriate appropriate
18, 10 9.3 14.0 48.8 27.9
18,9 2.2 17.4 41.3 39.1
18,8 5.6 16.7 37.0 40.7
18,7 6.0 14.0 40.0 40.0
18,5 11.9 134 43.3 313
18,4 6.5 15.2 37.0 41.3
Age of youth
(years, 18,3 4.6 27.3 29.6 38.6
months)
18,2 2.0 19.6 31.4 47.1
18,1 8.2 18.0 34.4 39.3
17,11 76.8 21.4 0.0 1.8
17,10 83.7 14.0 2.3 0.0
17,9 71.1 29.0 0.0 0.0
17,8 75.9 22.2 0.0 1.9

Notes: Table D7 displays the percentages of subjects, by treatment, who chose each social appropriateness evaluation in the
Alcohol to youth vignette. In each case, the modal evaluation is shaded.
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TABLE D8: APPROPRIATENESS OF NON-DECLARATION IN CASH AT CUSTOMS
VIGNETTE: DISTRIBUTION OF RATINGS - PLACEBO EXPERIMENT, KRUPKA-
WEBER METHOD

Very socially Somewhat socially | Somewhat socially Very socially
inappropriate inappropriate appropriate appropriate
9,600 3.8 7.6 15.1 73.6
9,700 51 15.4 20.5 59.0
9,800 0.0 7.1 10.7 82.1
9,900 0.0 8.5 234 68.1
10,100 8.3 58.3 23.3 10.0
Amount 10,200 9.8 43.9 415 4.9
imported
(Euros) 10,300 11.1 37.0 40.7 11.1
10,400 10.6 48.5 33.3 7.6
10,600 18.6 57.1 214 2.9
10,700 26.5 55.1 14.3 4.1
10,800 21.6 52.9 23.5 2.0
10,900 255 46.8 27.7 0.0

Notes: Table D8 displays the percentages of subjects, by treatment, who chose each social appropriateness evaluation in the Cash
at customs vignette. In each case, the modal evaluation is shaded.

TABLE D9: APPROPRIATENESS OF DRIVING IN DRINK DRIVING VIGNETTE:
DISTRIBUTION OF RATINGS - PLACEBO EXPERIMENT, KRUPKA-WEBER

METHOD
Very socially Somewhat socially | Somewhat socially Very socially
inappropriate inappropriate appropriate appropriate
0.071% 22.0 22.0 36.0 20.0
0.072% 16.7 22.9 29.2 31.3
0.073% 15.7 294 27.5 275
0.074% 9.7 27.4 40.3 22.6
0.076% 17.1 355 36.8 10.5
a?!gﬁgl 0.077% 229 35.4 27.1 146
content 0.078% 18.2 36.4 36.4 9.1
0.079% 247 44.2 18.2 13.0
0.081% 40.7 44.1 13.6 1.7
0.082% 62.2 26.7 8.9 2.2
0.083% 70.6 235 3.9 2.0
0.084% 71.4 26.2 2.4 0.0

Notes: Table D9 displays the percentages of subjects, by treatment, who chose each social appropriateness evaluation in the
Drink driving vignette. In each case, the modal evaluation is shaded.
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TABLE D10: APPROPRIATENESS OF SPEED IN SPEEDING VIGNETTE:
DISTRIBUTION OF RATINGS - PLACEBO EXPERIMENT, KRUPKA-WEBER

METHOD
Yery sociglly Somewhat sqcially Somewhat spcially Very soc_ially
inappropriate inappropriate appropriate appropriate
66 0.0 11.3 22.6 66.0
67 2.3 9.3 23.3 65.1
68 0.0 4.2 8.3 87.5
69 1.6 1.6 10.9 85.9
71 4.9 29.5 32.8 32.8
Speed (miles 72 5.7 39.6 35.9 18.9
per hour) 73 145 355 323 177
74 18.3 36.7 41.7 3.3
76 25.0 45.3 234 6.3
77 49.0 30.6 12.2 8.2
78 34.2 58.5 4.9 24
79 32.7 49.1 10.9 7.3

Notes: Table D10 displays the percentages of subjects, by treatment, who chose each social appropriateness evaluation in the
Speeding vignette. In each case, the modal evaluation is shaded.
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Opinion-matching Method

TABLE D11: APPROPRIATENESS OF SEX IN AGE OF CONSENT VIGNETTE:
DISTRIBUTION OF RATINGS - PLACEBO EXPERIMENT, OPINION-MATCHING

METHOD
Very inappropriate _ Somewh_at Somew_hat Very appropriate
inappropriate appropriate
First-order beliefs

16, 4 10.5 52.6 31.6 5.3

16, 3 27.8 33.3 33.3 5.6

16, 2 16.7 50.0 333 0.0

16,1 259 33.3 33.3 7.4

15,11 85.7 10.7 3.6 0.0

Age of girl 15, 10 95.2 4.8 0.0 0.0
(years, 15,9 100.0 0.0 0.0 0.0
months) 15,8 87.5 6.3 6.3 0.0
15,7 84.0 16.0 0.0 0.0

15,5 92.9 7.1 0.0 0.0

15,4 94.4 5.6 0.0 0.0

15,3 100.0 0.0 0.0 0.0

15,2 94.1 5.9 0.0 0.0

Second-order beliefs

16, 4 18.6 37.2 25.6 18.6

16, 3 33.3 16.7 33.3 16.7

16, 2 15.4 30.8 38.5 154

16, 1 315 22.2 38.9 7.4

15,11 82.4 11.8 4.4 15

Age of girl 15, 10 85.7 114 2.9 0.0
(years, 15,9 91.3 8.7 0.0 0.0
months) 15,8 90.7 9.3 0.0 0.0
15,7 89.9 8.7 15 0.0

15,5 90.6 7.8 16 0.0

15, 4 96.0 4.0 0.0 0.0

15,3 97.1 2.9 0.0 0.0

15,2 89.4 6.4 2.1 21

Notes: Table D11 displays the percentages of subjects, by treatment, who chose each evaluation in the Age of consent vignette. In
each case, the modal evaluation is shaded.
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TABLE D12: APPROPRIATENESS OF SALE IN ALCOHOL TO YOUTH VIGNETTE:
DISTRIBUTION OF RATINGS - PLACEBO EXPERIMENT, OPINION-MATCHING

METHOD
Very inappropriate Somewhat Somewhat Very appropriate
inappropriate appropriate
First-order beliefs

18, 10 0.0 214 714 7.1

18,9 12.5 12.5 37.5 37.5

18, 8 8.7 21.7 30.4 39.1

18,7 0.0 0.0 30.8 69.3

18,5 13.9 13.9 27.8 44.4

Age of youth 18,4 0.0 18.8 31.3 50.0
(years, 18,3 6.7 26.7 46.7 20.0
months) 18,2 4.0 8.0 36.0 52.0
18,1 3.6 28.6 28.6 39.3

17,11 73.9 26.1 0.0 0.0

17,10 82.4 17.7 0.0 0.0

17,9 92.3 7.7 0.0 0.0

17,8 61.5 385 0.0 0.0

Second-order beliefs

18, 10 4.0 26.0 34.0 36.0

18,9 7.1 9.5 33.3 50.0

18,8 2.5 15.0 42.5 40.0

18,7 0.0 12.2 40.8 46.9

18,5 11.1 15.9 36.5 36.5

Age of youth 18,4 79 10.5 42.1 395
(years, 18,3 3.7 9.3 48.2 38.9
months) 18, 2 111 22.2 44.4 22.2
18,1 8.0 22.7 37.3 32.0

17,11 82.9 15.8 0.0 13

17,10 88.9 111 0.0 0.0

17,9 86.8 7.9 5.3 0.0

17,8 77.1 171 5.7 0.0

Notes: Table D12 displays the percentages of subjects, by treatment, who chose each evaluation in the Alcohol to youth vignette.
In each case, the modal evaluation is shaded.
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TABLE D13: APPROPRIATENESS OF NON-DECLARATION IN CASH AT CUSTOMS
VIGNETTE: DISTRIBUTION OF RATINGS - PLACEBO EXPERIMENT, OPINION-
MATCHING METHOD

Very inappropriate . Somewh.at Somewhat Very appropriate
inappropriate appropriate
First-order beliefs
9,600 0.0 13.6 22.7 63.6
9,700 0.0 6.9 10.3 82.8
9,800 7.1 14.3 28.6 50.0
9,900 0.0 0.0 18.8 81.2
10,100 214 50.0 17.9 10.7
Amount 10,200 8.3 45.8 41.7 4.2
imported
(Euros) 10,300 25.0 62.5 6.3 6.3
10,400 38.1 28.6 28.6 4.8
10,600 35.5 38.7 22.6 3.2
10,700 17.4 52.2 13.0 17.4
10,800 47.4 15.8 31.6 5.3
10,900 35.3 41.2 23.5 0.0
Second-order beliefs
9,600 3.8 19 20.8 73.6
9,700 3.2 9.5 9.5 77.8
9,800 4.9 7.3 19.5 68.3
9,900 5.3 5.3 14.7 74.7
10,100 13.8 48.3 25.9 12.1
Amount 10,200 15.8 52.6 21.1 10.5
imported
(Euros) 10,300 125 64.6 16.7 6.3
10,400 20.6 52.4 20.6 6.4
10,600 30.7 53.2 14.5 1.6
10,700 311 42.2 22.2 4.4
10,800 259 48.3 24.1 1.7
10,900 37.8 40.5 21.6 0.0

Notes: Table D13 displays the percentages of subjects, by treatment, who chose each evaluation in the Cash at customs vignette.
In each case, the modal evaluation is shaded.
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TABLE D14: APPROPRIATENESS OF DRIVING IN DRINK DRIVING VIGNETTE:
DISTRIBUTION OF RATINGS - PLACEBO EXPERIMENT, OPINION-MATCHING

METHOD
Very inappropriate Somewhat Somewhat Very appropriate
inappropriate appropriate
First-order beliefs
0.071% 15.0 15.0 35.0 35.0
0.072% 6.3 18.8 62.5 12.5
0.073% 17.7 23.5 29.4 29.4
0.074% 18.5 33.3 33.3 14.8
0.076% 25.9 37.0 25.9 1.1
ai'gﬁgl 0.077% 333 417 8.3 16.7
content 0.078% 214 53.6 25.0 0.0
0.079% 14.3 42.9 25.0 17.9
0.081% 54.8 32.3 12.9 0.0
0.082% 60.0 20.0 13.3 6.7
0.083% 42.9 50.0 7.1 0.0
0.084% 84.0 12.0 4.0 0.0
Second-order beliefs
0.071% 4.7 27.9 53.5 14.0
0.072% 225 22.5 25.0 30.0
0.073% 14.9 8.5 40.4 36.2
0.074% 6.4 31.8 39.7 22.2
0.076% 235 35.3 33.8 7.4
a?ggﬁgl 0.077% 235 451 216 9.8
content 0.078% 25.5 35.3 314 7.8
0.079% 27.7 26.2 32.3 13.9
0.081% 52.8 38.9 8.3 0.0
0.082% 60.4 34.0 1.9 3.8
0.083% 62.5 35.0 2.5 0.0
0.084% 62.5 29.2 8.3 0.0

Notes: Table D14 displays the percentages of subjects, by treatment, who chose each evaluation in the Drink driving vignette. In
each case, the modal evaluation is shaded.
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TABLE D15: APPROPRIATENESS OF SPEED IN SPEEDING VIGNETTE:
DISTRIBUTION OF RATINGS - PLACEBO EXPERIMENT, OPINION-MATCHING

METHOD
Very inappropriate . Somewh.at Somewhat Very appropriate
inappropriate appropriate
First-order beliefs

66 5.3 10.5 31.6 52.6

67 4.8 0.0 9.5 85.7

68 7.7 0.0 23.1 69.2

69 0.0 12.5 12.5 75.0

71 2.3 30.2 44.2 23.3

Speed (miles 72 16.7 33.3 41.7 8.3
per hour) 73 35.7 35.7 143 143
74 4.4 47.8 435 4.4

76 30.0 56.7 3.3 10.0

77 39.1 34.8 26.1 0.0

78 38.1 47.6 9.5 4.8

79 32.0 64.0 4.0 0.0

Second-order beliefs

66 0.0 4.4 22.2 73.3

67 2.1 8.5 17.0 72.3

68 0.0 8.3 12.5 79.2

69 0.0 18 12.3 86.0

71 4.6 36.9 40.0 18.5

Speed (miles 72 18.9 37.7 34.0 9.4
per hour) 73 12.8 53.9 23.1 103
74 36.5 46.0 15.9 1.6

76 33.8 47.3 16.2 2.7

77 48.8 395 11.6 0.0

78 429 44.6 12.5 0.0

79 43.1 54.9 2.0 0.0

Notes: Table D15 displays the percentages of subjects, by treatment, who chose each evaluation in the Speeding vignette. In each
case, the modal evaluation is shaded.
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D.3. Prosocial traits experiment

TABLE D16: TRUSTWORTHINESS IN AGE OF CONSENT VIGNETTE:
DISTRIBUTION OF RATINGS

Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs

16, 4 5.0 25.0 65.0 5.0

16, 3 20.0 20.0 53.3 6.7

16, 2 7.1 42.9 429 7.1

Age of girl 16,1 6.1 36.4 51.5 6.1
(years,

months) 15,11 273 455 22.7 4.6

15, 10 35.3 52.9 59 5.9

15,9 46.7 46.7 0.0 6.7

15,8 30.8 231 46.2 0.0

Second order beliefs

16, 4 4.8 33.9 56.5 4.8

16, 3 12.0 32.0 44.0 12.0

16, 2 115 26.9 50.0 115

Age of girl 16,1 8.3 33.3 46.7 11.7
(years,

months) 15, 11 30.0 51.7 16.7 1.7

15, 10 43.2 341 20.5 2.3

15,9 45.5 34.1 18.2 2.3

15,8 36.1 47.2 13.9 2.8

Notes: Table D16 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
man in the Age of consent vignette keeping a promise to a friend. In each case, the modal evaluation is shaded.
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TABLE D17: HONESTY IN AGE OF CONSENT VIGNETTE: DISTRIBUTION OF

RATINGS
Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs

16, 4 20.0 30.0 45.0 5.0

16, 3 20.0 53.3 26.7 0.0

16, 2 28.6 50.0 214 0.0

Age of girl 16,1 9.1 485 30.3 12.1
(years,

months) 15, 11 50.0 40.9 9.1 0.0

15, 10 58.8 294 59 59

15,9 53.3 46.7 0.0 0.0

15,8 46.2 385 15.4 0.0

Second order beliefs

16, 4 24.2 35.5 32.3 8.1

16, 3 32.0 46.0 8.0 14.0

16, 2 231 40.4 25.0 115

Age of girl 16,1 21.7 38.3 31.7 8.3
(years,

months) 15, 11 61.7 33.3 3.3 1.7

15, 10 59.1 36.4 4.6 0.0

15,9 56.8 43.2 0.0 0.0

15,8 61.1 33.3 5.6 0.0

Notes: Table D17 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
man in the Age of consent vignette returning excess change to a cashier. In each case, the modal evaluation is shaded.
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TABLE D18: ALTRUISM IN AGE OF CONSENT VIGNETTE: DISTRIBUTION OF

RATINGS
Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs

16, 4 35.0 50.0 15.0 0.0

16, 3 53.3 33.3 13.3 0.0

16, 2 429 42.9 14.3 0.0

Age of girl 16,1 24.2 48.5 27.3 0.0
(years,

months) 15, 11 773 13.6 9.1 0.0

15, 10 82.4 5.9 59 59

15,9 80.0 20.0 0.0 0.0

15,8 61.5 30.8 1.7 0.0

Second order beliefs

16, 4 54.8 40.3 4.8 0.0

16, 3 38.0 54.0 6.0 2.0

16, 2 51.9 38.5 5.8 3.9

Age of girl 16,1 40.0 45.0 15.0 0.0
(years,

months) 15, 11 75.0 23.3 17 0.0

15, 10 77.3 20.5 2.3 0.0

15,9 77.3 20.5 2.3 0.0

15,8 61.1 36.1 2.8 0.0

Notes: Table D18 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
man in the Age of consent vignette volunteering for charity. In each case, the modal evaluation is shaded.
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TABLE D19: TRUSTWORTHINESS IN ALCOHOL TO YOUTH VIGNETTE:
DISTRIBUTION OF RATINGS

Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs
18,4 0.0 30.0 60.0 10.0
18,3 0.0 8.3 66.7 25.0
18,2 0.0 25.0 58.3 16.7
Age of youth 18,1 0.0 10.0 66.7 23.3
(years,
months) 17,11 20.6 50.0 29.4 0.0
17,10 9.5 47.6 429 0.0
17,9 15.8 42.1 31.6 105
17,8 18.2 36.4 455 0.0
Second order beliefs
18, 4 6.7 15.6 55.6 22.2
18,3 2.1 18.8 56.3 22.9
18,2 3.7 16.7 59.3 20.4
Age of youth 18,1 4.6 15.4 61.5 18.5
(years,
months) 17,11 316 421 193 7.0
17,10 23.9 37.0 26.1 13.0
17,9 16.7 58.3 194 5.6
17,8 15.0 47.5 325 5.0

Notes: Table D19 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
shopkeeper in the Alcohol to Youth vignette keeping a promise to a friend. In each case, the modal evaluation is shaded. This
analysis excludes 7 subjects in the first-order beliefs treatment who, due to an experimental glitch, were presented with the word
‘appropriate’ instead of ‘likely’ in one of the possible responses..
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TABLE D20: HONESTY IN ALCOHOL TO YOUTH VIGNETTE: DISTRIBUTION OF

RATINGS
Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs
18,4 20.0 30.0 30.0 20.0
18,3 16.7 16.7 50.0 16.7
18,2 10.5 36.8 31.6 21.1
Age of youth 18,1 3.3 10.0 43.3 43.3
(years,
months) 17,11 38.2 441 14.7 2.9
17,10 42.9 33.3 14.3 9.5
17,9 15.8 47.4 26.3 105
17,8 18.2 36.4 36.4 9.1
Second order beliefs
18, 4 22.2 17.8 40.0 20.0
18,3 4.2 31.3 31.3 33.3
18,2 7.4 14.8 51.9 259
Age of youth 18,1 9.2 16.9 43.1 30.8
(years,
months) 17,11 49.1 211 17.5 12.3
17,10 43.5 23.9 28.3 4.4
17,9 444 30.6 16.7 8.3
17,8 325 40.0 22.5 5.0

Notes: Table D20 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
shopkeeper in the Alcohol to Youth vignette returning excess change to a cashier. In each case, the modal evaluation is shaded.
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TABLE D21: ALTRUISM IN ALCOHOL TO YOUTH VIGNETTE: DISTRIBUTION OF

RATINGS
Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs

18,4 30.0 60.0 10.0 0.0

18,3 25.0 33.3 41.7 0.0

18,2 15.8 57.9 26.3 0.0

Age of youth 18,1 16.7 43.3 36.7 3.3
(years,

months) 17,11 55.9 38.2 5.9 0.0

17,10 28.6 57.1 14.3 0.0

17,9 26.3 63.2 10.5 0.0

17,8 54.6 27.3 18.2 0.0

Second order beliefs

18,4 48.9 33.3 17.8 0.0

18,3 33.3 54.2 12.5 0.0

18,2 29.6 59.3 9.3 19

Age of youth 18,1 32.3 55.4 12.3 0.0
(years,

months) 17,11 61.4 333 5.3 0.0

17,10 54.4 41.3 2.2 2.2

17,9 69.4 27.8 2.8 0.0

17,8 62.5 30.0 7.5 0.0

Notes: Table D21 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
shopkeeper in the Alcohol to Youth vignette volunteering for charity. In each case, the modal evaluation is shaded.
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TABLE D22: TRUSTWORTHINESS IN CASH AT CUSTOMS VIGNETTE:
DISTRIBUTION OF RATINGS

Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs
9,600 0.0 53 63.2 31.6
9,700 0.0 13.0 69.6 17.4
9,800 11.1 111 50.0 27.8
Amount 9,900 0.0 9.1 68.2 22.7
imported
(Euros) 10,100 3.9 385 57.7 0.0
10,200 0.0 35.7 64.3 0.0
10,300 0.0 40.0 50.0 10.0
10,400 0.0 50.0 42.9 7.1
Second order beliefs
9,600 2.0 2.0 77.6 18.4
9,700 0.0 7.9 71.1 21.1
9,800 0.0 6.4 61.7 31.9
Amount 9,900 2.0 12.2 61.2 24.5
imported
(Euros) 10,100 7.7 423 50.0 0.0
10,200 2.2 39.1 54.4 4.4
10,300 9.5 40.5 42.9 7.1
10,400 9.1 40.9 45.5 4.6

Notes: Table D22 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
man in the Cash at customs vignette keeping a promise to a friend. In each case, the modal evaluation is shaded.
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TABLE D23: HONESTY IN CASH AT CUSTOMS VIGNETTE: DISTRIBUTION OF

RATINGS
Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs
9,600 53 26.3 52.6 15.8
9,700 8.7 26.1 52.2 13.0
9,800 5.6 38.9 50.0 5.6
Amount 9,900 9.1 36.4 54.6 0.0
imported
(Euros) 10,100 385 50.0 115 0.0
10,200 28.6 50.0 214 0.0
10,300 40.0 30.0 30.0 0.0
10,400 35.7 50.0 14.3 0.0
Second order beliefs
9,600 12.2 30.6 38.8 184
9,700 13.2 15.8 63.2 79
9,800 12.8 14.9 61.7 10.6
Amount 9,900 10.2 245 53.1 12.2
imported
(Euros) 10,100 40.4 423 135 3.9
10,200 34.8 41.3 19.6 4.4
10,300 50.0 33.3 11.9 4.8
10,400 54.6 31.8 11.4 2.3

Notes: Table D23 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
man in the Cash at customs vignette returning excess change to a cashier. In each case, the modal evaluation is shaded.
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TABLE D24: ALTRUISM IN CASH AT CUSTOMS VIGNETTE: DISTRIBUTION OF

RATINGS
Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs
9,600 15.8 63.2 21.0 0.0
9,700 0.0 65.2 26.1 8.7
9,800 11.1 66.7 22.2 0.0
Amount 9,900 18.2 54.6 27.3 0.0
imported
(Euros) 10,100 34.6 53.9 115 0.0
10,200 50.0 35.7 14.3 0.0
10,300 50.0 40.0 10.0 0.0
10,400 28.6 50.0 14.3 7.1
Second order beliefs
9,600 20.4 63.3 14.3 2.0
9,700 21.1 57.9 18.4 2.6
9,800 14.9 61.7 21.3 2.1
Amount 9,900 12.2 59.2 24.5 4.1
imported
(Euros) 10,100 385 53.9 77 0.0
10,200 435 47.8 8.7 0.0
10,300 42.9 47.6 9.5 0.0
10,400 50.0 40.9 9.1 0.0

Notes: Table D24 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
man in the Cash at customs vignette volunteering for charity. In each case, the modal evaluation is shaded.
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TABLE D25: TRUSTWORTHINESS IN DRINK DRIVING VIGNETTE:
DISTRIBUTION OF RATINGS

Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs
0.076% 0.0 20.0 73.3 6.7
0.077% 0.0 15.8 57.9 26.3
0.078% 0.0 66.7 0.0 33.3
Blood 0.079% 0.0 14.3 67.9 17.9
alcohol
content 0.081% 2.8 333 58.3 5.6
0.082% 0.0 36.8 36.8 26.3
0.083% 14.3 28.6 57.1 0.0
0.084% 4.6 31.8 59.1 4.6
Second order beliefs
0.076% 0.0 9.4 65.6 25.0
0.077% 0.0 7.5 62.5 30.0
0.078% 4.7 18.6 51.2 25.6
Blood 0.079% 0.0 222 59.7 18.1
alcohol
content 0.081% 48 39.7 476 7.9
0.082% 4.0 30.0 60.0 6.0
0.083% 7.9 39.5 36.8 15.8
0.084% 3.0 455 48.5 3.0

Notes: Table D25 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
woman in the Drink driving vignette keeping a promise to a friend. In each case, the modal evaluation is shaded. This analysis
excludes 12 subjects in the first-order beliefs treatment who, due to an experimental glitch, were presented with the word
‘appropriate’ instead of ‘likely’ in one of the possible responses.
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TABLE D26: HONESTY IN DRINK DRIVING VIGNETTE: DISTRIBUTION OF

RATINGS
Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs
0.076% 6.7 20.0 46.7 26.7
0.077% 5.3 15.8 68.4 10.5
0.078% 6.7 13.3 46.7 33.3
Blood 0.079% 36 21.4 57.1 17.9
alcohol
content 0.081% 56 38.9 50.0 5.6
0.082% 10.5 31.6 47.4 10.5
0.083% 28.6 35.7 21.4 143
0.084% 13.6 40.9 36.4 9.1
Second order beliefs
0.076% 7.8 28.1 48.4 15.6
0.077% 2.5 225 57.5 17.5
0.078% 2.3 34.9 53.5 9.3
Blood 0.079% 6.9 31.9 43.1 18.1
alcohol
content 0.081% 127 63.5 22.2 16
0.082% 14.0 46.0 34.0 6.0
0.083% 18.4 42.1 31.6 7.9
0.084% 3.0 57.6 36.4 3.0

Notes: Table D26 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
woman in the Drink driving vignette returning excess change to a cashier. In each case, the modal evaluation is shaded.
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TABLE D27: ALTRUISM IN DRINK DRIVING VIGNETTE: DISTRIBUTION OF

RATINGS
Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs
0.076% 6.7 46.7 46.7 0.0
0.077% 10.5 47.4 31.6 10.5
0.078% 13.3 40.0 40.0 6.7
Blood 0.079% 10.7 35.7 50.0 3.6
alcohol
content 0.081% 16.7 55.6 27.8 0.0
0.082% 26.3 57.9 15.8 0.0
0.083% 35.7 42.9 21.4 0.0
0.084% 27.3 31.8 36.4 4.6
Second order beliefs
0.076% 10.9 59.4 29.7 0.0
0.077% 17.5 50.0 325 0.0
0.078% 11.6 55.8 25.6 7.0
Blood 0.079% 15.3 58.3 26.4 0.0
alcohol
content 0.081% 238 66.7 9.5 0.0
0.082% 18.0 72.0 10.0 0.0
0.083% 34.2 39.5 211 5.3
0.084% 30.3 57.6 12.1 0.0

Notes: Table D27 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
woman in the Drink driving vignette volunteering for charity. In each case, the modal evaluation is shaded.
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TABLE D28: TRUSTWORTHINESS IN SPEEDING VIGNETTE: DISTRIBUTION OF

RATINGS
Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs

66 0.0 0.0 60.0 40.0

67 0.0 0.0 52.6 47.4

68 0.0 0.0 429 57.1

Speed (miles 69 0.0 3.6 46.4 50.0
per hour) 71 0.0 8.7 91.3 0.0
72 0.0 0.0 100.0 0.0

73 0.0 0.0 73.7 26.3

74 0.0 16.7 77.8 5.6

Second order beliefs

66 0.0 0.0 50.0 50.0

67 0.0 0.0 255 74.5

68 0.0 2.6 29.0 68.4

Speed (miles 69 0.0 14 35.6 63.0
per hour) 71 0.0 47 62.5 328
72 0.0 6.5 67.4 26.1

73 2.3 9.3 69.8 18.6

74 2.3 4.6 81.8 114

Notes: Table D28 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
woman in the Speeding vignette keeping a promise to a friend. In each case, the modal evaluation is shaded. This analysis
excludes 30 subjects in the first-order beliefs treatment who, due to an experimental glitch, were presented with the word
‘appropriate’ instead of ‘likely’ in one of the possible responses.
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TABLE D29: HONESTY IN SPEEDING VIGNETTE: DISTRIBUTION OF RATINGS

Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely

First order beliefs

66 0.0 154 30.8 53.9

67 105 5.3 316 52.6

68 0.0 143 28.6 57.1

Speed (miles 69 0.0 10.7 46.4 42.9
per hour) 71 0.0 19.4 77.4 32
72 0.0 25.0 66.7 8.3

73 0.0 316 52.6 15.8

74 0.0 44.4 44.4 111

Second order beliefs

66 18 71 26.8 64.3

67 0.0 2.0 21.6 76.5

68 2.6 5.3 47.4 44.7

Speed (miles 69 2.7 6.9 37.0 53.4
per hour) 71 47 28.1 484 18.8
72 10.9 30.4 50.0 8.7

73 7.0 32.6 53.5 7.0

74 6.8 29.6 59.1 4.6

Notes: Table D29 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
woman in the Speeding vignette returning excess change to a cashier. In each case, the modal evaluation is shaded.
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TABLE D30: ALTRUISM IN SPEEDING VIGNETTE: DISTRIBUTION OF RATINGS

Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely

First order beliefs

66 0.0 7.7 76.9 154
67 0.0 316 47.4 211

68 71 7.1 64.3 21.4

Speed (miles 69 0.0 321 53.6 14.3
per hour) 71 32 61.3 355 0.0
72 8.3 66.7 25.0 0.0

73 5.3 68.4 15.8 105

74 0.0 66.7 27.8 5.6

Second order beliefs

66 18 35.7 411 214
67 2.0 15.7 70.6 11.8

68 0.0 26.3 65.8 7.9

Speed (miles 69 5.5 23.3 61.6 9.6
per hour) 71 78 50.0 406 16
72 8.7 54.4 34.8 2.2

73 116 62.8 25.6 0.0

74 18.2 59.1 22.7 0.0

Notes: Table D30 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
woman in the Speeding vignette volunteering for charity. In each case, the modal evaluation is shaded.
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D.4. “Bad” law experiment

TABLE D31: TRUSTWORTHINESS IN LANDLORD VIGNETTE: DISTRIBUTION OF

RATINGS
Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs

2 2.2 1.1 46.7 40.0

Number of 3 5.7 11.3 453 37.7
incidents

reported 4 2.1 4.2 20.8 72.9

5 1.8 10.9 27.3 60.0

Second order beliefs

2 1.0 4.9 52.4 41.8

Number of 3 0.0 8.9 40.6 50.5
incidents

reported 4 0.0 4.3 29.0 66.7

5 1.0 6.9 21.8 70.3

Notes: Table D31 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
landlord keeping a promise to a friend. In each case, the modal evaluation is shaded.

TABLE D32: HONESTY IN LANDLORD VIGNETTE: DISTRIBUTION OF RATINGS

Very unlikely ‘ Somewhat unlikely Somewhat likely Very likely
First order beliefs

2 13.3 22.2 33.3 31.1

Number of 3 5.7 17.0 56.6 20.8
incidents

reported 4 4.2 6.3 27.1 62.5

5 3.6 16.4 32.7 47.3

Second order beliefs

2 5.8 23.3 40.8 30.1

Number of 3 6.9 22.8 38.6 31.7
incidents

reported 4 0.0 8.6 37.6 53.8

5 3.0 10.9 35.6 50.5

Notes: Table D32 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
landlord returning excess change to a cashier. In each case, the modal evaluation is shaded.
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TABLE D33: ALTRUISM IN LANDLORD VIGNETTE: DISTRIBUTION OF RATINGS

Very unlikely Somewhat unlikely Somewhat likely Very likely

First order beliefs

2 11.1 44.4 40.0 4.4

Number of 3 13.2 30.2 50.9 5.7
incidents

reported 4 6.3 27.1 58.3 8.3

5 9.1 30.9 49.1 10.9

Second order beliefs

2 19.4 47.6 28.2 49

Number of 3 15.8 42.6 32.7 8.9
incidents

reported 4 7.5 32.3 43.0 17.2

5 7.9 27.7 53.5 10.9

Notes: Table D33 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
landlord volunteering for charity. In each case, the modal evaluation is shaded.

TABLE D34: RULE-COMPLIANCE TENDENCY IN LANDLORD VIGNETTE:
DISTRIBUTION OF RATINGS

Very unlikely Somewhat unlikely Somewhat likely Very likely
First order beliefs

2 2.2 17.8 48.9 311

Number of 3 2.0 12.2 36.7 49.0
incidents

reported 4 11.9 6.8 15.3 66.1

5 8.7 13.0 21.7 56.5

Second order beliefs

2 4.08 15.3 35.7 44.9

Number of 3 35 8.7 37.4 50.4
incidents

reported 4 6.5 151 14.0 64.5

5 6.1 11.2 22.5 60.2

Notes: Table D34 displays the percentages of subjects, by treatment, who chose each evaluation regarding the likelihood of the
landlord following rules in general. In each case, the modal evaluation is shaded.
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D.5. Rule of law experiment

TABLE D35: APPROPRIATENESS OF SEX IN AGE OF CONSENT VIGNETTE:
DISTRIBUTION OF RATINGS — CHINA SAMPLE (KRUPKA-WEBER METHOD)

Very socially
inappropriate

Somewhat socially
inappropriate

Somewhat socially
appropriate

Very socially
appropriate

Age of girl
(years,
months)

14,3 24.6 32.8 24.6 18.0
14,1 24.6 40.4 24.6 10.5
13,11 76.6 14.1 9.4 0.0
13,9 81.8 16.7 15 0.0

Notes: Table D35 displays the percentages of subjects, by treatment, who chose each social appropriateness evaluation in the Age
of consent vignette. In each case, the modal evaluation is shaded.

TABLE D36: APPROPRIATENESS OF SALE IN ALCOHOL TO YOUTH VIGNETTE:
DISTRIBUTION OF RATINGS - CHINA SAMPLE (KRUPKA-WEBER METHOD)

Very socially
inappropriate

Somewhat socially
inappropriate

Somewhat socially
appropriate

Very socially
appropriate

Age of youth
(years,
months)

18,3 3.2 46.0 38.1 12.7
18,1 11.7 43.3 317 13.3
17,11 52.2 34.3 7.5 6.0
17,9 62.1 31.0 6.9 0.0

Notes: Table D36 displays the percentages of subjects, by treatment, who chose each social appropriateness evaluation in the
Alcohol to youth vignette. In each case, the modal evaluation is shaded.

TABLE D37: APPROPRIATENESS OF NON-DECLARATION IN CASH AT CUSTOMS
VIGNETTE: DISTRIBUTION OF RATINGS - CHINA SAMPLE (KRUPKA-WEBER

METHOD)

Very socially
inappropriate

Somewhat socially
inappropriate

Somewhat socially
appropriate

Very socially
appropriate

Amount
imported
(USD)

4,700 8.6 10.3 10.3 70.7
4,900 5.0 8.8 17.5 68.8
5,100 35.9 434 17.0 3.8
5,300 36.8 45.6 15.8 1.8

Notes: Table D37 displays the percentages of subjects, by treatment, who chose each social appropriateness evaluation in the
Cash at customs vignette. In each case, the modal evaluation is shaded.

132



TABLE D38: APPROPRIATENESS OF DRIVING IN DRINK DRIVING VIGNETTE:
DISTRIBUTION OF RATINGS — CHINA SAMPLE (KRUPKA-WEBER METHOD)

Very socially
inappropriate

Somewhat socially
inappropriate

Somewhat socially
appropriate

Very socially
appropriate

0.017% 9.6 30.8 40.4 19.2

Blood 0.019% 13.0 46.8 27.3 13.0
alcohol

content 0.021% 40.9 39.4 16.7 3.0

0.023% 49.1 43.4 7.6 0.0

Notes: Table D38 displays the percentages of subjects, by treatment, who chose each social appropriateness evaluation in the
Drink driving vignette. In each case, the modal evaluation is shaded.

TABLE D39: APPROPRIATENESS OF SPEED IN SPEEDING VIGNETTE:
DISTRIBUTION OF RATINGS — CHINA SAMPLE (KRUPKA-WEBER METHOD)

Very socially
inappropriate

Somewhat socially
inappropriate

Somewhat socially
appropriate

Very socially
appropriate

117 4.0 13.3 28.0 54.7

Speed 119 1.9 17.3 34.6 46.2
(kilometers

per hour) 121 24.6 49.2 23.0 3.3

123 233 58.3 15.0 3.3

Notes: Table D39 displays the percentages of subjects, by treatment, who chose each social appropriateness evaluation in the
Speeding vignette. In each case, the modal evaluation is shaded.
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E. Robustness analysis & moderators of the expressive power of

law

Robustness analysis. To further probe the robustness of the results of Section III, we conducted a
placebo analysis where, for each vignette, we tested for the existence of discontinuities at arbitrary
points to the right and to the left of the actual legal threshold. Specifically, for each vignette we

estimated a series of regression models, using the following specification:
s(0;) = a+ (T — 0;) + BoFalseThreshold; + Ps(T — 0;) *x FalseThreshold; + ¢; (a.38)

where s(0;) is subject i’s evaluation of appropriateness of behavior in the vignette describing oppor-
tunity o;, FlalseT'hreshold; is a dummy taking value 1(0) for points to the right(left) of a “placebo”
threshold that is always different from the actual legal threshold, and (7" — o;) measures the distance
between the placebo threshold and o;. Across specifications, we systematically vary the position
of the placebo threshold to span all the feasible values in a vignette’s running variable.'?

In all specifications the coefficient of interest is S5, which captures the difference between the
estimates of the norm function for opportunities to the left and to the right of the placebo threshold,
and thus measures the magnitude of any discontinuity that may occur at these points. We expect
the estimates of 5 in these placebo regressions to be generally small and insignificantly different
from zero, compared to the estimates of 35 in the regressions of the main text where the value of
the threshold differentiates between legal and illegal actions.

We report results in Table E.1. For ease of comparability, in the table we also report the coef-
ficients of the regressions ran with the actual legal threshold dummy that we already reported in
the main text. Across the 60 models we ran with placebo thresholds, in 43 (72%) we do not detect
any significant discontinuity at the placebo threshold. In those cases where we detect significant
discontinuities, coefficients take a positive sign in nearly half (47%) of cases and a negative sign
in the other half of cases. In contrast, the discontinuities we observed at the true legal thresholds
are always significantly negative in all models. Importantly, the placebo discontinuities are al-
ways substantially smaller than the discontinuities at the true legal thresholds. Moreover, while
the discontinuities at the true legal threshold are statistically significant and of similar magnitude
across all three samples, the discontinuities at the placebo thresholds are never consistently signif-
icant across samples. Overall, these patterns suggest that — as expected — the discontinuities at the

placebo thresholds are neither as systematic nor as substantial as those at the true legal threshold.

12Note that for this analysis we need to observe at least two points to the left and right of each placebo threshold.
For this reason, we only run specifications where the position of FlalseT hreshold; leaves at least two points both to
the left and to the right of the threshold. Note also that this implies that we cannot run this analysis for experiments
where we only elicited four points on the running variable (i.e., our 2017 experiments with Sample 1).

134



Table E.1: OLS regressions, Main experiment: Placebo analysis

Age of Consent Sample 2 (ﬁrgirrggl:egefs) (secoi(zil-lzgl)jf bzliefs)
FalseThreshold (Illegal — 2) 0.215 0.122 -0.091
FalseThreshold (Illegal — 1) -0.080 -0.050 -0.318%*
Illegal (real threshold) -0.890*** -0.803*** -0.813%**
FalseThreshold (Illegal + 1) -0.077 -0.222%** -0.214%*
FalseThreshold (Illegal + 2) 0.066 0.119 0.154*
Alcohol to Youth Sample 2 (ﬁrsstj)rrrc;glgel?efs) (secoigﬁgjf bzliefs)
FalseThreshold (Illegal — 2) -0.263 0.315* 0.410**
FalseThreshold (Illegal — 1) -0.324** -0.176 -0.112
Illegal (real threshold) -0.920%** -1.047%** -1.137%**
FalseThreshold (Illegal + 1) -0.105 -0.103 -0.193%*
FalseThreshold (Illegal + 2) 0.313%* 0.185%** -0.008
Cash at Custom Sample 2 (ﬁrsstj)l;filgllfcgcfs) (scco%g-rg'gt}f biliefs)
FalseThreshold (Illegal — 2) 0.487*** 0.074 -0.073
FalseThreshold (Illegal — 1) -0.026 -0.176* -0.310%**
Illegal (real threshold) -0.948*** -0.820%** -0.971%**
FalseThreshold (Illegal + 1) -0.214 -0.200 -0.110
FalseThreshold (Illegal + 2) 0.039 0.001 0.243*
Drink driving Sample 2 (ﬁrsstirrgglgel?efs) (secoigg:gc}re bgliefs)
FalseThreshold (Illegal — 2) -0.105 0.331* 0.078
FalseThreshold (Illegal — 1) 0.081 -0.095 0.116
Illegal (real threshold) -0.522%%* -0.487%** -0.542%**
FalseThreshold (Illegal + 1) -0.112 -0.196 -0.118
FalseThreshold (Illegal + 2) 0.055 -0.156 0.082
Speeding Sample 2 (ﬁrsst-z(l)l;filglt?el?i,efs) (secoigﬁn:gt}f bzliefs)
FalseThreshold (Illegal — 2) 0.122 0.011 0.116
FalseThreshold (Illegal — 1) 0.104 -0.145%* 0.032
Illegal (real threshold) -0.461%** -0.592%** -0.577%**
FalseThreshold (Illegal + 1) -0.192 -0.197* 0.005
FalseThreshold (Illegal + 2) -0.128 0.216 -0.079

Note: Coefficients from regressions run either with the true legal threshold (/llegal dummy) or with placebo dummies
shifting the position of the threshold to the left or to the right of the legal threshold. In the models with Illegal-2,
the variables are re-coded such that we set the threshold in between the points 2 and 3 spaces to the left of the real
legal threshold in the graphs in Figure 1 of the main textI fnd code all actions to right of this as illegal. Models with
Illegal-1 set the placebo threshold between the points 1 and5 2 spaces left of the legal threshold; those with Illegal + 1
and Illegal 4 2 respectively set the placebo thresholds between the points 1 and 2 spaces right, and 2 and 3 spaces
right, of the legal threshold. Regressions with bootstrapped standard errors yield very similar results. Controls (age,
gender, and income) are included in all regressions. *** = 1% significance level; ** = 5% significance level; * = 10%

significance level



Moderators of the expressive power of law. The results of Section IIT have shown that the expres-
sive power of law varies across the five legal threshold situations. In the case of the experiments in
the UK, results suggest the existence of a systematic separation between the age of consent, alcohol
to youth, and cash at customs situations on the one hand, and the drink driving and speeding situa-
tions on the other. This separation does not seem related to the legal nature of the offence described
in the vignette (the UK legal system differentiates between “summary” and “indictable” offences,
but this does not organize the data; for instance, both selling alcohol to minors and speeding are
summary offences), nor does it appear to be positively correlated with the severity of the legal
penalties (for instance, importing undeclared cash at customs is subject to a fine of up to £5,000,
while a drink-driving offence is subject to up to 6 months’ imprisonment, an unlimited fine, and a
driving ban for at least 1 year).

However, the separation could be related to other aspects of the situations that determine the
strength of the signal that illegal behavior sends about the type of person who violates the law,
and which our model identifies as potential moderators of the expressive power of law (see Online
Supplementary Materials A), and which may differ across vignettes. Specifically, these aspects
are: 1) whether illegal behavior can be measured accurately or with a margin of error (which we
refer to as “measurability” below); 2) the level of tolerance adopted by law enforcement towards
law violations (“tolerance”); and 3) the extent to which law violations may be accidental rather
than intentional (“intentionality”’). For instance, we hypothesized that (small) violations of the
speed law may be perceived as subject to possible measurement error and potentially accidental
and tolerated by the police, compared to transgressions of, e.g., the age of consent law. If this is
the case, we would expect that speed law violations may provide a weaker signal about a person’s
type relative to violations of the age of consent law, and, according to our model, this could explain
why speeding laws have a weaker effect on norms compared to age of consent laws.

To probe whether these aspects do moderate the expressive power of law, for Samples 2 and
3 of the main experiment (with the UK general population, using the Krupka-Weber and opinion
matching methods respectively), we included a series of follow-up questions designed to estimate
perceived measurability, tolerance and intentionality for each situation. After participants had com-
pleted the evaluations of the 15 vignettes, we asked them to consider, in random order, five addi-
tional scenarios which were similar to the five legal threshold situations they had already evaluated
except that in all cases the scenarios now described an instance where the behavior was just on
the illegal side of the threshold. In each case, we asked them (in non-incentivized questions) to
report the extent to which they agreed that: 1) the police could accurately measure the legality of
the behavior; 2) if the police were sure the person had broken the law, they would be likely to take
action against them; 3) avoiding breaking the law would have been within the person’s control.

As these beliefs were all recorded on a four-point ordered scale, we transform the answers onto an
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evenly spaced numerical scale, with 1 indicating the highest level of agreement and -1 the lowest.
(Note that we made minor changes to the presentation of these questions after we had collected our
first 35 observations. Details are available next to the relevant screenshots in Online Appendix C.
Excluding these 35 observations makes negligible differences to the results we outline below).

We use the responses to these questions in two ways. First, we check whether there is indeed
variability in the perceptions of measurability, tolerance and intentionality across the five situations
— a necessary condition for these factors to be candidate sources of between-vignette variability in
the expressive power of law. Second, having established this, we check whether the effect of law
on norms differs across subjects who hold different perceptions about each of these factors — which
would indicate that they are indeed mediators of the expressive power of law.

Figure E.1 shows, for each vignette, the mean perceptions of measurability of behavior, toler-
ance and intentionality. Data is pooled from all subjects from all versions of the main experiment
in which we employed these follow-up questions (Samples 2 and 3, N =1,051). We observe clear
differences across vignettes in each of the three factors. Of particular interest are the differences
between the two groups of situations between which we observed differences in the expressive
power of law (speeding and drink-drive on one hand; age of consent, alcohol to youth and cash at
customs on the other).

The significance of cross-vignette differences is tested by the OLS regressions reported in Table
E.2. These contain the numerically-transformed response as the dependent variable, with vignette
dummies along with demographic control variables.

Regarding speeding, as expected, we find that subjects perceive lower accuracy in measuring
behavior, lower likelihood of police intervention, and lower intentionality in breaking the law in
the speeding vignette compared to the three vignettes with stronger expressive power of law (the
differences are all statistically significant at the 1% level).

Regarding drink-driving, the evidence is more mixed. We do find that, compared to violations
of the age of consent and sale of alcohol to minors laws, drink-driving offences are perceived to
be less accurately measurable, less likely to be prosecuted, and less intentional (all significant at
the 1% level). However, when comparing the drink-driving and cash at customs vignettes, we find
drink-driving has significantly lower perceived measurability, but significantly higher perceived
tolerance (both at the 1% level), while the difference in perceived intentionality is insignificant.

In spite of this mixed evidence, this first analysis suggests that any of these three factors can
potentially explain some of the between-vignette variability in the expressive power of law. To
investigate whether they systematically moderate the influence that the law exerts on social norms
in the five situations, we conduct an effect heterogeneity analysis — that is, we examine whether the
magnitude of the discontinuity of the norm functions at the legal threshold varies across subjects

who hold different perceptions of measurability, tolerance and intentionality.
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Figure E.1: Variation in measurability of behavior, police tolerance and intentionality across vi-
gnettes

AoC (=g
AtY = Measurability
C = of behavior
DD [
S =
AoC = . .
AtY = Police take action
C = (tolerance)
DD =
HECST
AoC Behavior within
AtY
C control
DD (intentionality)
S
-0.25 0 0.25 0.5 0.75

Perception of measurability/tolerance/intentionality

MEASURABILITY: 1 = very accurate, -1 = very inaccurate

TOLERANCE: 1 = police very likely to take action, -1 = police very unlikely
to take action

INTENTIONALITY: 1 = behavior completely within control, -1 = behavior
completely out of control

Note: The figure plots the perceived measurability of behavior, police tolerance and intentionality in each vignette.
AoC = Age of Consent; AtY = Alcohol to Youth; C = Cash at Customs; DD = Drink Drive; S = Speeding. Bars are
95% confidence intervals.
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Table E.2: OLS regressions, Differences between vignettes

@ 2 3
Measurability ~ Lack of Tolerance  Intentionality
Age of consent 0.450"* 0.779" 0.129"
g (0.021) (0.024) (0.014)
0.450™" 0.743"" 0.129™*
Alcohol to youth (0.021) (0.023) (0.013)
Cash at customs 0.332"* 0.455™ 0.058™*
(0.022) (0.021) (0.015)
Drink drivin 0.244™" 0.651"" 0.076™
g (0.018) (0.023) (0.014)
Constant 0.210 -0.142™ 0.677°"
(0.037) (0.048) (0.025)
Controls Yes Yes Yes
R? 0.108 0.190 0.053
N. 5,205 5,205 5,205
Linear restriction tests (adjusted p-values)
Drink driving vs Age of consent <0.001 <0.001 <0.001
Drink driving vs Alcohol to youth <0.001 <0.001 <0.001
Drink driving vs Cash at customs <0.001 <0.001 0.200
Cash at customs vs Age of consent <0.001 <0.001 <0.001
Cash at customs vs Alcohol to youth <0.001 <0.001 <0.001
Age of consent vs Alcohol to youth 0.957 0.065 0.997

Note: Dependent variables are the numerically-transformed responses to the questions asking about the degree of
measurability of, (lack of) tolerance towards, and intentionality of illegal behavior. The omitted vignette dummy is
Speeding. Robust standard errors (with clustering at the individual level) in parentheses. Controls (age, gender, and
income) are included in the regressions but not reported in the Table. The p-values from linear restriction tests have been
adjusted using the Benjamini-Hochberg False Discovery Rate method. We have 5,205 instead of 5,255 observations
because we have missing values in some control questions for 10 subjects. *** = 1% significance level; ** = 5%
significance level; * = 10% significance level.
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To do so, for each follow-up question we divide subjects into two categories, depending on
whether or not they expressed the highest possible level of agreement (that is, they said that in
a given vignette behavior was very accurately measurable, police were very likely to take action
against violators, and behavior was completely within the control of the individual). We then es-
timate modified versions of the regression models from Table 2, including dummies capturing a
subject’s category and interacting these with the Illegal dummy. This is done separately for mea-
surability, tolerance and intentionality (each model pools data from all versions of the experiment in
which the follow-up questions were asked). These regressions (reported in Table E.3) test whether
the magnitude of the discontinuities of the norm functions differ between subjects who express the
highest possible level of agreement to the given question and those who do not.

Figure E.2 presents the estimates of the magnitude of these discontinuities in each vignette for
subjects belonging to either group. A number of interesting results emerge from this analysis. First,
in all cases, the effect of the law on norms is larger among subjects who rate the illegal behavior
described in the vignette as highly measurable, very likely to be prosecuted, and completely within
the control of the person.

Second, the significance of these differences varies across the three factors. For police tol-
erance, the differences are significant only in the cash at custom vignette (at the 1% level) and
speeding vignette (at the 10% level). Thus, although perceptions of police tolerance differ widely
across vignettes (see Figure E.1), this factor alone cannot explain the observed differences in ex-
pressive power of the law across situations since it does not necessarily moderate the effect of law
on norms.

In contrast, both measurability and intentionality of behavior are significant moderators of the
effect of the law on norms in all cases except for measurability in the drink-driving vignette and
intentionality in the age of consent vignette. Since we also observe differences in perceptions of
measurability and intentionality of behavior between the speeding vignette and the three vignettes
with relatively strong expressive power of law (see Figure E.1), these two factors can partly ex-
plain the differences in expressive power of law between these situations. In the speeding vignette,
subjects think that small violations of the law are measured more inaccurately and are poorer re-
flections of a person’s intentions than in the other three cases, and this reduces the influence that
the law has on shaping the underlying norm of conduct.

Intentionality may also partially explain why the drink-driving vignette has relatively weak ex-
pressive power of law, since it is lower in this vignette than in the age of consent and alcohol to
youth vignettes, and it significantly moderates the effect of the law on norms in the drink-driving
and alcohol to youth vignettes. Although measurability is perceived to be lower in the drink-driving
vignette than in all three vignettes with relatively strong expressive power of law, it is not a signif-

icant moderator of the effect of the law in the drink-driving vignette (and only is at the 10% level
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Figure E.2: Measurability of behavior, police tolerance and intentionality as mediators of the effect
of legal thresholds on norms

0o ®

w| Tob

-1 o

Magnitude of discontinuity at threshold

L)
-1.2
Age of Consent  Alcohol to Cash Drink-Drive Speeding
Youth
Behavior measured very accurately O Behavior measured not very accurately
Police very likely to take action O Police not very likely to take action
Behavior completely within control A Behavior not completely within control
o——e 1%significance  o-———-o 5% significance * - 10% significance

Note: The figure plots the estimated magnitude of the discontinuity in the norm function at the threshold for each
vignette, disaggregated between subjects who think that: 1) behavior can or cannot be measured very accurately (full
or hollow square), 2) police are or are not very likely to take action upon detection of a crime (full or hollow circle),
3) the individual has or has not complete control of their behavior in the situation (full or hollow triangle). The black
connectors between markers indicate whether the corresponding difference is significant at the 1%, 5% or 10% in the
OLS regressions reported in Table E.3.
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in the alcohol to youth vignette), so the evidence that measurability is an important determinant of
the comparatively mild expressive power of law in the drink-driving vignette is relatively weak.
Overall, this analysis shows that contextual differences in the measurability and intentionality of
behavior can partially explain the differences in the expressive power of laws observed in the main
experiment. These results provide suggestive support for the type-signaling mechanism underlying
our model. In situations where the illegality of behavior is difficult to observe, or may be accidental,
it conveys a weaker signal about the type of person who engages in such behavior, and should

therefore not be expected to impact as strongly on the norms regulating that behavior.
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F. Placebo thresholds experiment, regression results

We formally analyze the results of our placebo thresholds experiment (see Section IV.A of the main

paper) by running the following regression model, separately for each vignette:
s(0;) = a+ Billlegal; + By Placebo; + Bs(T — 0;) + Pa(T — 0;) * Illegal; + B5(P — 0;) * Placebo; + ¢;

where s(0;) is subject i’s evaluation of the appropriateness of taking opportunity o; that was de-

scribed in the vignette the subject was randomly assigned to. The key explanatory variables are:

1. The dummy [llegal; that takes value 1 if subject i evaluated a version of the vignette that

contained illegal behavior, and 0 otherwise;

2. The dummy Placebo; that takes value 1 if subject 7 evaluated a version of the vignette that
contained behavior deemed inappropriate according to the placebo threshold P, and 0 other-

wise;

3. The variable (T — 0;) measuring the distance between the legal threshold 7" and opportunity

0i;
4. The interaction between [llegal; and (T — 0;);

5. The interaction between Placebo; and (P — o;), a variable measuring the distance between

the placebo threshold P and opportunity o;.

The coefficients 3, 54 and G5 can be used to calculate the slope of the relationship between appro-
priateness and the vignette’s running variable (age, blood-alcohol content, etc.) for opportunities
that are, respectively, to the left of the leftmost threshold, between the two thresholds, or to the
right of the rightmost threshold. The coefficients of interest are 3, and 5. The former captures
the discontinuity of the norm at the legal threshold, while the latter captures the discontinuity at the
placebo threshold.

Table F.1 reports the results of OLS regressions run separately for the experiments that used the
Krupka-Weber method (Panel A) and the opinion matching method (Panel B). For the latter, the
analysis focuses on second-order beliefs, since we only measured first-order beliefs using a small
sample of subjects with the purpose of incentivizing second-order beliefs and so we lack power to
perform meaningful statistical analysis. Nevertheless, for completeness, we report regressions of
first-order beliefs in Table F.2. All regressions also include controls for gender, age and income
(not reported in the table).

Starting with (31, the regressions reproduce the results of our main experiment. We observe large

discontinuities at the legal threshold for the age of consent, alcohol to youth and cash at customs
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Table F.1: OLS regressions, Placebo thresholds experiment

(A1) (A2) (A3) (A4) (A5)
Panel A: Age of Alcohol Cash at Drink Speedin
Krupka-Weber consent to youth customs driving p &
Ileaal -0.884™"  -1.297"""  -0.880™" -0.203" -0.547""
9 (0.107) (0.105) (0.103) (0.121) (0.111)
Placebo 0.001 -0.176 -0.219" -0.219 -0.024
(0.045) (0.134) (0.114) (0.135) (0.127)
(T = 0,) -0.026 -0.032 -0.024 -0.037 -0.074™"
L (0.042) (0.038) (0.027) (0.040) (0.025)
(T — 0,) * lllegal 0.023 0.016 0.014 0.049  0.212"
L g (0.043) (0.035) (0.041) (0.042) (0.042)
(P — 0,) * Placebo 0.022 0.007 0.023 0.084 -0.100™"
! (0.014) (0.046) (0.041) (0.051) (0.047)
Constant -0.248" 0.813" 0.615™" 0.466 0.967""
(0.113) (0.336) (0.085) (0.299) (0.084)
Controls Yes Yes Yes Yes Yes
R? 0.507 0.524 0.466 0.243 0.460
N. 653 653 653 653 653
Test Illegal = Placebo, p-value 0.000 0.000 0.000 0918 0.000
(B1) (B2) (B3) (B4) (B5)
Panel B: Age of Alcohol Cash at Drink Speedin
Opinion matching (2" order) consent to youth customs driving P g
lleaal -0.678™"  -1.184™  -0.740™"  -0.485™" -0.612""
g (0.122) (0.098) (0.124) (0.122) (0.100)
Placebo -0.008 -0.202 -0.081  -0.464™"  0.223"
(0.055) (0.123) (0.119) (0.132) (0.110)
(T - o)) 0.032 -0.055 0.016 -0.022 -0.047*
L (0.043) (0.034) (0.029) (0.035) (0.023)
(T — o)) + lllegal -0.010 -0.038 0.035 0.038 0.230™""
L g (0.045) (0.034) (0.044) (0.044) (0.037)
(P 0,) * Placebo -0.035 0.077" -0.054 0.006 -0.125™*
t (0.024) (0.043) (0.046) (0.050) (0.039)
Constant -0.191 0.919™* 0.641™" 0.488" 0.956™""
(0.125) (0.291) (0.104) (0.268) (0.078)
Controls Yes Yes Yes Yes Yes
R? 0.451 0.552 0.472 0.280 0.599
N. 641 641 641 641 641
Test Illegal = Placebo, p-value 0.000 0.000 0.000 0.878 0.026

significance level; * = 10% significance level.
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errors in parentheses. Regressions with bootstrapped standard errors yield very similar results. Controls (age, gender,

and income) are included in the regressions but not reported in the Table. *** = 1% significance level; ** = 5%



vignettes, regardless of the method used to elicit social norms. The size of the discontinuities is
comparable to that measured in the main experiment. We observe generally smaller discontinuities
for the drink driving and speeding vignette, which is also consistent with what is reported in Section
IIT of the main paper. For the drink driving vignette, the discontinuity is only marginally significant
in the experiment that used the Krupka-Weber method (Panel A, model A4)."

Turning to s, in Panel A the coefficient is not statistically different from zero in four out of
five regressions. The only case where we observe a marginally significant discontinuity is in the
cash at customs vignette (model A3). The magnitude of the placebo discontinuity, however, is
significantly smaller than that of the discontinuity at the legal threshold (see linear restriction test
reported in the last row of Panel A, p = 0.000). In fact, the discontinuity at the placebo threshold
is significantly smaller than that at the legal threshold in all cases except the drink driving vignette
where we fail to detect a large discontinuity at both the legal and placebo thresholds.

We find similar results in Panel B where we report regressions run with the data from the opinion
matching experiment. We find no discontinuity at the placebo threshold for the age of consent,
alcohol to youth and cash at customs vignettes. For the speeding vignette (model B5), we find a
small discontinuity that is significant at the 5% level, but in the opposite direction of what we would
have expected (exceeding the placebo limit increases appropriateness). The absolute magnitude of
the placebo discontinuity is significantly smaller than absolute magnitude of the discontinuity at
the legal threshold (linear restriction test, p = 0.026). In the drink driving vignette (model B4),
we observe a significant discontinuity at the placebo threshold that is roughly the same size of the

discontinuity at the legal threshold (linear restriction test, p = 0.878).

3In Panel A, a series of Chow tests find that the 31 coefficients of the age of consent, alcohol to youth and cash at
customs vignettes, 3{omsent, paleohol and geash are significantly larger than the coefficients of the speeding and drink
driving vignettes, BITF—Arive and gPeeding ) p < 0.034). We also find that elcohol is significantly larger than
both B{™*¢"t and 32" (both p < 0.008), and that B¢ "*~9rive i5 sjgnificantly smaller than ;7 ceding (5=0.034). We
find fewer significant differences in Panel B. 8¢/¢°"°l js significantly larger than both B¢k —drive ang gereeding (poth
p < 0.001) as well as larger than both 5{°™¢"* and B{**" (both p < 0.013). None of the other bilateral comparisons
reach statistical significance (all p > 0.265). All reported p-values from Chow tests have been adjusted for multiple
comparisons using the Benjamini-Hochberg FDR procedure.
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Table F.2: OLS regressions, Placebo thresholds experiment (first-order beliefs)

(1) (2) 3 (C)) )
Age of Alcohol Cash at Drink

- . st
Opinion matching (1% order) consent  toyouth  customs driving

Speeding

ek

lleaal -0.714 -1.328™"  -0.893""  -0.421™  -0.507"""
9 (0.160) (0.158) (0.194) (0.187) (0.190)
Placebo -0.045 -0.410™ 0.146 -0.177 -0.038
(0.077) (0.194) (0.214) (0.231) (0.187)
0.011 -0.148™" -0.025 0.114" -0.048
(T -o0)

(0.053)  (0.050)  (0.045)  (0.063)  (0.058)

-0.011 0.010 0.091 0.125°  0.170"
(0.057)  (0.053)  (0.071)  (0.068)  (0.072)

-0.001 0.131™ -0.044 -0.166" -0.071
(0.028) (0.065) (0.077) (0.085) (0.059)

-0.092 1.598""  0.789™" -0.535 0.742™*

(T — o0;) * Illegal

(P — 0;) * Placebo

Constant 0.175)  (0.458)  (0.171)  (0.462)  (0.189)
Controls Yes Yes Yes Yes Yes
R2 0.497 0515 0.430 0.262 0.443
N. 260 260 260 260 260
Test Illegal = Placebo, p-value  0.000 0.000 0.000 0.303 0.047

Note: Dependent variable is the evaluation of appropriateness of the behavior described in a vignette (measured using
first-order beliefs). Robust standard errors in parentheses. Regressions with bootstrapped standard errors yield very
similar results. Controls (age, gender, and income) are included in the regressions but not reported in the Table. *** =
1% significance level; ** = 5% significance level; * = 10% significance level.
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G. Prosocial traits experiment, regression results

We formally analyze the results of our prosocial traits experiment (see Section [V.B of the main pa-
per) by running the following regression model, separately for each vignette and for each prosocial

trait:
s(0;) = a+ (T — o0;) + Bolllegal; + B3(T — o;) x Illegal; + ¢;

where s(0;) is subject i’s evaluation of the likelihood that the person taking opportunity o; is trust-

worthy, honest or altruistic. The key explanatory variables are:

1. The dummy [Illegal; that takes value 1 if subject i evaluated a version of the vignette that

contained illegal behavior, and 0 otherwise;

2. The variable (T — 0;) measuring the distance between the legal threshold 7" and opportunity

0i;
3. The interaction between Illegal; and (T — 0;);

The coefficient of interest is > which captures the discontinuities in the trait perceptions at the legal
threshold. The coefficients 3, and 3 measure the slope of the relationship between trait perception
and the vignette’s running variable (age, blood-alcohol content, etc.), allowing for different slopes
between legal and illegal actions.

Table G.1 reports the results of OLS regressions run separately for each vignette and for each
prosocial trait. The regressions use data on second-order beliefs collected using the opinion match-
ing method, since we measured first-order beliefs using only a small sample of subjects with the
purpose of incentivizing second-order beliefs, and so we lack power to perform meaningful statis-
tical analysis. Nevertheless, for completeness, we report regressions of first-order beliefs in Table
G.2. All regressions also include controls for gender, age and income (not reported in the table).

For trustworthiness (Panel A), we find evidence of significant discontinuities at the legal thresh-
old in all vignettes (p < 0.002), except the drink driving vignette where the discontinuity is smaller
and statistically insignificant (p = 0.130). A series of Chow tests indicate that there are no sig-
nificant differences between the Illegal coefficients of the age of consent, alcohol to youth and
cash at customs vignettes, 355, ggteohol "and Bsash (all p > 0.392), or between the estimates of
Brink=drive g g gspeeding (= ().549).'4 There are instead significant differences between the former
group of coefficients (55, faleohol and Beashy and the latter (5375~ and B57°“""9). Specif-

ically, we find that 33"k =drive ig significantly different from 5¢/°°"! (p = 0.030), and marginally

4All p-values from Chow tests reported in this Appendix are adjusted for multiple comparisons using the
Benjamini-Hochberg FDR procedure, as described in the main text
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different from both 855" and 85" (both p = 0.092). Instead, 357°“" is significantly different
from SBgleorol (p = 0.039), but not from S5 and B52s" (both p > 0.147).

For honesty (Panel B), we observe significant discontinuities at the legal threshold in all vi-
gnettes (p < 0.001). The differences in magnitude between the coefficients in the various vignettes
are directionally similar as those discussed above, but less pronounced. In fact, a series of Chow
tests find no significant differences between the coefficients of the five vignettes in any bilateral
comparison (all p > 0.174).

For altruism (Panel C), we observe generally smaller discontinuities relative to trustworthiness
and honesty. They are statistically significant in the age of consent, alcohol to youth and cash at
customs vignettes (all p < 0.009). The discontinuity is significant at the 5% level for speeding
(p = 0.045) and at the 10% level for drink-driving (p = 0.079). A series of Chow tests find no
significant differences between the coefficients of the five vignettes in any bilateral comparison
(all p > 0.436).

When we compare the size of the discontinuities in trustworthiness, honesty and altruism in
each vignette, we find that the discontinuities in altruism are nearly always smaller than those in
honesty and trustworthiness. A series of Chow tests show that these differences are statistically
significant in the alcohol to youth vignette (honesty vs altruism, p = 0.003; trustworthiness vs
altruism, p = 0.029) and marginally significant in the drink driving vignette (honesty vs altruism, p
=0.057). In the drink driving vignette we also detect a marginally significant difference between

trustworthiness and honesty (p =0.053). None of the other differences reach statistical significance.
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Robustness analysis. To further probe the robustness of our results, we conduct a placebo analysis
where we test for the existence of discontinuities at points to the right or to the left of the actual
legal threshold. Specifically, we estimate a series of regression models separately for each vignette

and each prosocial trait, using the following specification:
s(0;) = a+ (T — 0;) + BoFalseThreshold; + 53(T — 0;) x FalseThreshold; + ¢; (a.39)

where s(0;) is subject i’s evaluation of the likelihood that the person taking opportunity o; is trust-

worthy, honest or altruistic. The key explanatory variables are:

1. FalseThreshold;, a dummy taking value 1(0) for points to the right(left) of a “placebo”
threshold that is always different from the actual legal threshold.

2. (T — o;), measuring the distance between the placebo threshold and o;.
3. The interaction between FalseThreshold; and (T — 0;);

Across specifications, we systematically vary the position of the placebo threshold to span all
the feasible values of each vignette’s running variable.'> The coefficient of interest is 35. We expect
that the estimate of 35 in the placebo regressions is small and insignificantly different from zero.

Table G.3 reports the results for second-order beliefs (results for first-order beliefs are very
similar). For ease of comparability, in the Table we also report the coefficients of the regressions
ran with the actual legal threshold dummy that we already reported in Table G.1.

Across the 60 models with placebo thresholds, in 55 (92%) we do not detect any significant
discontinuity at the placebo threshold. The placebo discontinuities are always smaller than the
discontinuities at the true legal thresholds, substantially so in many cases. Moreover, while the dis-
continuities at the true legal thresholds are statistically significant across all three traits in nearly all
cases, the discontinuities at the placebo thresholds are never consistently significant across traits.
These patterns suggest that the discontinuities at the true legal threshold embody a genuine treat-
ment effect that cannot be reproduced artificially by assigning arbitrary values to the threshold

variable, thus corroborating our interpretation of results.

5Note that for this analysis we need at least two points both to the left and the right of each placebo threshold.
Thus, we only run specifications where the position of FalseT hreshold; leaves at least two points to either side of
the threshold.
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Table G.3: OLS regressions, Prosocial traits experiment (second-order beliefs): Placebo analysis

Age of Consent Trustworthiness Honesty Altruism
FalseThreshold (Illegal — 2) 0.109 0.210 -0.113
FalseThreshold (Illegal — 1) -0.040 -0.014 -0.027
Illegal (real threshold) -0.491*%%* -0.539%** -0.418%**
FalseThreshold (Illegal + 1) -0.147 -0.092 -0.141*
FalseThreshold (Illegal + 2) -0.048 0.014 -0.056
Alcohol to Youth Trustworthiness Honesty Altruism
FalseThreshold (Illegal — 2) -0.027 -0.063 0.011
FalseThreshold (Illegal — 1) -0.130 -0.184 -0.073
Illegal (real threshold) -0.626*** -0.814%** -0.261%**
FalseThreshold (Illegal + 1) 0.055 -0.218 -0.026
FalseThreshold (Illegal + 2) -0.035 -0.109 -0.139
Cash at Custom Trustworthiness Honesty Altruism
FalseThreshold (Illegal — 2) 0.094 0.114 0.136
FalseThreshold (Illegal — 1) -0.197%* -0.077 -0.000
Illegal (real threshold) -0.449%** -0.514%** -0.371%%*
FalseThreshold (Illegal + 1) 0.043 0.010 -0.122
FalseThreshold (Illegal + 2) 0.011 -0.037 0.008
Drink driving Trustworthiness Honesty Altruism
FalseThreshold (Illegal — 2) -0.148 -0.186 0.049
FalseThreshold (Illegal — 1) -0.012 -0.094 -0.123
Illegal (real threshold) -0.151 -0.425%** -0.160%
FalseThreshold (Illegal + 1) 0.081 0.034 0.055
FalseThreshold (Illegal + 2) 0.083 0.034 0.121
Speeding Trustworthiness Honesty Altruism
FalseThreshold (Illegal — 2) -0.081 -0.247%** -0.045
FalseThreshold (Illegal — 1) -0.110 -0.081 -0.069
Illegal (real threshold) -0.237*** -0.375%%* -0.198**
FalseThreshold (Illegal + 1) -0.139%* -0.259%%* -0.065
FalseThreshold (Illegal + 2) -0.129 -0.031 -0.067

Note: Coefficients from regressions run either with the true legal threshold (/llegal dummy) or with placebo dummies
shifting the position of the threshold to the left or to the right of the legal threshold. In the models with Illegal-2,
the variables are re-coded such that we set the threshold in between the points 2 and 3 spaces to the left of the real
legal threshold in the graphs in Figure 1 of the main text, and code all actions to right of this as illegal. Models with
Illegal-1 set the placebo threshold between the points 1 and 2 spaces left of the legal threshold; those with Illegal + 1
and Illegal + 2 respectively set the placebo thresholds b8veen the points 1 and 2 spaces right, and 2 and 3 spaces
right, of the legal threshold. Regressions with bootstrapped standard errors yield very similar results. Controls (age,
gender, and income) are included in all regressions. *** = 1% significance level; ** = 5% significance level; * = 10%

significance level



H. Alternative mechanism: Meta-norm of legal obedience, a for-

mal model

It has been argued that the expressive power of law may originate from the fact that people obey a
meta-norm that prescribes law obedience (or, more generally, rule obedience). We formalize this
idea using a model where individuals are characterized by their concern for following rules. Sup-
pose that, whenever an individual breaks the law, he/she incurs an individual specific psychological
disutility given by 7 > 0, distributed on [Tiin, Tmax| @according to the distribution f.(.) with mean
1-. Individuals also care about being perceived as rule followers: esteem depends on observers’
beliefs about 7, and higher 7 attracts higher esteem. '

The net utility from seizing o and thus generating externality o is

(0:7) t+ S(o,1) = S(0,0) if o < 0 (legal)
u(o;7) =
t —pK 4 S(0,1) — S(0,0) — 7 if o > 0 (illegal)

where ¢, p and K are defined as in the main text, and S(o, a) is the esteem associated with seizing
(a = 1) or leaving (a = 0) opportunity o. Note that since the net utility of seizing a legal opportunity
is independent of 7, in any pure strategy equilibrium either all types seize such opportunities or
all types leave them. We focus on the most natural case, where legal opportunities are seized
by all types in equilibrium. If o is legal, the esteem conferred to the individual upon seizing the
opportunity is therefore simply given by S(o, 1) = i, the prior mean.'”

Consider now an illegal o. The net utility from seizing the opportunity is strictly decreasing in
7. For each o, we can identify the highest value of 7 such that the individual seizes the opportunity.

Denote this as 7,. When interior, 7, satisfies
T, =t —pK — A(T,).
Social esteem is

S(o.1) = { Hrifoso (2.40)
M-(7,)ifo>5

where M~ (7,) = E(7 | 7 < 7).

Proposition H1 The difference in social esteem from seizing a marginally legal and a marginally

16For simplicity, we focus on a version of the model where there are only close observers and where individuals do
not care about prosociality. It is straightforward to show that the results generalize to the case where distant observers
are also present, and to the case where there is an additional individual-specific prosociality parameter in the utility
function (as long as this is uncorrelated to 7).

7This implies that, strictly speaking, S(0,0) is undefined for legal opportunities, since these are always seized in
equilibrium.
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illegal opportunity is
lir%[S(a—e,l) —S(@+e 1)) =p — M (7). (a.41)

Proof In text above.

Note that (provided that 75 < Tax), S(0, 1) exhibits a downward discontinuity at o.

Thus, this result shows that a model where individuals care about rule-following can explain
the results of our main experiment (downward discontinuities in esteem at the legal threshold).
Moreover, this model can also explain the results of our additional experiments about prosocial
traits (Section IV.B). In order to achieve this, we need to assume that, when people report their
beliefs about a person’s trustworthiness (likelihood he/she keeps a promise), honesty (likelihood
he/she returns excess change) and altruism (likelihood he/she volunteers), they are actually using
their beliefs about a person’s rule-following propensity. The assumption may not be unreasonable,
especially for the cases of promise-breaking and honesty, since these are well-established normative
rules and thus breaking promises and being dishonest may be behaviors that signal a person’s rule-
following propensity.

Therefore, with this additional assumption, the data presented in Section III, IV.A, IV.B and
IV.D are also compatible with a model of rule-following. One common feature of the vignettes
used in all these experiments is that we describe situations where there is a law that prohibits taking
opportunities that generate a negative externality o > 0. Consider now the case where there is
instead a “bad” law that prohibits taking opportunities that generate a positive externality equal to
o. Itis easy to see that the predictions of the model of rule-following sketched above are unchanged:
the result that there is a downward discontinuity at the threshold does not depend on whether the
externality imposed by seizing the opportunity is negative or positive.

Consider instead our model of Section 1. The net utility from seizing opportunity o is now
u(0;0) =t + 0o+ S(o,1) — S(0,0). Taking esteem as given, the net utility from seizing the
opportunity is strictly increasing in 6. For each o, we can therefore identify the /owest value of §
such that the individual seizes the opportunity. Denote this as Eo for legal opportunities and as éo
for illegal opportunities. For simplicity, consider the setup where all observers are close observers.

When interior, the equilibrium é\o satisfies'®
t+6,0+A0,)=0. (a.42)
while éo satisties
t+0,0+Al,)—pK = 0. (a.43)

Evaluated at 6, = Eo, the lefthand side of (a.43) becomes —p/K < 0. Restricting attention to

!8Since the externality imposed is positive, an interior §, requires ¢ < 0.
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environments where @ is interior and where monotonicity holds, so that éo decreases in o, we then
have §, < 0,.'° Consequently, M*(6,) < M™(6,). In this case, therefore, the model predicts

that, in the presence of a bad law, esteem features an upward discontinuity at o = 0.?°
lim[S(@—e.1)~S(@+e 1)) = M*(G,) — M*(8,) < 0. (a.44)
E—

Thus, our model of Section I and the alternative model where individuals care about rule-
following can lead to diverging predictions for the case where laws prohibit taking opportunities
that generate positive externalities. The experiment we report in Section I'V.C rests on this intuition.
We describe to subjects a situation where an individual makes a 911 call to prevent an assault. We
estimate the esteem conferred to the individual in the cases where making the 911 call is in violation
or not of an ordinance that restricts the number of calls that can be made to 911 in a given period
without incurring in a penalty (Criminal Activity Nuisance Ordinances).

A model where individuals care about rule-following predicts a downward discontinuity (if at
all) in esteem at the legal threshold in this experiment. Our model of Section I (with only close
observers) predicts instead a positive discontinuity. The extended model with distant observers
makes an ambiguous prediction, as the discontinuity can be both negative or positive, as explained
earlier. Our testing strategy in Section ['V.C therefore allows us rule out the rule-following model if
and only if we observe evidence of positive discontinuities at the legal threshold. The test is instead
uninformative if we observe a negative or zero discontinuity at the threshold (since our model of

Section I can accommodate negative or zero discontinuities t00).?!

This follows since, under monotonicity, t + 6,0 + A(6,) — pK is increasing in 6,,.

201 the case of both close and distant observers, the prediction is ambiguous. This is because, if an individual is
caught seizing an illegal opportunity, he/she incurs a cost (from the material penalty) but also reaps a benefit (from the
enhanced esteem obtained from distant observers). Depending on which effect prevails, the resulting discontinuity can
be upwards or downwards (or zero).

2IBecause there was a risk of an uninformative test result, in the experiment we elicited esteem associated with
being a prosocial type as well as a rule-following type. The logic is as follows: even if we observe a negative/zero
discontinuity at the threshold, if we can find differences in the two forms of esteem we can nevertheless conclude
that inferences about a person’s prosociality are not a simple proxy of the inferences about the person’s rule-following
propensity, and thus we can still defend our interpretation of the results of the main experiment. Because, as discussed
in the main text, we observe positive discontinuities in the perceptions of prosociality, this additional testing strategy
proved not to be necessary.

156



I. “Bad” law experiment, regression results

We formally analyze the results of our bad law experiment (see Section IV.C of the main paper) by
running the following regression model, separately for each of the four traits we elicited (trustwor-

thiness, honesty, altruism, rule compliance):
s(0;) = a+ (T — o0;) + Bolllegal; + B3(T — o;) x Illegal; + ¢;

where s(0;) is subject i’s evaluation of the likelihood that the person taking opportunity o; is trust-

worthy, honest, altruistic or rule compliant. The key explanatory variables are:

1. The dummy /llegal; that takes value 1 if subject ¢ evaluated a version of the vignette that

contained behavior in violation of the CANO ordinance, and 0 otherwise;

2. The variable (T — o;) measuring the distance between the legal threshold 7" and opportunity

05
3. The interaction between [llegal; and (T — 0;);

The coefficient of interest is S which captures the discontinuity in the trait perceptions at the legal
threshold. The coefficients 5; and (53 measure the slope of the relationship between trait perception
and the vignette’s running variable (number of 911 calls within a 30 day period), allowing for
different slopes between legal and illegal actions.

Table 1.1 reports the results of OLS regressions run separately for each trait. The regressions
use data on second-order beliefs collected using the opinion matching method, since we measured
first-order beliefs using only a small sample of subjects with the purpose of incentivizing second-
order beliefs, and so we lack power to perform meaningful statistical analysis. Nevertheless, for
completeness, we report regressions of first-order beliefs in Table .2. All regressions also include
controls for gender, age and income (not reported in the table).

For all three prosocial traits (Models 1, 2 and 3), the sign of 3, is positive, indicating the ex-
istence of upwards discontinuities at the legal threshold. The coefficient is significantly different
from zero for honesty (p = 0.002), while it does not reach statistical significance for trustworthi-
ness (p = 0.227) and altruism (p = 0.159). For rule compliance, the sign of 3, is negative, but
not significantly different from zero (p = 0.733). A series of Chow tests indicate that there is a
significant difference only between the Illegal coefticients for honesty and rule compliance (p =
0.062).?> Similar results obtain for the first-order beliefs regression (Table 1.2), except that there
we find evidence of significant discontinuities at the legal threshold also for trustworthiness (p =
0.010).

22P_values from Chow tests are adjusted for multiple comparisons using the Benjamini-Hochberg FDR procedure,
as described in the main text.
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Table I.1: OLS regressions, Bad law experiment (second-order beliefs)

@ 2 3 Q)
Trustworthiness Honesty Altruism Rule compliance

(T = o)) -0.033 0.016 -0.118 -0.087
¢ (0.059) (0.083) (0.075) (0.075)
lleaal 0.112 0.3617"" 0.174 -0.045
9 (0.092) (0.118) (0.123) (0.131)

(T = 0.) * Illegal 0.026 0.045 0.142 0.078
. 9 (0.083) (0.107) (0.106) (0.117)
Constant 0.615™ 0.336™" 0.289"" 0.448™"
(0.093) (0.123) (0.124) (0.105)

Controls Yes Yes Yes Yes
R? 0.057 0.096 0.114 0.016

N. 398 398 398 404

Note: Dependent variable is the likelihood that a person taking the behavior described in a vignette is trustworthy
(Model 1), honest (Model 2), altruistic (Model 3) and rule compliant (Model 4). Data are based on second-order
beliefs. Robust standard errors in parentheses. Regressions with bootstrapped standard errors yield very similar results.
Controls (age, gender, and income) are included in the regressions but not reported in the Table. *** = 1% significance

level; ** = 5% significance level; * = 10% significance level.

158



Table I.2: OLS regressions, Bad law experiment (first-order beliefs)

@ (2) 3) “
Trustworthiness Honesty Altruism Rule compliance
(T - o) 0.062 -0.069 -0.073 -0.172
! (0.102) (0.124) (0.105) (0.104)
lleaal 0.396™ 0.396™ 0.116 -0.049
9 (0.153) (0.169) (0.158) (0.188)
0.037 0.208 0.123 0.215
(T = 0,)  Illegal (0.138) (0.164) (0.144) (0.172)
Constant 0.179 0.146 0.060 0.4017"
(0.147) (0.154) (0.151) (0.160)
Controls Yes Yes Yes Yes
R? 0.139 0.116 0.031 0.036
N. 201 201 201 199

Note: Dependent variable is the likelihood that a person taking the behavior described in a vignette is trustworthy
(Model 1), honest (Model 2), altruistic (Model 3) and rule compliant (Model 4). Data are based on first-order beliefs.
Robust standard errors in parentheses. Regressions with bootstrapped standard errors yield very similar results. Con-
trols (age, gender, and income) are included in the regressions but not reported in the Table. *** = 1% significance

level; ** = 5% significance level; * = 10% significance level.
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J. Robustness experiment: Weaker rule of law

At the same time as the UK student experiment described in Section II, we also collected data
from a second student sample comprised of 248 Chinese students at the University of Nottingham
Ningbo China. The main interest of this additional experiment was to probe the generalizability
of findings by testing the effects of laws on norms in a very different legislative environment, one
where the rule of law is relatively weak compared to the UK (for instance, according to the 2016
Rule of Law Index of the World Justice Project, the UK ranked 10th out of 113 countries while
China ranked 80th).

Procedures used in the Chinese experiment were similar to those used in the UK student sample
experiment. Instructions were first translated into Chinese and then back-translated in English, as
per usual practice. The Chinese vignettes were further slightly adjusted to reflect cross-country dif-
ferences in the law (although laws regulating the five behavior under study exist in both countries,
the cutoff values of the thresholds differ).”® Incentives were converted using a PPP exchange rate
of £1 = 6.2RMB, and the payment rules were the same as those in the UK students experiment.>*

Figure J.1 shows the norm functions estimated from the responses of the Chinese students. The
figure has the same structure of the previous figures. Table J.1 contains the regression estimates of
this data, using the same models shown in equation (7) of the main paper.

In the Chinese sample, we observe that the law also exerts expressive power on norms, albeit
again the effect is not uniform across the five situations. In contrast to the UK case, in China the
law seems to have its strongest effects on norms in the case of the cash at customs and speeding
vignettes. The effect is weaker for the age of consent and alcohol to youth vignettes, and statistically
insignificant for the drink driving vignette. A series of Chow tests confirm that the law tends to
carry different expressive power in the cash at customs and speeding situations compared to the
other three situations.”

Thus, although there are some differences between the UK and Chinese samples, particularly

in the type of situations characterized by strong effects of the law, which may reflect inherent dif-

23Other aspects of the real-world legal frameworks, regulating the actions featuring in the vignettes, may of course
also have differed between the two countries. For instance, some laws may carry heavier punishments or be more
strongly enforced in one country or the other. Therefore, while we kept all procedural features of the UK and China
experiments as close as possible, our aim is not to conduct a fully controlled cross-cultural comparison of the effect
of law on norms. Rather, we consider identifying the expressive power of laws in each country to be of independent
interest. We can also comment on whether the results are qualitatively similar between the two countries.

24Monetary amounts in the vignettes were also adjusted according to PPP exchange rate (with rounding), except in
the cash at customs vignette where the amounts were dictated by different legal thresholds between the UK and China.
Conversions, subject to rounding, were also made between imperial and metric units, where relevant.

25Specifically, we find that 85%s" and B5P°““"9 are not significantly different from each other (p = 0.233), 825"

is significantly different from the other three coefficients (all p < 0.027), and 3," ceding i significantly different from
3"”Lk_d7'we (p = 0.034). All other comparisons are statistically insignificant. All p-values are corrected using the

Benjamini-Hochberg False Discovery Rate method.
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Figure J.1: Norms in the five legal threshold situations, China sample
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Note: Each panel plots the average social appropriateness of actions at various distance from a legal threshold (1 =
very socially appropriate; -1 = very socially inappropriate). The dashed black line indicates the position of the legal
threshold in each situation (values of the legal thresholds are reported in the bottom-right box). Actions to the left of
the threshold are legal, actions to the right are illegal. Bars are 95% confidence intervals.
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Table J.1: OLS regressions, China sample

1) (2) 3 “) )
Age of Alcohol Cash at Drink Speedin
consent to youth customs driving p &
(T - o) 0.050 0.045 -0.023 0.097" 0.028
' (0.061) (0.049) (0.054) (0.053) (0.050)
lleaal -0.495™" -0.410™ -1.078™* -0.215 -0.751™
9 (0.156) (0.160) (0.158) (0.151) (0.158)
(T = 0,) * Illegal -0.006 0.029 0.044 -0.019 -0.006
% ega (0.069) (0.066) (0.074) (0.069) (0.068)
Constant -0.243" -0.068 0.690"*" -0.161 0.472"*"
(0.132) (0.117) (0.105) (0.108) (0.117)
Controls No No No No No
R? 0.301 0.285 0.468 0.212 0.396
N. 248 248 248 248 248

Note: Dependent variable is the evaluation of appropriateness of the behavior described in a vignette. Robust standard
errors in parentheses. Regressions with bootstrapped standard errors yield very similar results. *** = 1% significance
level; ** = 5% significance level; * = 10% significance level.

ferences in culture as well as in the specifics of the law and law enforcement between the two
countries, the main result that the law can have expressive power, but that this varies across situa-
tions, carries over to the Chinese sample. It is interesting to note that this data was collected in a
very different legislative environment, characterized by markedly weaker rule of law compared to
the UK. This shows that the expressive power of law does not require a strong rule of law to take
hold.
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K. Alternative mechanism: Conformity, a formal model

A simple model of conformity. Consider a setup where individuals derive utility from material
gain and conformity with the most common behavior in their society. Moreover, when asked to
evaluate the appropriateness of seizing/leaving an opportunity, individuals answer by considering
the share of others who seize/leave it. This assumption embodies the idea that the social sanc-
tions/rewards that accrue to an individual are based on what is viewed as “common” or “normal”
behavior.

The net utility from seizing an opportunity o is

)t (G, 1) if o < 0 (legal)
(036) = { t+((2G, — 1) — pK ifo > o (illegal)
where ¢, p and K are defined as in the main text, G, is the share of types who seize opportunity
o, 1 — G, is the share who leave it, and the individual-specific parameter ( > 0 distributed on
[Gmins Cmax] according to f¢(.) with mean y. and median M, characterizes conformity concerns.

Depending on whether G, is above or below 1/2, the net utility from seizing the opportunity is
increasing or decreasing in (. This indicates that there may be multiple equilibria. We now consider
the following equilibrium: (i) all agents seize o < ©0; (ii) when o > 0, the share of agents seizing o
is strictly less than 1. In this equilibrium, the share of individuals seizing an opportunity o exhibits
a downward discontinuity at o = 0.

For (i) to occur, we require £ + ¢ > 0 which is always true so long as (,,;, > —t. Consider now
(i1). For concreteness, we focus on an equilibrium where the share of individuals seizing an illegal
opportunity is minoritarian. This implies that the net utility from seizing the opportunity is strictly
decreasing in (. Denote by ( the highest ¢ who seizes the opportunity. We have: G, = Fg(g ),

where Z satisfies (when interior)
t+ C[2F.(C) — 1] — pK = 0. (a.45)

The equilibrium we have described can arise so long as (a.45) is satisfied for some E < M. In
this equilibrium, the share of types who seize opportunity o is discontinuous at o = 0. Assuming
that the social esteem conferred to the individual for seizing an opportunity depends on the share
of individuals seizing that opportunity, the social norm functions measured in our experiments also
exhibit a downward discontinuity at o = 0.

However, this simple model seems less well-equipped to explain our results of Section IV.B.
There we observe downward discontinuities in the perception of an individual’s trustworthiness,

honesty and altruism. In the model sketched above, we can generate a discontinuity in the expected
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value of ¢ of those who seize legal or illegal opportunities:

ifo<o
E (C | seize 0) = He o .O_O
M=(() ifo>0o
where M~ (¢) = E(C | ¢ < ¢) and fe > M~ (). However, it is not clear why inferences about
an individual’s conformity parameter ¢ should correlate with his/her trustworthiness, honesty and
altruism. Without further assumptions about the relation between ( and these prosocial traits, the

model cannot explain why we observe discontinuities in these traits.

A model of conformity augmented with prosociality. Alternatively, to reconcile the model of
conformity with the data of Section IV.B, we can augment the theory by adding prosociality to
the individual’s utility function. Consider a setup where, as in our main model, individuals are
characterized by different levels of prosociality (they care about the negative externality genereated
by seizing opportunity o). However, suppose that, as in the model of conformism described above,
people also care about conformity with the most common behavior in their society.

The net utility from seizing opportunity o is

o~ ! +C(2G, — 1) — 6o if 0 < o (legal)
u(0;0) = 2
t+((2G,—1)— 6o —pK ifo > o (illegal)

where ¢, p and K are defined as above, 6 € [, Omax, distributed according to f(.), characterizes
prosociality concerns and ¢ > 0 is concern for conformity (which, for simplicity, is assumed to be
the same for all individuals).

Since the net utility from seizing an opportunity is strictly decreasing in ¢, we can identify, for
each o, the highest value of 6 such that the individual seizes the opportunity. When o is legal, the

threshold type 50 satisfies (when interior)
t+C(2F(0,) — 1) — 6,0 = 0.

When o is illegal, the threshold type 50 satisfies (when interior)

t+C(2F(6,) — 1) — B0 — pK = 0
The share of types seizing opportunity o is

F@,)ifo<o
=] Fll)ifoso (a.46)
F(0,)ifo>0

while the expected 6 conditional on seizing opportunity o is
M=(8,)ifo <o
E (0| seize 0) = (~) 1 0=0 (a.47)
M=(0,)ifo>0
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Proposition J1 In equilibrium, we have

-~ ~

liL%[Gﬁ—a - G5+a] = F( 5) - F(Qﬁ) (2148)
and
Lm[E (6 | seize o — ) — E (0| seize o+ £)] = M~ (65) — M~ (65). (a.49)

e—0
Proof In text above.
It is easy to see that if 55 > 55, then both G, and F (0 | seize o) experience a downward disconti-
nuity at o = 0.2

In this augmented model, we can produce a discontinuity both in the share of people who seize
opportunity o at the legal threshold (which we are assuming characterizes judgments of social ap-
propriateness) and in the expected prosociality of those who seize legal and illegal opportunities.
This model can therefore explain all data from our experiments.

However, the model also generates counterintuitive implications. To see this, consider a very
simple example where § may only take two values: § = 0 and # = 1. The share of type 6 is
m > 1/2. For concreteness, consider an illegal opportunity o > 0. It is straightforward to see
that, if o + pK — ( > t > ( + pK, then in equilibrium the following must apply: type 6 seizes
the opportunity, while type 0 leaves it.”” Given 7 > 1/2, and since the social appropriateness
associated with a given behavior depends on the share of individuals who adopt that behavior, this
implies that seizing the illegal opportunity is considered more socially appropriate than leaving it.
At the same time, however, everyone understands that individuals who leave the illegal opportunity
are more prosocial than those who seize it. This corresponds to a situation where (mis)behavior is
widespread, yet everyone understands that only “bad” types engage in it — and nevertheless people
condone it and consider it socially appropriate, therefore rewarding with esteem the “bad” types
and punishing with stigma the “good” types.

The reason for this implausible prediction is that in this model of conformity the social appro-
priateness of seizing an opportunity is conceptually distinct from the prosociality of the individuals
who seize it. In our model of Section I the two concepts are instead interconnected and we have
a synchronicity between judgments of social appropriateness of taking an opportunity, frequency

with which that behavior occurs, and expectations of prosociality of those who engage in it.*®

26The sufficient condition for this to be the case is 2 f(6) < © < t/Omi,. The first inequality ensures that ¢ +
C(2F(0) — 1) — 0o — pK is strictly decreasing in @ so that, provided that 9} > Omin, We have 55 > 55. The second
inequality ensures that @\5 > Onin.

2"When these conditions hold, the net utility from seizing the opportunity, ¢ + ((2G, — 1) — fo — pK, is always
positive for type @ and is always negative for type 6.

280ne may tweak the model of conformity and assume that judgments of social appropriateness are based on both
the frequency of behavior (G,) and the perceived prosociality of types engaging in it (E (6 | seize 0)). But then this
alternative model becomes very similar to our model of Section I, with an added component that captures a conformity
motive.
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